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Topic:- Child Development & Pedagogy (CDP)

1) According to John Dewey, __ must be experienced by the children in school to

make them better citizens. I'GI'FI'?:'&\'% IR, aihaﬁéaa?thﬁaqﬁ%ﬁm
ICEIGPE BT SFHT BT ST AT

1. Rules / FIIH

2. Discipline / 3{RITHT
3. Experimental awareness / YIRS SRREahT

4. Democracy / NIGZGES

Correct Answer :-

« Democracy / SICSE]

2) Find the correct sequence of stages of child development. / oo o srawTsl &1 8t

H Td SIfegl

1. Infancy, Childhood, Adolescence, Adulthood /RIRIATTRT , STIa ], %Qﬁ'{la@ﬂ, EFIET‘“
2. Adulthood, Adolescence, Childhood, Infancy /Higdl, fHRIRTERIT, STATaRT, LETGRIT
3. Infancy, Adolescence, Childhood, Adulthood @Qﬁmﬁ, mﬂ, Sl TdRIT, L?l({:dl
4, Childhood, Adolescence, Infancy, Adulthood /dTcHIdRT, ﬁﬂﬁ?ﬁ?"-ﬂ, Wﬂ, EhET‘IT

Correct Answer :-

. Infancy, Childhood, Adolescence, Adulthood /RTTATTRT, STEITGRIT, fHNRTIRT, Tigar

3) is major environmental risk factor for poor child development / TRId Ckg

Rems Rt yq@ qaaeoig Sifed oRS ¢
1. Diarrhea / ST
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2. HIV / T{1Sal
3. Chickenpox / EECD

4, Diabetes Mellitus / 'Fl‘éfelg

Correct Answer :-

. HIV /TT3Msdt

4) Curative measures of juvenile delinquents are . PR sruRTelht & STERTHS
U™ gl

1. maintaining strict discipline / IR SR FHIT W
2. rehabilitation and correction programmes / Qﬂ’dﬁ 3R JUR HHHH
3. isolated treatments / Jh JUTR

4. rigorous punishments / IR 3

Correct Answer :-

« rehabilitation and correction programmes / ‘-:Fﬁﬁ 3R YR o

5) Which theory encourages private speech, and self-regulation? / aﬁq-mﬁamﬁd’t
UTYOT 3R STH-Fraw= & Piefed var 32

1. Jerome Bruner / SR EGAS

2. Jean Piaget / S oot

3. Hattie / §¢l

4. Lev Vygotsky / NEEIEUIRE]

Correct Answer :-

« Lev Vygotsky / GEEIEUIRIE

6) Which of the following is not an aspect of emotional intelligence? / FrgfIRaa & @ 19
YTTATHS Gl T F1 TP Uge el 82

1. Expression / 3ff¥aafad

2. Assessment / HedlchT
3. Change / gRadH

4, Regulation / =

Correct Answer :-
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+ Change/ aRadd

7) The order in which language is acquired is: / dg sPH foraw v sifsta ﬂﬁ'ﬁ'l?ﬁ%
1. Speaking, Hearing, Reading, Writing / Y=, 4dUl, UoH, GECE|

2. Hearing, Speaking, Writing, Reading / #dUl, ®YH, a'@?, Tod

3. Writing, Reading, Hearing, Speaking / @l@:f, TS, HdUl, hyU

4. Hearing, Speaking, Reading, Writing / %dUl, %Y, Ua+, A&+

Correct Answer :-

. Hearing, Speaking, Reading, Writing / %dUT, %Y, U&, @

8) The type of education wherein students of disadvantaged groups are taught along with the

normal students is called: / ATHT-T BTAI & ATY-TTY dfrd TAHGI & BT DI &t S qTeit
fRrai 1 UpR fre Hgarar 8

1. Inclusive Education / FHTAS fR1ef
2. Exclusive Education / 37 f21&f1

3. Special Education / TRy fRren

4, Integrated Education / Qﬁﬁ fRrem

Correct Answer :-

» Inclusive Education / FHTILT ﬁ'!T&H

9) The state of being left out of the mainstream system of services is called

/ Qa13ff B TSI TOITeH | qTER Ve B awIT B ST ST gl
1. Inclusion / 3{dd<H

2. Universalization / JTdHEHR0T

3. Existentialism / &g

4, Marginalization / iR

Correct Answer :-

« Marginalization / i

10) A sculptor needs intelligence to be successful. / T Eﬁ?ﬁ DIAPATH B
ferg gfe @ smaza@ar gidl ol
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1. Musical / GTiId (RIfSTehen)

2. Spatial / 1w @@'ﬂﬁ)

3. Interpersonal / TRERD (EETW)
4. Linguistic / T Heelt (‘Fﬁﬁé@

Correct Answer :-

« Spatial / RS @'@"‘-WD

11) What skills involve the small muscles of the body and hand-eye co-ordination? /

B I F IRR R FTY-3iFE wH=ag 3 I wiafRat afdfemd g g2
1. Fine motor skills / ST R HILIA

2. Fine movement skills / 3cp¥ Ty B

3. Gross motor skills / J&HE R HIVA

4. Body-kinesthetic skills / TRiRe- Tfadad) gfa

Correct Answer :-

« Fine motor skills / Jp ¥ ﬁlEQ dﬂal-*{lci

12) What is the first sounds of meaningless speech that a baby makes called? / 39 3refga

HTYOT BT UG Caf PT T HEd & o8 T HaT 82
1. Babbling / dS&SIgC

2. Telegraphic speech / coliuTithds HIwur

3. Crying / RG]

4. Syntax / dIeR] — foam

Correct Answer :-

« Babbling / dSdSlec

13) What principle is being used when a negative stimulus is removed from the environment

in order to ensure that a behavior persists? xﬁ?ﬂﬁmmmmwvﬂﬁm%m
afaRor & feft ToRIES SEITH B 8T ST €; U8 GHd o1 ¥ R fr #1s
AER T18?

1. Positive punishment / HPY[HD qUS

2. Positive reinforcement / THRIHD YIaicl

3. Negative punishment / TPRIHP US
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4, Negative reinforcement / TP RIHD Eﬁéﬁ:{

Correct Answer :-

» Negative reinforcement / TR RIHD ‘;_J;'IGTC‘I"I

14) What was the neutral stimulus in Ivan Pavlov’s famous experiment on classical
conditioning? / [TEATT SIS (FATIE T DS I+1T) U S UTTAIG & TR TR &
qew RN ((gd i) o A

1. Salivation / AITHAdU]
2. Food / HISH

3. Bell / ¢l
4. Dog / Pl

Correct Answer :-

« Bell /dcl

15) In reasoning the association begins with a problem and ends with a Vx|

THIRTRM U3 AT A YREEIaT 8 IR TS & |1 HAT gt 5
1. Dream / &dG{
2. Problem / HHYT

3. Solution / JHIETH
4, Image / Bfa

Correct Answer :-

« Solution / JHTYTT

16) In relation to the development of intelligence, the results of twin studies indicate that: /

s & AP F Ty &, Joar sreau=il & uRumd $Rd 34 €

1. Both genetic and environmental factors are important./ Wﬂaﬁfﬁ 3R TRV S} PR
GEEEUE]

2. Neither genetic nor environmental factors are important./ - al Hﬂaﬁﬁ 3R 7 g} ararerviig
HRS HEgaqUl g

3. Environmental factors are more important than genetic factors./ GW BHRD| B dei-l e

qIATERNT RS 31 Heayul §1
4. Genetic factors are more important than environmental factors. / TR DHRDI Pt GIEL )

3ARIE HRE D Teaqu & |
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Correct Answer :-

« Both genetic and environmental factors are important./ GI'IﬂEI'IfQIEF 3R ARV S} PREB
e €|

17) How has Pavlov’s theory on classical conditioning influenced the research on behavior

management in schools today? / IR ST (FATRIB B I TR UIGelld &
Riegia A adur & faearadl ¥ aragR yeus W Y™ &1 oy yer yuifad fear g2

1. Teachers remain composed, keep things in perspective and get back to the main task of teaching.

%ﬁwmaﬂﬁ%ﬁﬂﬁaﬁﬁﬁfﬁawﬁﬁ&uﬁwﬁ%aﬁ?ﬁrw%ﬂ@aﬂﬁwwm

|

2. Teachers notice every little thing going on in the classroom. / fR1&/% B Hel H 81 61 81 BICk-
IS! STl R A &1 1T

3. Teachers have clear lesson goals and make proper use of group work./ fRrefent & UM WY TS
&I Bl © 3R g BT T I SUAIT R &

4, Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / R1&/® GRT 9] B STRED Bl
AT b 3reT TaER T 8 3R ST foT icaTe &1 A1feT | e gRT TSRS TIER
&) galcTied B & forg 48 Hi &1 =il

Correct Answer :-

+ Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / R1&/® GRT 9] B STRE® HRAT

ieU & 3T SUagR T8 3R 59P forw Uicrg= 1 =1feu | & gRT TR IdeR
P! BdldIed B & 1o a8 Ui g1 =eu|

18) Children typically feel emotions related to fear when they have: / T THAR W ST A

HTIT HTaTSH BT T B & ofd S8 [-1+1 Bl o:
1. Bi-polar disorder / ST5-UTeR fSH3fiax

2. ADHD / USITTS!

3. Autism / fifesq

4. Anxiety disorder / feidT (GeTTgeY) fEqaiiar

Correct Answer :-

+ Anxiety disorder / fefam (QGHE_CD[ ) fEqairer

19) Childhood becomes a central factor for the behavior as adults, according to

approach. / _____ T®IUI & IR, 90| & ¥U § IdER & fIU 909 TP HET
PR 9 a1 g
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1. Sociocultural / FHTS Hipich
2. Humanistic / HTgdrarct

3. Psychoanalytic / TAIfdeyor
4. Behavioral / ETIEE'Iﬁ_Cﬁ

Correct Answer :-

+ Psychoanalytic / T ROT

20) Some children are able to process more when information is presented visually. This

refers to their ./ P T 3fte ufthar &3 # W& Bld & o1 e R! #a Fu d
TR B STl 81 98 S, ot deffa prar gl

1. Preferences / HTUfH@ TS

2, Ideas / ToARY

3. Interests / el

4. Learning styles / 3{fTH Qiferal

Correct Answer :-

- Learning styles / 3ffTH QAferal

21) Who is the central focus for an individual to get guidance in school? / fagITerg |

ARTGRH Ut S & fore forslt safea &1 g7 s &ea wiew) g W g afea?
1. Friends/ Il

2. Parents/ HTI-OdT

3. Neighbors/ U@ﬂ%ﬁ:ﬁ

4, Oneself / T4

Correct Answer :-

« Oneself/ W4

22) Who proposed the Bobo doll experiment? / STaT &A1 WA foa yarfaa fowam 42

1. Bandura / ﬁ’U@
2. Erikson / 'Qﬁ?FH:[
3. Pavlov / UIdalld

4. Vygotsky / AT Icd ]
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Correct Answer :-

 Bandura/ E\I{U@

23) Who believed that teachers should teach by appealing to students’ natural instincts to

investigate & create? / Y AT T fp e gR1 S &1 =My A7 =1 § udtor s
& ford 39! wipfas ugfiy SURAT Infee?

1. Jean Piaget/ ST foTet
2. Jean Lave/ S @1

3. John Flarell/ 519 thd
4, John Dewey/ EI| Eﬁ

Correct Answer :-

« John Dewey/ Gfﬁf;"{g

24) In Maslow’s Hierarchy of Needs the top level need is known as: / ARGl &
STaRgHar ey H, 2 Srawut Y saxgddr Y A T U H ST ST 8

1. Efficiency needs / G&dT STaRTHdl (3B RIAY! 1gH)
2. Growth needs / fd&T™ a=gesdl (1Y Aigw)

3. Important needs / TEYUl STa=dehd (FHICC A1gY)
4. Deficiency needs / g1 SRRl mﬁ'\‘ﬂ :ﬁ@

Correct Answer :-

. Growth needs / fa® saxgamdr @y -tga)

25) How do parents assist in gender stereotyping? / ATa1-fUdT, ﬁﬂm sk or )
HETIT B &2

1. Childhood peer groups are segregated along gender lines. / ddU- %Wmﬂ?ﬂﬁl aﬁ%ﬂm
& feuma ¥ sram far Sar g1

2. Schools emphasize different academic subjects for male and female students. / ¥R ¢, Y 3R

wigar sl & forg fAfter Qaiftres fovai kR 2a |1

3. Parents place their children in gender-specific schools. / HTT-fOdT 31U+ =i & fofr-fafdne
Wl § A gl

4, Parents force children to follow traditional gender roles. / Hid1-Oar =231 & URuie foiT
YIPRT3N BT SITHRUI PR & RIU T PR B

Correct Answer :-
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« Parents force children to follow traditional gender roles. / AH1a1-fUar §=1 &1 URURe foft
YfPepTaf BT SR R P ol F1ed el € |

26) Who proposed the concept of a language acquisition device, found universally in all

children? / T} Tt ¥ A4 U § Uit 9= arelt |t Sri= wfaft (A efefore
f&arsw) ot surn fram wega @2

1. Jean Piaget / ST foarst
2. B.F. Skinner / §.Ut.R&pR

3. E.L. Thorndike / §. Ud1. YT SIS®H
4. Noam Chomsky / A Tt

Correct Answer :-

« Noam Chomsky / AT A

27) What is the term used to describe the gradual stopping of the relationship between a conditioned

stimulus and a conditioned response? l\?rl'ﬂﬁ'f\ﬂ?faﬁ'qa? AR Glﬂﬂﬁﬁ'f Glﬂﬁv_q'la'?"cﬂ?[ﬂa’ﬂ & Hiu®
389 &1 quiH H3A & e frw <1eg o1 3uai fosar s 82

1. Reinforcement schedule KHFFST?FI Gﬂﬂ:tﬁ

2. Punishment / 8
3. Shaping / FHSUUIRIfU)
4, Extinction / ﬁ?‘ﬁq

Correct Answer :-

« Extinction / ﬁ@'q

28) The most important characteristic in differentiating a child with a special need is: /

P A2 axgedr aTel a=d B 3T HeA arell ad Heayul fa=ivdr 8:

1. Face problem in completing his homework / fS/8 S-N:IT"]_G'W (EHa®) q\?raﬂfrﬁwrﬂ
SHAT Al Hedl %l

2. Has abilities different from an average child / foraept &HT Gﬁﬂaaﬁﬁ@ﬁﬁﬁal
3. Has poor relationships with peers / maswfﬁtﬁammwma%l

4. Does not perform well in academics / TheH H 33T TR T8 Bl 2|

Correct Answer :-

« Has abilities different from an average child /%Nﬂ'ﬁ &HT Gﬁﬂﬁat_nﬁ'@ﬁ-ﬁ@?ﬁ%l
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29) The rules of presenting the contents to make them easy are called:

| AT} BT AT §9H & T wRgd e & el &) weT e §:
1. Method of teaching / fRreror ot fafer

2. Teaching strategies / fRreror JurRfoRt

3. Maxims of teaching / TRI&0T & RSl

4, Techniques of teaching / fRrero7 B dapeiich

Correct Answer :-

« Maxims of teaching / TRI&0T & el

30) The term cerebral Palsy was introduced and popularized by . | e UHiRTSs SRTET
AR Y gR1 uRfad SR S g i

1. Gardner / MeR

2. Piaget / o

3. Dr. William John Little / 31, faferad oI fetfea
4. Sir William Osler / TR faferas afiaer

Correct Answer :-

« Sir William Osler / T faferag 3nger

Topic:- General Hindi (L1GH)

1) 38 & HA T,

g gl as,

T U7 O i,

AT |, AT A, 9T A4,
sif¥ray arf¥ray oyl
T ¥y FHl,

T AT i,

A gST B,

X YUY, FI YUY, FI Y,
iy ey ey
Ig HEH TW ¢,

¥ Y61 AW &,
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Y TWE T |,

TYTY TYTY TYTY,

3Ry SRy Sy

S Ui Y Ugep A9 U T YT P I} a1yl
UH: U U7 Big o |1 7o’ 59 ufey &1 3=y = 82
1. 370 Y BIS

2. TN IR T Td B

3. G ¢ o5 T Heg B RIS B |

4, {4l & UH Y WIHR -T6] ST A11eU|

Correct Answer :-

. 5 o vy WieR 78! S Tfeu|

2) & T WA TS,
I E TS,

T UF Big W,

WA W, W1 W, WAT e,
Sif¥ray oy sy

T yFm Ht,

T Y &,
qagsm A,

FX Y, T AT, FY I9Y,
sy sty siffray|

TE HEH T,

TA I{TATA 8,

3% TG T ¥,

TYTY TUTY FYTY,
ifiray arffray aifdrayi
SUYT U B UgHR 19 YD 7Y W= $T I} 913l
WRH: Hid IR-TR TAT 7T Bl §, ‘B AU, B AU, H YL
1. HHeddg o o forg

2. 70 A P ALl

3.9 Y3 - aId b

4, TTfdp SMTEHI Jhr 7 WY
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Correct Answer :-

. Jhedes 81 & fag

DY MUY, HY YUY, HY RUY,

Sy Sy Sy

Ig W T,

ECEGRE 2 h

Y g ¥ F,

AATY TUTY AYTY,

sy siffray gy

ST TR F1 U@ A1 Y& ¢ U= BT IR aa15¢l
WRH: %A g1 3R R arat sufad &1 g &d f5e 2l A 9eT3er 82
1. Sudad qeft

2. Had AT A

3. Had B TY

4, Bad TYY

Correct Answer :-

. Iqded gt

4) U HATS,

s gias,

TP UA Big W,

| 9, A1 0, WA A,
gy 3if¥ray gy
qF uFm PR,
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g yam o,

CER:SHIE

X MY, B XY, B JTY,

Sif¥ray gy iy

U5 WEH T e,

TAF/I AT B,

31y TG ¥ 9,

TYIY TYTY AYTY,

31ty ey ifdrayi

ST U= B UgH I Y ¢ W= &I I«} da1st|
U= 39 Hifdar § TR-9R Tgad Jeg <3ay w32
1.39

2. Ul

3.9¢

4. PR

Correct Answer :-

B YUY, HY MUY, HX WTY,
gy oy gy

T HEH T,
ECEGEE h

31y ¥ ¥ 4,

YUY AUYY FYIY,

gy aif¥ray sifray|
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SUY UL DI g A1d Y T WA BT I@R aaise|
WR: 39 P PT TAUTT T 87

1. ITGad Gt wr@

2. FI TG! b B R & W Ig T3P, T IS

3. Pad I8! for Bie aR H o AT s @

4. Fac g} fob cufdk WA-u Q5 & a1 W 7e <8

Correct Answer :-

. 0 gt UG

Sif¥ray oy siffray

A yFm e,

T YA,

qagem e,

Y MUY, B ATY, BT TY,

iy siffray aifdray|

g WeH T e,

EERGIRE CES

Y TG ¥ 4,

TAYUY TYTY GYTY,

3y ifiray sy

UL TR BT UG -1 U ¢ U= BT Ik a1zl
W=A: S HiTA & U & T Sifeh 3t avE 9¢ T8 T B Bl A AT BRI 82
1. B YUY, B IY

2. T AT

3. A AT HH

4, A oo @t

Correct Answer :-

o A YT Bl
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7) TA T W Ts,

I TS,

TP U= Big W,

AT T, W7 0, WA 94,
siffray srffray siffray|

T yFm A,

T Y,
qaAgsm A,

HY MY, T Y, FY WY,
sif¥ray eif¥ray sy

TG HTH TR,
EERGEE

31y W T 4,

TATY TUTY GUTY,

ity Srf¥ray sifdrayi
SUUT U $l UGHY A I T U= FT I& a1zl
T ST HRTe P SR d3a1 U AT B Bia A b I A quuy 182
1, Jugad gt

2. Pad HY

3. el Tk

4. Had WG

Correct Answer :-

- Iuggd gt
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Y XYY, BY UY, B ATY,

Sif¥ray sif¥ray aiffray)

qE HEH T,

TA T AT ¢,

3y TG ¥ 9,

AYTY AYTY TYYY,

gy oy sy

U UL F1 UG - I T W= $T I&R aargul
U SiaT # oid Bid 9wy 3irar § T frasst wien gkt @2
1. 3T A FHE T

2. frt ot =7t

3. fpdtug &t

4. ot sfda ot

Correct Answer :-

. ol sufe &1

9) &l WA TS,

T TS,

T 77 Big I,

| T, 91T 7, W A4,

Sif¥ray 3oy siffry|

T P P,

T Y @ad,

CER: SR

B MUY, P Y, F 7Y,

Sif¥ray oy sy

TG A T3,

ECRGEE A

3¢ TG Yo 9,

AYUY TYYY TYTY,

Sif¥ray oy sy

UG U B UgHR A YD Y U BT IR 9Tl
WR: TR o9 St & B3 ER | o Al I FIT HI1 A2

Page- 16



1. BT &l AT MM

2. YT BI 7RE R gu1 a1 A1

3. frdlt ¥ e @ TER 8T R TR SR 3UH I W dgd I8 AUl
4, TGETRI $I Selid AT A1

Correct Answer :-

. 5l @ vee F1 ER TS HRA FfRT SR ST I IR Fed X1 J1u|
10) F& & WA WS,

EERGEE

& T Big o,

| T, BT W, WA,

Sif¥ray 3oy sy

T yPm e,

T yAm S,

Tagsm L,

H XYY, B WTY, B 7qUY,

gy Sif¥ray siffay |

I8 HeH T ¢,

ECEEEE

Y TG IH 9,

TYTY TYTY AU,

Sif¥ray Srf¥ray siffray|

IUYE TR &1 Ugdh A1 I T U= $T @k aa1ze|
we: fpeft ager &t o i SR Srueht wivre o g aedt 82
1. S 91 & Heg

2. T SORIGT

3. fooll 1 HgrIa

4, =31 WY

Correct Answer :-

. TG TN

11) & YA T,
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slEA gl as,

% T Big o,

HIT W, W7 W, W7 e,

gy Sif¥ray gy

T ydm P,

T YA S,

GRS

B IUY, B IY, B 7qUY,

3ifiray iy ifdrayi

Ug U TR,

ECEEEE i

31y %G T4 9,

YUY TYUY YUY,

sy arf¥ray gy

ST U= DI UG A1 T ¢ U= BT IR a1ge|
W= g B U WS, B A, 7Y 93, A BfY 31w fohw o 72
1. 93 3R 99 gegy

2. HGd & U= SR

3. MUd » IS US

4. TGl 3R G5 TRl

Correct Answer :-

. SIfGTRITeH 3R TS an
12) F& &l ya WS,

S E g TS,

7% T Big o,

| Wd, /T W, /AT,
gy gy gy

T yFm Y,

Ty B,
FAGSHW,

R YUY, B MUY, F YUY,
Sif¥ray eif¥ray siffray|
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g HEH T T,

EREGEE LR

3y ¥ T 9,

AYTY TYTY TYTY,

Sif¥ray sif¥ray gy

SUYTH U B UgH 1 TR T ¥ BT S G5
U g7 gam H, 7T g3 s Ffa 7 wear g2
1. 98 i gear gl 76l

2. YR T e uRfRufadl 3 78 sxar gl

3. AT 1 e 99 el B

4. 98 JUETY YHT Ea1 § |

Correct Answer :-

. TR 7S BT uRfRfaa & 76t szar g
13) J& &l Wa s,

TS,

TS T Big W,

AT a, | 9a, W,

ffiray 3oy aifdrayi

T YT H,

A A,

A gem R,

B MY, B AT, B ATY,

¥y siffray sy

U5 W T T,

TS QIATH

319 ¥ ¥R 9,

TYUY TYTY GYTY,

sif¥ray Siffray siffray|

Sude U P UgHR 1 YD ¢ UL P I&R a5l
U= g9 grm s B A e w1 32
1. Ble-BIC T[Ed P

2. 30 e &t
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3. Y& &g faar
4. AT oM B

Correct Anéwer -

o ST SMTCH B

14) J& & WA WS,

S g,

& T B W,

AT T, W1 94, WA 7,

SRy ity siffay|

A ypm el

A g o,

A gSM PR,

T Y, B ATY, B ATY,
firay oy aifdrayi

U5 WEH T B,

EERGEE

Y TG ¥ 4,

TATY TYTY GYTY,

iy siffgy sifdrayi

IUdE T P UgHR A YD ¢ YA BT I« ad18¢|
WSH: “UE UG T4 & B8 X 14 1 b %0 &Y UgH Hel 87
1. 30 Y BIS T4

2. A BT Y A ST ]

3. G2 &t o Higs Tt ®

4, BT IR U 37U AT B SERR 1 B

Correct Answer :-

o HIGTIE  3U Hid P SRR 1 B

15) 9& 8 YA @e,
e e,
% U= Big W,
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Sif¥ray 3oy sy

T ybm B,

T YA oo,

A gemHL,

B YUY, HY MUY, B TY,

Sif¥ray aif¥ray siffay|

95 W T S,

e YET HIH &,

3y g ¥ 4,

YUY TUYY TYIY,

Sif¥ray oy sy

SUYEH TR P UgH H1 IR T U PT IR a3yl
WX B 7 <3 v fFud e e v fear 82
1. For IR H s ot B

2. TTH I PIS TaT

3. g & HIE R B

4, U P Gy B

Correct Answer :-

. SigT P BETIR B

16) 7§ 89 WA &, TOTd Yud 31 T § IR $T Y g1t 8, g | AW 9 il 8| g §91 A1 q@E? 6
TG § - T RRR T T T2 T Y6 IR W & A2 56 79 GGl TR 3791, 4G AB | &{4T, &S,
Terarar, oo | T @, Tt w2 7 & WAl S FrarseT, gaT B FeeinT, Hie-ud, U-ust - $S 7 ge g
! NE - IS Y BT HIHAT 3T T1g UR ge UST 872 g Su=ieh, I Suwisi, g Susnsi A Sid o @
&, 90 QWIS W %% ¥ - N F w1 Fany g - ) sar § Rafeal @ w1 31 TR @ snawawar A
aRe ghal $f $8 $iA F ST Y9 8, gaT 39T g1 fhg, 918 S 9k a1 uSieR @ - A 9% Uy iR
Ad # T SR? WG $I AT TR Tl ! AT A T9 T 9d 391 IR DI STaRgHare W
RIS gRiat o aXeite of | T8t T8, 91d SuPt YW Wia-@ia o Yot 0t aa i 3uet ¢/ gare wR &t o
ST 9y ST e, S Iu@t SIufEr g @ SEa o 9ot § fa-ge 8 i) ugefl 1 aRew,
W B 98 I el g3, ITD! W BT T1G1 21d 3T ITH W17 B F418 qRET | Hoe 4R & g oe 98
3Tt 79 H UAAR FT UG TG Fd W IST 7 387 Y, 79 IUP BU-89 H 3T 91 UHT, TR SIS ! S F
9 Ardl g1 g1 18, axit W g

A T HTAI-YW WReT g2 AT, 79 Tg Swodierd g1 Rk gafere =8 for ora Ye-yen &t wfaur gem & 59
ggferaa frerh, afew ag srve-fAuiR garm, Sur & enfermr |, I [ 1 34: 3M: u@ﬁﬁs‘lﬁmﬁﬂwﬁﬁ
foronl &, gt IR a0-90 SR de-ae IS A T H 99 qiqd SHS 99 379 U FiY &7

PP Bl 98 TH— 61 §olTI 3% Ted-aiy 3 ITP I-AR & 711 So+ & g @R fpa, wﬂﬂuﬁaﬂﬂ?
maﬁﬂhﬁﬂﬁﬂ“@ﬁﬁ%ﬂﬁmsW-Wﬁﬂzmmﬂ%%,mmwaﬁ?mWWWI
U3 B T SHBT Ue MY AHH IR @1 § 51 g1 o fa a5 S o @st gar, a9 A Sua
e IR faor F1 Hivon 11 A FT srazaear 39 8, g IuP At 78 § 1F W Ay ura A 3
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IUY e TR B Ugdh 19 YD ¢ U $I I} aaisy|

URH: YRR B STaAH A1 A (6 9 B Hgl DI § ST 3@ 82
1. g0

2. FI U

3. AR gl

4. U IT

Correct Answer :-

. TR R

17) g g9 @A §, 7019 Yud &1 TP A IRR 31 g & B, g | 99 9 gl 2 1 A 971 91 qee? gH
HIT TG § - T IRR AT J& THE? T Y IR W o ATH? d AT Gl U= 7T, T AB | &{4T, &8,
g, Rygren | = @, T@1 e w6 & = @1 s, gaif o gy, $ie-ud, ug-uah - $o T ge Uy
3! g - IS Y BT HTHET TS 15 W gT UST 32 NG Suoned, Iy Susiai, g Susnsi A &id o 38
%, a1 S W1 %@ ¥ - A F e Fany e - ) srar § Rrafeal & et 31 R 3t enazagar A
AR i B Bl I | ST YT 8, 34T YRa g1 g, T8 Fan @R a1 uydiaw @ - I 9% uy] 3R
ArG § F7 3@R? WG DI AT AT Telld A AMG A4 99 911 ofd 391 IRR D STazqHars T
ARy gl @) et 1 ad) T8, e U Y@ ia-wia B 78 0 qq ff St it qare R &t o
ST UYH i o, 99 Iuat A i @ SEa o gt # f-ge w6 f ) el o ARy,
WY € 98 Ju el g3, ITD| @I T 191 21d 3T ITB| W B1 G418 qRel | HOw 4R & o oid a8
STt AT F UAAR $T 44 TSR Fd R IST A7 Y87 Y1, 79 I0D SU-BY H 6 9T IR, TR BIS ! T H
I+ ardt g 7Y aArE, axht oft e

A BT BTA-YW TRl g3 50T, 79 I I=vard gan Rk gufen 78t i o te-gen o afiur Jem o 39
foratt, afew a7 srFia-faiz gonm, S &t arfer 9, 37a GRo &1 *1: ¥4: mﬁﬁaﬁﬂﬂiﬁﬁ

ﬁﬂvﬁﬁ,qﬂwaﬂwaﬂ%a&raam#wﬂwmmwmﬁmw

PP 1 I8 U 8l g1l I Hied-aly A IHS T4-AR $I 719 384 & g e fasan, ﬁmﬂm

ed &1 1t gerergedt S & o fRam wra-3dR A U &1 = R B, geU &1 HuR ok afEie &1 99l S|

U3t B avE IUDT Ue R AFE FHHIGR 3@T ¥ 81 81 R 39 a5 e a9ew TsT gan, 79 A 9%

Y I faorg Y givon o1 | T 3t saRaddr 39 8, fhg Sue! e 3 8 g W e wra @A a1

IUY e TR B Ugdh 119 U ¢ R $T Ik aarsu|
WRH: UTa 59 Gt UR {141 ot &7 Ah STan?

1. g

2. 91

3. 91gt

4. g

Correct Answer :-

18) g &9 @I §, Y9 Yud &1 TP | IRR 31 IR 81 3, g & 99 I gl 31 A 997 a1 o g9
T T84 § - T IRK T 0 A2 T Y IR UR IO A2 Sd WIT Gt U ST, 4 AHR | &8, &I,
forara, o1 s @, 7 e of & =1 @ e, gal B gegiRT, Sle-ud, uxuelt - $9 T ge une
IR NE - TS| YT BT HIHET TS T W ge TsT 82 AF Suesh, A Suenan, ﬁﬁmeﬁrﬂmaﬁﬁmﬁ
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&, 901 IS o1 %@ ¥ - A & ) R o - w8 e § Reafeat & w61 31 ¥R S srazasar 2
RIS gl & Bl HiF H STa YT &, gaT YT ¢ | fihg, I8 Fen W a1 usTe W - A 99 Uy ik
UG ® 1 3AR? WEa $1 AFG 911 [Ad A 719G A9 99 97 o/d 391 IRK BT ATagadmarei o
AR giral 1 avsiig &f | T8 Tt o SUP! Y Wia-@id T 4 79 W IHet sid Tarrg ux & off
Iu@T wyy Sid Frear, S Iuat siufar 1 @ SEa o gewt # fa-ge w8 ) ugel 1 ares,
WIER § 98 T 181 g3l IT] Wel BT T7191 31 3R I791 W17 Bt 71§ gl | 7ol URA & R e a8
ST 19 # TR BT U TR ol W 38T o7 ¥8T 4T, 9 SUP BU-8Y § 397 1 TR, TRA Bie ' 59
I @131 61 781 a1g, axit ot eS|

1A BT BIA-YO Wl g2 §oT, 79 g Iwaiia g Rk gaferg =8 i o de-gon ot afawr gem & s
wgferaa e, afew a8 smeie-FulR gan, Sur &t anfer |, ST R &t 7A: ¥A: 8pfed gRare g
o |, gt IR TH-a9 $Rd AE-a TP J! T A OF dIed IHS a9 SAH Ul BV BT ARY
PP 81 98 TH ol g3lTl I Hired-a1¢ A IHF TH-AR DI 719 o+ & e aruR fFar, ssugu 3 sud
g &1 ot geugdt T # 1 A wre-iR A e &1 RIF A 8, 79 BT SR SR AfRes &1 99 SR
uge F avE IHST U SR WA WHHEIR a1 | T8 ¢ 1 O i a8 Wi aae wer gan, #ew A Sud
e W fasra ot giyon @1 1 91 srazgsdr 39 3, fhg St Awer @ § 1F W e urd s

ST TR Bl UG 1 YD T YA $T S&R Fd15¢|
U<H: Ad $I A4 fhe- a9/

RGIE |

RINICE |

3.8 A

4, YT A

Correct Answer :-

19) g 9 WIA &, [T Y 81 TH | IR BT I Bl 8, ¥R | W9 T gl 3| A 997 a1 qaa? 59
FTARA R - e IR AT e HIFH? T J6e IR TR 0 W2 F9 AIa Gl U ST, 3 PR | e, e,
frara, a1 s @Te, @ e | & el B AEeT, gail B IR, Fle-ud, ugueh - $% 7 ge u
IR NE - TP YT BT SIHET TS T W ge TST 82 AR STeien, A Suenan, A Suwnai ASH S of 7
§ 9N SWIe W1 T2 © - Vg & fg 1 A9RT T - 48 sar § Rrafear o w61 21 IR #Y sraxadar A
ARG giral B Bl BiH # STd TR §, gaT TRaT ¢ | by, 18w WX 97 UHTh] WY - g a Uy 3R
UG ® 947 SiaR? HIFG B AEG G911 A A AEG #9999 a7 g 391 IR B razaddrsit W)
AT il B areitg &Y ag) T, 5d U Y& Tia-\iq B 381 N qq 1t St i g uw At o
IusT 9y Sid Fear, S Iuat sifufaal 1 @ SEa o geat § fa-ge W@ &) uggel 1 ares,
WIHR B T8 T 81 g, ITH! WA BT §-191 21d 3N IS W T T1S Gl | ASet R & fo oa 98
3T AT § TAdR $T UW TP o YR IST 7 ¥8T U7, 99 39 BU-80 A 391 I1d U1, R IS 199 T
G- Ardl g g1 918, axit o g

A $T HTAI-Y Wl g1 §IIT, 79 g Iwaiid g Rk gafere =8t i o9 de-gen ot affiur gem & 33
gferaa e, afew a8 smeie-fAviR gon, Sur &t anferan |, ST TR &t *A: T1: Tepfed gRare g
oo &, gudt IR 90T SR ae-a DU A T ¥ O 9gd SHS 99 S°d U HiY BT AR
PP &1 98 U 81 g3l 3% Tlad-a1y 3 IHF A-AR B 714 Io & g areR fFan, s=uqu a3 39&
Teu @1 Wt gedt T ° o fEan Ae-sdR # U 31 RIE 19 8, 76U B SR 3R AT B e HuR|
uxeH B avE IHST YT IR WA WHHER @1 | T8 ¢ 1 O i 98 Wi e wet gan, 9w A Sud
e W faera ot giwon #1 AiF 3 sragsd 39 @, fhg Iuet Awer @ § 1F W e wre s 3

UG TR B UgHR -i1d IR T U= BT SR qa1gy|
U=H: 3(U A9 H f6IST U TSR Ad ST T ST U2
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1. UaR &1
2. AR &1

3. HYR P
4, fafsai &1

Correct Answer :-

o JddR &l

20) Vg 50 W &, TAT9 Had 31 T & IRR 31 g gl B, g & 9199 9 gl 2| 315 991 a1 [ g9
HT MR - T IRK AT T A2 TP IRR TR I A2 TF A Gt UR T, Y AT &, &,
ferara, faran | s @, Far g 9 & Wl ot s, gai B FeT, Bie-udt, ug-ual - $O 7 ge Uy
3! T - IUS Y& BT HIHaT TS g W ge UST 22 Ag Iusnad, AF Susnal, 1F Susneh AgH ia I @
&, 9 SR W %2 € - 9 ¥ v dan qaw - ¥ war § Rafral @ w61 1 R Bt smazamar A
e gl B HEl A F ST Y91 §, 59T 9T ¢ g, 918 e W a1 UsTey W - g a9 uy) ok
G & T 3?2 A &I AT G911 A6 A AT A9G 79 971 9 S IR B Sazaamdrei W
AR gftrl B avsile & | 981 81, 9Ta SUS| Y@ Wia-@id B ol A a9 i Swe! site ene uw < o
IS 9yw T e, S Suat Siufat I @ S o gewt # fi-ge 8 A ugel F1 aReR,
WP & 98 T el §HT, ITP! WIe BT q7141 31 3R I AT Y 718 Rl | Uoell ARA & RiQ oa a8
3N 719 A TAR BT U TR ol U IST ST T8T YT, 96 I8P DU-3U H I a7 U7, TR SIS 1 aig
I a3t g1 7Y 7rg, axit ot IS

A BT HTA-YW Wl g2 §oIT, 79 g8 Swarid gl Rk gafere =8t i o te-gen ot afur e d 53
wgforaa firerhl, afee ag sr-e-faviv gorm, IuT &1 anfermT |, 39T GRS &1 XH: XM: Yepied giAar ggal
forvon &, guft IR a0 SR Ae-ae DU Jt A H 9T died SHS a9 39H U FiY FT SR
B 51 98 T 181 galT| ITah Aad-a1H | IHP F1-AR I 719 361 & g araR e, ssuqu A s9e
gag &1 W gyt & $ faam wre-siiR & U 1 M A 7, 590 1 SR 3R uiiTed 1 39 S|
TS T AT IHST YT IR A AR @1 # A g1 O i a8 Wi aae wst gan, A | 3ud
e R I oY viyon 91 A 9 ey 39 8, fbg Suet et € @ A W ey wrw s 3

ST TR PI UG 19 YD Y U PI SR Iy
W=H: Tig & e o7 oild i1 73 @ SR IS ST e 87
1. TTH Y PIS T8I

2. Tifq SR TR

3, I SR foret

4, ¥ 3R A

Correct Answer :-

. Td AR T

21) I 80 WA 8, Ta19 Yud &1 Th T IRR 31 g g1l &, gk | UMW 9w giar 21 71§ 981 1 Jara? gq
HIT A § - 6 IRR T T T2 TP IR W & AE? 516 AT GGl TR 79T, YT AB | &{4T, &S,
Torar, o | R @Te, T e |7 & e 31 FEieT, 9ai S FheiRT, Sie-ud, uR-uel - $© 9 ge U
I R - ISP YT BT HIHAT 3T g UR g UST 872 g Suish, I Susisi, g Sussi A Sid o @
T, a1 IR o 3B ¥ - A & Riw1 TR one - wd sar & Rrafeal & w1 1 w8k A srazawar A
RIS g B Bl FIH H ST 39T €, a1 IRa ¢ g, I F=n @R a1 udTew @I - T 99 Uy 3R
G ® |7 SAR? WG &I AT a1 AT 7! A9 799 99 9971 o/d 391 IRIR &) ragaadrsit W
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AR ghial @1 avsite & | a8t Tol, 9id SHS! YW@ Wid-@id o et Ao da Wi IHST SR Jeara ux <t Af|
ST UYH Tid Frwar, S Iut SIAfEr g @ SEd ok 9ot § f-ge w6 | uggef o aRex,
WIHT § T8 oI el 3T, AP WA BT T1G71 B 3R IAP! HIT Bt 7918 qRET | Toet ARA & g g ag
3 AT H TR BT UG TR ol UR 38T & T8T YT, 99 IHP DU-BY A 3T 1 U1, R Bre ! S o
39 ardt g1 7l ag, asft oft s

A BT HTA-W TReT g¥ 30T, 79 g Isoarid gan Rk gafee et i o te-gen «f iyt Jem o 38
wgferaa frerh, afee ag srve-fawiz gem, Sur &) anfermr |/, ITa TS & ’1: I1: Tped giaare gge
foron &, gudt UR aw-TH SR de-aa SN A T H 99 digd SHS a9 3°d AU HiY FT AR
PP B I€ T 7ol golTI I Aiad-aiY 3 I T-AR $I 714 o+ & g arar o, gsuqua susd
Ted &1 4t gerergdt S & ¥ fRam AR A U &1 wr R B, geu &1 HuR R afEi &1 99l FuR|
UR3it B avE IUDT Ue 3R AFE THHIGR Y@T § A8 81 R 34 a8 Wid a9ew TeT gan, 7w A 3%
Y R faorg ) givon @11 A $ azaedr 39 g, fhg Sue! A 3 8 g W e ww @A @

IUY TR Bt UgHR 1 U 7T YR BT I&iX 9aisu|
WH: TIg 89 W4 8, [T BT 0 FT Hd 82

1. Y g

2. FEA B

3. W E

4, TSd B

Correct Answer :-
. A EI

22) T g0 WA &, Ta19 Yua 1 TH & IR 31 g St B, g | 919 9 grar 21 3 a1 a1 qare g9
HT TG § - T IRR AT J& A2 T Y IRR TR o ATH? d AT Gl TR 74T, T AB | &{4T, &8,
g, Rygren ) war &g, Ta1 fAg? w1 & w0 o Frater, gai S Fegivg, $ie-udT, ug-uah - $o Tge Uy
3! 715 - IS YW@ BT HTHET TS 1 W gE UST 32 A Suoned, g Susiai, g Sussi A &id o 38
%, 91 IS W1 W@ © - AR & ) FART T - v sarh # Rrafdar @ w1 31 38R Y sravaean A
AR i B Bl I | ST Y9G &, a1 IRa1 g1 g, T8 T O a1 udie @I - T 9% uy] 3R
UG & 7 SaR? WG $I A9 S911 AT 7! A9 79 99 9971 o/d 391 IRR 3 mazas st W
TRy gl @ aveite G ad) T, e U Y@ ia-aia w78 N aq ot It it qare w & off
BT UYH T Frdan, S IuST AT g & SEd R gt § Ta-ge w6t f ) ugef $f ARy,
WY E 98 G 7ol g3, ITD! W BT 191 21d X T W1 P T918 qRel | How! 4R & [ oid 98
STt TG F UAAR $T 4E TS Fd W IST 7 5T YT, 79 I9P SU-BY H 6 T IR, TR SIS ! 9 &
I ardt g 7Y s, 9t oft e

A DT HTAI-YW TRl g3 T, 79 g I=varid gan Rk gafee &t i o te-gen o afiur Jem o 39
agferad firerh, afee ag sree-faviz gem, Sur ! arfermT |, ST TR & }1: XH: Tepied giRare ggat
for &, gudt IR aw-TH SR WE-ae SIS A ST H 99 digd SHS 99 39d AU HiY FT AR
FIP 1 98 U 8l giT1 I Hied-ale A IHP TH-0R $I 719 35 & R arR fFan, s=uqu A 39d
ged &1 4t gerergedt S & o foam wra-aiR A O &1 =i R B, e &1 U ok afEie &1 99l S|
it B e ITDT Ue MR T TR v | A5t 8| B 7 ag e awes @st gon, aew A s9d
Ye R faorg & givon &1 | A Bt aaddr 39 g, fhg Sue! e 3 8 g W e v A @

IUY e TR B Ugdh 19 T ¢ R $I Ik qarsy|

URH: TP & IRR BT T gha1 8 SR gk A T 61 3971 31 82
1. Sl 3R 7Y

2. Gt 3R Tt
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3.9 iR g
4. ¥ SR s

Correct Answer :-

- I SR

23) 1§ &0 @ 8, TaTe Hod ¥ 1 T & IR o g St R, g & e g gran 81 Vg a1 a1 e 79
FT AT & - P& IRR AT Jo THH? T Y IR R G AH? 59 7 YLl U= 37T, 4 AB | &4, &I,
forara, fagrm | = @Te, T fUwe A7 % WA S e, gai @) Fesi, Fie-udT, ug-ueh - $9 9 ge e
3! TE - IS YW BT HTHWT T 15 W T UST 82 AR Syonah, g Iusiai, 7 Iusnsi A & o 38
&, 9 S W1 3R § - g & Rw1 39RT Tane -y sar @ Rrafeat 3 w81 21 WR A enaxadr A
AFRI® iR B Bl B H ST YT &, a1 YRaT 7| g, 918 = @R a1 uysTaR W - A 9@ uy] 3R
U ® 7 SfaR? WG &I UG G911 A A A9 U9 99 9971 919 391 IRR 1 raggsdrsii W
AR gimat Bt Reite &Y | T8 T, 519 SHS Y Wia-@ia B 6t At aa Wi STt o e wR &t o
ST UYH Wi e, S Iuat SIAfar i o SEa ok gaat § da-ge w6 H1 ugelf o arRaw,
WIS T8 T 181 GO, STH! Tl BT T141 it 3R I791 Hi Y 9718 gt | 7ot a4 & Rig wa a8
SOt 19 W UAaR BT U TR o U ST T X7 YT, 99 SUP BU-BY A IHA aTd TR, TRM SIS ! i
I ATt & 6N IS, =t oft =S

1| BT STAI-I URaT G- g1, 79 I Iwoaiid gol Rk guferg 78t 6 org Te-gom &) afiyur Jeq # 32
wgferaa farentt, afew a8 omeie-fAWiR gom, ST i anfermT &, 37 [ &t X4: T4: yepied gHardl gt
fovun |, gl UR TH-TW Hd A&-TE IS F! AT W §F g1ad SHS a9 30 AUH HIY HT R
FIP 1 I8 T T8l §iTI I Tiad-ale A SHS TH-AR $I 71 35+ & 1T aR fFan, s=equ 7 3ue
ged &1 1t gererght S & S feam ara-3R A O o1 =i ) 8, TeT BT U 3R afRie o1 99d S|
uaff ¥t aRE IUST YT 3R I wHHEiR Y@ A A8 71 o e 9z W aae wet gen, W A 99
YT R faora ot givon ot | A Bt Tazasmr 39 g, fihg Sus! ater 6t § g W 9o urw oA Bt

ST TR Bt UgHR 14 IS Y U= &1 S«IX aarsg |
ULH: I SHP BIHAT A DI SHEd R 9ot & N-ge 8 N ot a1 fAean
1. URE™

2. 3TEN
3. JUYH Ffig

4, JIHT1

Correct Answer :-

24) g BN WA 8, a9 Gud 81 & & TRK &1 U gt 8, g & 99 g gian ¢ | g 991 a1 Jara? gH
FTARAR - e IR AT el HIFH? T Joe IR UR o W2 F AITa Gl U ST, 3 PR | e, e,
forar, a1 s @Te, T e | & w6l B e, e B g, Ple-ud, ug-ueh - $% 7 ge U
IR NE - TP YT BT HTHET TS T W g UST 82 AF Suwieh, A Suenan, A Suwnai A i of 7
§ 9N SWe W1 T2 € - N & FIg1 A9RT Yo - 48 A # Rrafear o 61 21 IR B sraxadar A
AR i Bt Bl B H ST 9T 8, 3T IR §1 g, TR T WY AT UsTaR WY - 1 9@ Uy 3R
HEa § 1 3aR? WEd ®f AFG 9191 A9 ! AIFG JFg a9 47 o/d 391 IRK BT ATaadmdarsi o
HRTE gl o1 aRoite ol | 981 181, 914 SUS| Y@ Wia-@id & ol 4 a9 Hi Sue! s ena uv <ot o |
IuST gyy Sid Fear, S Iuat sififaar 1 @ SEa o geat § fa-ge W@ &) ugel 1 ares,
W] € 98 T TE1 §3T, ITH WTel BT G191 Bt 3R IT1 HMT B 97E qRE} | woell ARA & e o/ 78
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39t 919 # UadR &1 UG TH o WX IST A7 ¥8T YT, 99 SUP BU-0Y # 391 o1 U1, TRE B9 ' g9 ¥
I @3t g1 781 TS, axit ot IS

A &1 HTA-YW Wl g¥ T, 79 g Iwoaryd gen Rk gafee =8t i e te-gen o) afur gem & o3
Tgferad firerh, af®e ag SnFe-AYiR gam, IuT &1 e |/, 37T T3 B }M: M: UHpied gAare ggat
foron &, gudt IR 0T SR ae-ae SNIHN At T H OF q91ed SHS a9 S U FiY FT AR
HD ©1 96 TH o1 golT| S HIvGd-a1Y = IS AF-AIX B 719 S+ b [o1g AaR fobaT, gy 3 sHa
g &1 ot gugdt I & I f3am we-IdR # e &1 ' A 8, 794 BT SR SR Afied &1 Jad SR
U3 P ARG IST YT IR A WHHETR Y@ A 81 81 o fem 9z W aae wet gen, W A 39
Ue R faora 3t givon 3t A o sraxgear S 8, fhg Iuet et 3w R I8 W fawa ura s 3

IR TR Bt UgHR 1 U 7T YA BT I&R JaTsy |

WH: 5T IS 3T T[are uR i <ft a0 STt Y@ war we vt A2
1. S0 A HIE T

2. Jgfera At

3. X0id dt

4, Eiq-@rq

Correct Answer :-

w w

ERCICRCIE)

25) g g0 W ¢, Ta19 Jaa 31 U | IR 31 g gt B, g & 99 9 gran 21 A a1 a1 A g9
TR 8 - I IRR AT T A2 TP IRR TR I A2 TF A Gt UR T, Y3 AT &, &,
fRrara, o1 s @, 7 e 97 & =1 @ e, gan B gee, Se-ud, uxudht - 39 7 ge g
3! 7 - IS YW FT HTHAT TS g W g€ UST 82 AR Suonah, g Susisi, g Iusnsit = i o 3@
&, 90 S o %@ ¥ - F ¥ gl Funr g - ¥ s § Rafeal @ w1 31 TR Bt smazawar A
RIS giral F B8 Fi § ST Y9G 8, g9 YT ¢ 1 fhg, 918 T @ 91 Ui W - T 99 Uy SR
AE | T $aR? WG DI WG TR [T A A AFG 79 991 o9 SEA IR I ATazdqdaran W
i gival Bt areite 8 38 18T, o S@T Y@ Wia-@ia $ e At qa oft ST S are uR &t o
IS wyw I e, S Suat Siufat O @ SEa R gewt # fa-ge w6 A ugel 1 AR,
WIS 61 I8 T T8I 53T, ITD! WIE BT T191 St X I3 G BT 9978 qRo1 | Tod! AR & Ry wa a5
3O 19 A TR BT U SR ol U 38T ST ¥8T YT, 96 39 9U-8Y § I a7 U1, TRA SIS 1 aig o
IuA ardt g Tt s, axit ot e

A &1 HIA-YW Wl g¥ 31T, 7d g Swarid gon Rk gafeg =18t i e te-gen ot afiur gem 4 o
ggferad e, afep a8 He-AHIR germ, SuT & arferr §, STd G3s &1 XM IM: Uepied gHare ggal
o 9, 72t IR IH-99 FRA A&-8 TN J! A F 9T IIed IHS a9 34 U FiY FT AR
B 51 98 T 181 golT| ITah AFed-a1Y 3 IHP F1-AR B 719 361 & g arar e, ssequ A s9e
g &1 ot sugdt T 7 3 fdam we-3R # e &1 R AW €, 79U &1 W SR AfRed 1 Jad SR
URSH B AT IHST YT IR A WHHR 61 # T8 g1 R i a8 Wi e wst gan, A A 3u9d
e R faera #) Giyon A i 1 snavged 39 2, g Sus) Feer @ € 1E = e wrw s A

SUYE TR B UG 14 YD MY U BT I« 9argq|

WRA: U & W Bt s, gai @) SIpeivT, Sie-ud, ux-vah [t &1 =i 78 s
1. R ITH & forg

2. TR Y P T

3. TR 7 PR & fog

4. Y fiyer & forw
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Correct Answer :-

. g fiem & fo

26) I &9 WA T, TAT9 YTq &1 TF | IR 31 g &l 8, g | 9w I gia1 81 7§ 997 a1 qarE? g9
FRTARAE - YT R AT HIFH? T Yoe IRIR TR o W2 T A1 Gl U AT, Y R | e, e,
Torara, a1 = @Te, 9 e Ot & Wl @ FeveT, gal ot g, Sle-ud, ugrush - $o 7 ge U
3! I - ITS YT BT P11 AT g W ge UST 22 AF Suenal, iF Suwnal, 18 Susei AqH i 1 @
%, 9 IR W1 R ¥ - A & Rg1 FART o - wf warh & Rafeal & o1 21 78R Y srazawar A
RIS gl ®t Set S J ST IRAT 8, gaT YT ¢ | fobg, 918 Feam a¥ 1 U1 WY - g a& Uy 3R
ATd ® 91 3R? AFG &1 AT G911 A A Ad G99 a9 991 o/d S IR B ATaRgdwared W™
AR gl Bt avsite & a8l T8, ia IuS Y@ Wia-@id s w1 A a9 W Iwet sire are ww &t off
IHT HYH T e, 59 IHST ST g &) SEd R gawt § Ny-Fe &t A | uRgef $ AR,
WS € 98 T T8 53, ITP WTel BT §9ATG1 2t 3N I G B 797 GRE | o AR & g @ a8
St 19 A TAR BT U TITAR ol U ST ST T8T YT, 96 39 BU-BY H I A7 U1, TR SIS 1 a9
I A1 g 7Y 7S, axit ot I

A T HTAI-GW TSI GR AT, T9 Tg Ioaird g1 Rk gaferg =181 i ora Ue-gon &5t wfier Jem # 39
agferad firehl, afer ag smeig-fauiR gam, 3T &t anfermr |, I77d GRS & ;M T4: WRpied giRardl gagat
fron &, gudt IR 90T SR de-ae TSN qt T ¥ 99 digd S 99 S9H U Fi FT AR
B 51 98 U 181 gMT| I7ab Agd-a1Y 3 IHP F-AR D 714 36 & oY wraR fba, gxegqu = S9e
T &1 W gyt T ° T fEan aee-eiR # e &1 = W 8, 76U BT S SR Ui &1 e SR
TS T TRE IHST UT IR AN AR @1 H T8 § 1 O o 98 Wi aey et gan, Ay | Sue
e R i &) giyon o1 A & snazged S9 8, fbg Suet Aeer w8 A W oy wa s @it

SR T B UGHR A1 T Y WA BT IR g
U U BT HIhl 3o by W ge UsS1 8?
EIGIEA

2. MW

3. SR R

4G

Correct Answer :-

. PR

27) g EH WA 8, T4 Hud ¢ | TP & TRR &1 I g1t 3, G & 9w 9 gran 81 g a1 41 e g9
AT M6 § - T IRKR A1 I A2 I1 Y6 IR TR T A2 516 7T Gt TR 311, YT AST | &8, &9,
forara, | = @, T fwe | % WA @1 HeisT, gal ®) Sesi, Pie-ud, ug-ush - $9 9 ge Y
34! T - STST YT BT HTHET 3419 15 IR ge IS 87 AF Suonah, Ag Suwnsh, I susnsi: AgH Sia o1 @
T, 9 SIS W1 %R ¥ - I & Rl F9RT Tone - v sar & Rafeat @ w1 21 I8k @Y srawadar A
AR i Bt Bl HI | ST Y91 €, 34T YR g1 g, 918 = @R a1 usie @t - I 99 uy] R
UG ® 7 SfaR? HIHG &I WFG S99 A ! AFG 79 96 3971 od 391 IRR B razgsdisit W
aHRI® ghial St aeite | T8 TEl, 91d SHPT YW Wia-@ia o et At aq Wi It o gare 1R et o)
IS YW T Frwar, o9 SuS HifAfE A 9 SEa R gt § fia-ge @ ) uxei & arex,
WIHR € T8 o 781 oM, IABT Wl BT THMI eIt 3R ST AT BT 9918 gt | Toelt aRA & g wa a8
Tt A9 F TAIR FT UG TSR o W ST 7 67 YT, 76 I0P SU-0Y W 36 1 U1, TR SIS ! 9 o
I ATt § LN IS, 9=t oft

Td BT HTA1-gW TReT G- §3T, 79 g Swoaiad gofl R afeg 8l fh ora Ue-ue &1 |afaur e # 39
Hgferad i, afer 98 sme-fAviR g3, IuT 3t anfer T 9, ST RS 1 I4: I9: TRpfed gHare! gage
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fovoll |, gudt IR 99-99 SRd A&-a8 Bl A EE § o9 digd 39S a9 39d AUl $IY &7 SR
TP B T8 T TG §OlTI IS Hirad-a1e A ST TH-AR BI 71 o+ & fore e o, ssuqu 3 sasd
Teu &1 W gedt T ° 1 fEam Ae-edR # te 31 R 9 §, 76U o1 S 3R A 1 9ad S|
TRl BT A SUDT e SR HAH TR Y@ | e 81 R i3 98 WY ek @eT gan, 9w A 39S
Ue R faora #t giwon Ft A7 T srazgear 39 g, fHg Sust Awer W@ § 1% w fae wrw e 7t

IUY TIRIIRT Bt UgHR 14 I 7T T=A BT S«i¥ garsu |
WRH: UG A 919 9 @131 & 3fear SR o1 g9ran
1. 90

2.84
3. 83l

4, 9CT5

Correct Answer :-

28) TE e @ &, 7o gua €1 ve @ TR o ofp € €, g @ 9w g gvar @1 A g1 a1 g g9
FTITEd & - T IRR AT o 1?2 T Jee IR TR T A2 6 0T G2t U AT, 4G AHT | 8T, &I,
Forare, fyore | = @, = g | & = @1 Frater, gail B Fegivg, Fe-ud, uguah - $5 7 ge g
I AE - IS YW BT HIHAT TS g U g UsT 82 g Suwnsh, A Suwsh, g susnai A S o 38
%, 9 S W1 ¥R ¥ - W & e Fanr qae -+ sar § Reafeal @ w1 31 TR 3t enazawar A
T gl B B8 B | ST YT §, a1 ¥Ral ¢ 1 g, 18 e WY a1 UsTe] WY - g a9 uy] 3R
g ¥ 7 3fAR? AT $t AFG G947 A A TG 79 a9 997 99 99 IR B AaRadansit W
ARTE gl o1 avsile o | 981 161, 914 SHS! Y@ Wia-@ia B o1 A a9 Hi Swet site ana ww <t |
IuST gyH Wi Frean, S St ST I @ SEa o gaet § fa-ge W@ A ugel i aReR,
WY € I8 T T8 53, ITD WTel BT §1G1 SNt 31X I3 F7 B 778 qRe) | ool AR & g wra 78
St 719 H TGaR BT U TR o7l R ST ST TeT YT, 99 3P DU-89 H ST d1d U1, TR SIS aig 9§
I ardl g 78) IS, It o s

A BT FTAI-HW TRaT g¥ 3T, 79 g Ioanid gan Rk gafere 78 fF o te-gen &Y aftiur Jem & 3
Tgferaa freh, af®e a8 srve-RAulR germ, Su & e |/, ST O3S &t XM IM: Teped gare gt
o A, g2t W T0-99 A d-a TSN J! U A O 9Ied IUS a9 SN U HiY FT AR
PP 1 98 U el §3T1 S Hired-aiy A SHP AH-AR B °41d Io1 & e araR far, s=uqu 3 39&
g 31 Wi geseerght 0 91 feam wa-sR 7 e &1 R N 8, 76U 1 SR 3R ufas &1 36949 S|
U BT 7T SHST UT IR AT WHEIR @1 # 781 ¢ | o fom a8 WY e @sT gon, A A Sue
e R fara &Y divon 11 A B srazaed 39 8, fg Sust Awer 38 @ 1§ w e wra sea #t

ST TR BT YR 1A TR Y WA BT SR JaTgT|
WH: AT A U Bt @t SR W7 H 1 g
1, aIet 3R Rat

2. I 3R T

3. PUS 3R 3

4. FO ol

Correct Answer :-

. AT IR
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20) MW @M ¢, To9 U €1 TP ¥ IRR 9 g & B, g | WY g grar 81 AE S81 91 qare? g9
FT AR & - I IRR AT I A2 T JEe IRR TR G A2 S A G2t R 37T, 4 ad2 | &I, &9,
Torare, Ry | = @, Far Qe o & = @1 e, g B gegiRy, Pe-ud, uguah - T T ge Uy
I NE - TS YT BT HTHAT TS T W g¢ UST 82 AF Susiel, A Iuenan, A Suseit AH S o 379
2, 91 IS W1 R @ - Vg & ) AR g - v et # Refeai @ w1 81 iR Y sravasa A
RIS gl @t Bel S J ST IRAT &, GaT IRl ¢ | fobg, I18 Feam A% a1 U1 WY - g a@ uy] 3R
UG ® 7 3’2 WG S AT 911 A 1 A9 79 99 397 99 391 IR B razadansit W
AR gl 1 aveile ol | 981 161, 914 SHP| Y@ Wia-@ia B ol A a9 i Swe! site gena TR <t o
SUHT WYH Hiiid fwan, 99 SHS! SIa-[l 15 S Sad 3R 9ae! § ug-ge a1 31 ugei & ARGy,
WP € I8 T 81 oI, ITH! Wl BT F4141 2t 3R I} A Y 791 qeed) | woeht U S Riw e 78
Tt 719 W UqAR FT 44 TSR Fd W IST A1 38T Y, 79 I9P BU-BY W 3T aTd U7, TRA IS ! S F
I ardl § 7Y aers, ait i e

A BT HTAI-HW TRaT g¥ AT, 79 T8 Ioanid gan Rk gafere 8t i o te-gen & afiwr Jem # 33
ggferaa frerh, afer ag erve-fAviR gem, Su & anferr §, 37 T3S & 3M: IM: Ueped giRdare gt
faunl &, gt IR a0-T SR d&-ae SIS A T H 9T diqd IHS a9 I8 U i &7 AR
PP 1 98 U el §3T I I Hired-aie A TP TH-0R B 41 Io1 & R R 5, sseugu 3 39
eg &1 4t grergelht S ° S foam wra-aiR A U 31w R 8, EeT BT SuR R af%Te o1 99d FuR|
Ut @ TE SHST T 3R WA WHHIR v@1 # T8 g1 o i a8 Wi e wer gon, A A Sud
e R g &) "ivon 1 1§ & sravadar 39 ¢, fbg It 3wer 38 8 1E w fawg wrw a3 3

ST TR P UG A1 T Y WA BT I< G5
W: SURT TAE- U3 ST & |1 & 81 8?2

1. 39

2. UrT

3. Ryfasar

4.Y4

Correct Answer :-

30) E BH WA 8, Ta19 Y4 &1 Th | IR $T g 8l &, g & WHH 9 siar 21 71§ 981 1 qama? gH
FT MR & - T IRR AT T A2 T PEe IRR TR I A2 Fd A Gt TR T, 4 Adbe | &I, &,
frara, fyren | s @, w1 Qe | & = @ Feter, g @ gegivg $e-ud, uguah - o T ge Uy
I NE - TS| Y& BT HIHAT TS 1 W g UST 82 AF Suwah, A Iuensh, AF Suwai A Wi o 38
& 9N SOS o1 TR § - A & g1 AT Jar - v sarh ® Refear o w61 31 IR B smawawa A
uFRIE gidl B S8l HiA F STd YT 8, 39T 39T ¢ g, I8 F=an @R O1 UHIe W - A a9 Uy Sl
UG B o7 Sa¥? AT B AT S99 A A A9 79 99 997 o/ d 391 IRR B ragddarsit W
ART® gl 1 axeile ol | 951 161, 914 SUS| YW@ Wia-@d @ ol 41 a9 Hi Swe! site Tene R <t |
ST UYH Wi fFwan, S IHST SIHUAAT Ig & SEd AR 9ot § fa-Fe 6t A1 ugei $f aRew,
TR € 98 G eI g, ST W BT a1 e AR I W1 FY 71 qRE | o aRA S Ri¢ e 7%
At 79 W UTIR BT U TR ol W IST S T8T YT, 99 I BU-BY A I 76 U7, TR SIS 1 aig
I ard! B 78) 79, I=ft A TS

A BT HTA-YW TS g¥ 3T, 79 T Iwoarerd gan Rk gafee 78t f s te-gen & aftiur Jem # 33

forenl, afes a8 srie-favik gan, IuT & arferdn |, I TS F1 TM: TM: Tpfed garen gget
foron &, gt IR a0-99 SR dg-ae IS At ST H 99 digd SHS 99 394 U Hi &7 AR
PP B a8 TH 5! golTI I Hired-ale A I TH-AR DI 71 Io+ & g arR Far, ssuqua sas
Tog 31 Wt sesergelt 0 &1 faam vk # e &1 W N 8, 76U B SR iR ufETs &1 9698 S|
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3T B avE IUD1 Ue AR 9 IHHIGR 36T | [81 §1 o i a8 Wt aaer @sT gen, 9EY A 99d
Ye W faora ot givon @1 | A Bt Aazaemdr 39 g, fhg Suwt e W6 8 g W faem wra @A 3t

IUYe TR B UgHT 19 TR T UL BT IR a8y

T=: AFE-IRR & e $T R 1 8, 359 $1 SR R AfKres o1 51 82
1. g4 3T

2. I HWR

3. TheH da |

4. W

Correct Answer :-

. TEIJIW

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

To get a better cut, the carpenter had resharp-- his knife.

1. --ered
2. --ed
3. —ened
4. —-ing

Correct Answer :-

*« --ened

2) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability
to move with a complete absence of sound even in the thickest cover, coupled with his
remarkable senses of hearing and sight, can defeat the most patient and skilled observer.
Because of all this his habits can be learnt only by piecing together scattered, sometimes
meagre, facts collected patiently, over a period of time. Thus an estimate of the area over
which the tiger normally operates can be made only from news of the animals he has killed,
from the rare occasions on which he is actually seen and from those footprints which are
observed and reported. Though conclusions about the tiger’'s habits and whereabouts derived
from information of this kind may sometimes be accurate, it is difficult to be certain of their
accuracy.

Which skill of the tiger makes it a great hunter?
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1. Itis not very patient
2. It can move about noisily
3. It can move about noiselessly

4. It cannot smell very well

Correct Answer :-

* |t can move about noiselessly

3) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability
to move with a complete absence of sound even in the thickest cover, coupled with his
remarkable senses of hearing and sight, can defeat the most patient and skilled observer.
Because of all this his habits can be learnt only by piecing together scattered, sometimes
meagre, facts collected patiently, over a period of time. Thus an estimate of the area over
which the tiger normally operates can be made only from news of the animals he has killed,
from the rare occasions on which he is actually seen and from those footprints which are
observed and reported. Though conclusions about the tiger’'s habits and where —abouts
derived from information of this kind may sometimes be accurate, it is difficult to be certain of
their accuracy.

What qualities must you possess in order to observe a tiger?
1. Patience and perseverance

2. Patience and anger

3. Skill and accuracy in shooting

4, Impatience and eagerness

Correct Answer :-

* Patience and perseverance

4) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability
to move with a complete absence of sound even in the thickest cover, coupled with his
remarkable senses of hearing and sight, can defeat the most patient and skilled observer.
Because of all this his habits can be learnt only by piecing together scattered, sometimes
meagre, facts collected patiently, over a period of time. Thus an estimate of the area over
which the tiger normally operates can be made only from news of the animals he has killed,
from the rare occasions on which he is actually seen and from those footprints which are
observed and reported. Though conclusions about the tiger's habits and whereabouts derived
from information of this kind may sometimes be accurate, it is difficult to be certain of their
accuracy.

The tiger can be seen in its territory.
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1. almost always
2. very often
3. never

4, seldom

Correct Answer :-

e seldom

5) Read the content carefully and answer the question below it:

A tiger is as evasive as a shadow, particularly during the hours of daylight. His uncanny ability to
move with a complete absence of sound even in the thickest cover, coupled with his remarkable
senses of hearing and sight, can defeat the most patient and skilled observer. Because of all this
his habits can be learnt only by piecing together scattered, sometimes meagre, facts collected
patiently, over a period of time. Thus an estimate of the area over which the tiger normally
operates can be made only from news of the animals he has killed, from the rare occasions on
which he is actually seen and from those footprints which are observed and reported. Though
conclusions about the tiger's habits and where —abouts derived from information of this kind
may sometimes be accurate, it is difficult to be certain of their accuracy.

The word "meagre” in the passage means the same as:
1. Scary

2. Plenty

3. Very little

4. Most

Correct Answer :-
e Very little

6) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,
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Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

The word “diverged” in the poem means the same as:
1. Divided

2. Divulged

3. Turned

4, Intimated

Correct Answer :-

« Divided

7) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,
Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

The poet chose to travel down the road which was
1. looked worn and weary

2. less travelled

3. well known to him

4. most travelled

Correct Answer :-

s |ess travelled
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8) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,
Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

The poet was sorry because:

1. He could not travel on both the roads
2. He was lost

3. He didn’t wish to travel

4, He wanted to go alone

Correct Answer :-

* He could not travel on both the roads

9) Read the following lines of a poem and answer the question given below it.

Two roads diverged in a yellow wood,
And sorry I could not travel both

And be one traveller, long I stood

And looked down one as far as I could

To where it bent in the undergrowth;

Then took the other, just as fair,

And having perhaps the better claim,
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Because it was grassy and wanted wear;
Though as for that the passing there

Had worn them really about the same.

“Yellow” in the poem stands for the
1. autumn season

2. poet’s feelings

3. colour of one tree only

4, colour he wore

Correct Answer :-
* autumn season

10) Read the sentence carefully and choose the option that has an error in it:

The non-cooperative attitudes of the members can only deterioration the image of the company
1. of the members

2. the image of the company.

3. can only deterioration

4. The non-cooperative attitudes

Correct Answer :-
e can only deterioration

11) Read the sentence carefully and choose the option that has an error in it:

Although some foods, such as salad vegetables and fruit, are delicious when raw, much foods
need to be cooked first.

1. much foods need to be cooked first.
2. such as salad vegetables and fruit,
3. are delicious when raw,

4. Although some foods,

Correct Answer :-

» much foods need to be cooked first.
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12) Fill in the blank with the correct option in the given sentence:

The food was so tasty I ate all of it.
1. when

2. 0r

3. but

4, that

Corféct Answer .:-

« that

13) Fill in the blank with the correct option in the given sentence:

The artist looked at the ______ sculpture.
1. gracious

2. gracefully

3. gracing

4, graciously

Correct Answer :-

« gracious

14) Fill in the blanks with the appropriate pronouns.

_ couldget_ foodandeat _ .
1. You, your, it

2. Our, my, them

3. It, us, we

4. 1, you, their

Correct Answer :-

« You, your, it

15) Choose the right tag:
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It's growing quite dark, ?
1.isn't it

2.is it

3.doesn't it

4, does it

Correct Answer :-

« isn'tit

16) Fill in the blank with the most appropriate preposition in the given sentence.

There are a lot of people shopping the mall as the festival draws closer.
1. on

2. with

3. by

4, at

Correct Answer :-

17) Fillin the blank with the correct option in the given sentence:

When a person is placed away from a country, he is a --placed person.
1. dis--
2. re--
3. ex-—-

4. mis--

Correct Answer :-

o dis--

18) Choose the appropriate antonym for the highlighted word in the given sentence.

With their common racial origin, Norwegians are homogeneous.

1. consistent

2. compatible
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3. heterogeneous

4. bilingual

Correct Answer :-
» heterogeneous

19) Choose the appropriate prepositions for the given sentence:

Fire fighters were trying to lift the wreckage an express bus that had overturned
the main highway.

1. under, in
2. in, across
3. of, on

4, at, in

Correct Answer :-

20) Choose the appropriate synonym for the highlighted word in the given sentence.

Don't try to cheat me by concocting a cock and bull story.
1. misprepare

2. compounding

3. inventing

4. throwing

Correct Answer :-

« inventing

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

Open the door.
1. Let act of opening the door be done by you.
2. Let it open.

3. Let the door open.
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4. Let the door be opened.

Correct Answer :-
e Let the door be opened.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:

The program a student to study, while he or she and work anywhere.

1. will allowing, will be continuing to live
2. allows, continues to live
3. must allow, is continue to living

4, is allowing, is continuing to live

Correct Answer :-

« allows, continues to live

23) Choose the most appropriate determiner in the given sentence.

an awful day! I have never seen a crowd!
1. Why, such
2. Such, what
3. Such, such

4, What, such

Correct Answer :-
» What, such

24) Choose appropriate articles for the given sentence:

My problem is that | cannot use __ right word at __ right time.
1. no article required, the

2. the, no article required

3. the, the

4. a, no article required

Correct Answer :-
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 the, the

25) Choose an appropriate modals for the given sentence:

I submit my assignment; otherwise, 1 not get a grade

1. must, will
2. might, must
3. could, should

4. can, can

Correct Answer :-
e must, will

26) Choose the option that substitutes the given phrase appropriately.

The practice of receiving and entertaining strangers and guests with kindness
1. Hospice

2. Hospitalization

3. Hospitality

4. Welcome

Correct Answer :-

« Hospitality

27) Choose the option that best transforms the given sentence without changing its meaning:
This is the camera. I took the pictures of the party with it.

1. This is the camera with which I took the pictures of the party.

2. This is the camera into which | took the pictures of the party.

3. This is the camera through which I took the pictures of the party.

4. This is the camera in which I took the pictures of the party.

Correct Answer :-

» This is the camera with which I took the pictures of the party.

28) Choose the option that best transforms the sentence into its Indirect form:
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The teacher said, “You needn’t bring your books for the next session.”
1. The teacher said that we needn’t bring our books.

2. The teacher says that we needn’t bring your books for the next session.

3. The teacher told us not to bring our books for the coming session.

4, The teacher told that we need not to bring our books for the next session.
Corféct Answer -

» The teacher told us not to bring our books for the coming session.

29) Choose the option that best explains the highlighted expression:

Are you sure I won't be stepping on her toes if I talk directly to my supervisor?
1. underestimating

2. dominating

3. offending or insulting

4, abusing

Correct Answer :-

« offending or insulting

30) Change the given statement to indirect speech.

“How clever of you to have solved the puzzle so quickly!” Said the teacher.

1. The teacher exclaimed admiringly that it was very clever of him to have solved the puzzle so
quickly.

2. The teacher exclaimed with joy that he was clever enough to solve the puzzle so quickly.
3. The teacher told that he was very clever in solving the puzzle so quickly.

4. The teacher expressed that he has been so clever to have solved the puzzle quickly.
Correct Answer :-

+ The teacher exclaimed admiringly that it was very clever of him to have solved the puzzle so
quickly.

Topic:- HINDI (HIN)

1) Gedip fpelt &Y =ifds aur Has, Iust HRE) SR sragal 1 gdur 81
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Correct Answer :-
. T SR fam
2) “qRrfora didt & A farass grT IfRa e 22
1. TS B
2. WG < SRl
3. gAY At
4, BRI Taa
Correct Answer :-
- gy @ri
3) U §1 BelT § BIS OT Tk AW BT ¢ SR IS Y5 Aa Bl & ot T8 Rrgia 2 -
1. 999 &1 Rigia
2. 3[UTd Td s H BT Rigid
3. Jafdae faftrar &1 Rigia
4, TR U B & Rigid

Correct Answer :-

- Jufdae faftear o1 g

4) STaTad § S aTd U=l &1 a1 o gRaer A ol et 8,39 Fea Bl
1. T3 YRR

2. 31dh AR

3. Silgeh ISR

4, I IR

Correct Answer :-

o TP LR
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5) fR7&7or Y yHTIRITEl T 9T AT © -
1. IR IHt
2. Had sib-aS

3. $dd UISIYdD

4, BHad HHERE

Correct Answer :-

. IWRiEd gt
6) Rreror faferay &1 vahT wea goa g=) 1 foo ara) @1 ARy = S EfRu 2
1. IIad gt
2. I BISE

3. dhaq Ffedr
4, HAA B

Correct Answer :-

. JWIad gt

7) aduyH fd fagr A yiss ora o1 8w &1 <ol g we1 U2
1. 31 IFGEY qdg]

2. AEHHRIIU S

3. S e

4, g Fipdrg

Correct Answer :-

. i

8) fra ynfaardl &y &1 3w gu= ITM B2
1. TAYTR YA

2. PERATY SUAT

3. Rigrira Rig

4, B

Correct Answer :-
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9) aE A fry UeR F1 argfSaiaidi 2 -
1. IRId It
2. Fad gt

3. B g T
4. %ad R g

Correct Answer :-

. SWRIE gt

10) faeme d 41 & Ul @1 sgawi & fore forar wan o= fv e &1 o ar s
1. BT U=

2. G U

3. Reemd o

4, U U

Correct Answer :-

. AT O

11) T8 A BI-3} faiwar Iea) Aes It 82
1. & e | af 3R Weq € Y WA BN §
2. X e H 0 § A BT B

3. X&) e | & $Y SaRadsar T8l gl

4. & e T Wiltd saxye T g 8|

Correct Answer :-

. S e § ¥ 3R e € T WA B B
12) 3} UTSTYRIS & YOI 81 © -

1. AT

2. B H =TT S 1

3. YTOT T fareTm g1

4, JqUf UTGTShH AU &7 § ST e
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Correct Answer :-
« TS T TR Q1
13) <3rashh fra ot @uyTT) )t Fich 82
1. afgey it
2. SR
3. UgTel fedt
4. gaf fgdt

Correct Answer :-

- IR

14) Hfgen Tfaa®or W fafed Fay e doft & emame
1. 3 e, 3 I=fia

2. IRIed ot 9§ Traifdra =1at

3. AN e, ¥ Jafad

4, Tigen & wweifta

Correct Answer :-

. QoI e, § wefdd

15) fpg ot & Ay TR 7 iR difge R A gaa g &2
1. GRAYOTES Ay

2. fazcivunares ey

3. qUHTHSD e

4, foaRTeTs (e

Correct Answer ;-

S CEINCEARCE]

16) *3MTERVIT Hglew WalHH fohd UHR & U7 & wgad gidl o2
1. BRI U

2. IREIRS =

3. BE DI T
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4, fagmo=

Correct Answer :-

17) 59 B< & T: fAuH TR & TUH IR TR01 IAT YT AfAH &) IR0 St F 3 2l
1. ¢8Ph B<
2. Y TG,

3, UIeR B<
4. FlAAT<

Correct Answer :-

s YYD

18) YRAE & Al H Bapsu 3% 7w 43t g3 A1 I sfoer uRis enfiwie & 9vw 8iv
FTRft & Ui T MuTae & g7 A1 S WR SR AT T gHR 919 & rgardt | afe
e 7 Sidielt Iufra=raTe wf Rifa St # Werar ugard! At df WRdm A 39 Iufazrarg
¥ vg darive o= dar @11 3 3ot Bd-W Rl o erfiic & sl 1 wrafda s
T3 | afe T 3R ITH SHTITE HEPR AT T GERt 3R S8 Ha®< SI-Tdl & 1Y THIgd g4 i
&It | SrafaiY 36 @5 A |

Iuad uivwde @1 Ug@y A iy Y uy 1 IR fafe:
TR A 37U T ug <srafdair 3 < 3= 82

1. faRie o

2. URg

3. 3T

4, IUfARrErg

Correct Answer :-

. ORIt o

19) HRAE P AfRia § Barsud MY A W g5 1 I sfoery wRis srfiwic & 93 SiR
ST & URTE TS0 MuTerds & TF A1 S R SR I I §HR A19° & Srgardt 41 afg
m%mmﬁmmﬁmwmamawm
¥ [Ivg daTve w9 TR 3t T St Biet-Ht et & erfide & Foci o1 wrafia s
R A TH 3R ITH TSI TEPTR T At gY 3R 3@ Tepee Siefall & A1y Tl g1 B
&A1 SITIAY 390 HE U1

Sudad Ty @1 Tede Ae RT U uy o1 I« faf@w:
TR & SHR g A BH-1 o farar ur?
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1. SIfHSITY THR
2. B0 SAfRIY

3. 3% Hfa@ H Bapsu ol

4, IuMAETe &) wIfd 81 B erad

Correct Answer :-

. IufazEre & wIfdd g | Jgradr

20) YRa® ¥ Afdad § Bapsu 3R 7w 43 g3 ft1 3 gfoera uirng enflie & 93w 3R
FTRMt & TR T MuTeRie & UF A1 9 S R R ATYAT I g9R W19 & gardt A1 afg
3 7 3ish IufIARarg &1 R S # eradr ugard ft at yRdwg 3 39 Sufawarg
& [Ivs dae w9 TR 31 T St BIdt-Ht et & snfide & Fowi o1 wrafia svd
T3 | 9i¢ T 3R AW SATTUSITE PR 4T A1 gERT 3iX 38 B ® SI-Tdl & ATY THigd g+ i
&A1 SrITIAY 390 o U1

Sufaa ufde @) yg@e A fou U uy #1 IR fafeu:

TR & AR URAR A frud fvg daites s dar $ie
1. PPl &

2. I SU 3R Tl &b

3, SIS PR &

4. JUMARIEIG &

Correct Answer :-

. JUMFIREE &

21) YRAE & Al § Bapsud 3R Ax W3t g3 8t 3 sfoer vl enfte & 4w ek
PRI & Ulrg WS89 MuTertic & 77 A1 9 S TR IR ST 9o §HR 91’ & Srardt A1 afe
3rfiic A Sifieh SufAazmare & RiIfia w3 # Werar ugari! 4 @t YRam A 39 SufaReae
¥ oo daive o9 daR 3 3 -t Bid-h et o erfidie & pocl &1 wrafda sva
T3 | Ul T 3R SH TSI WIHR UT Al gAY 3R I Bheh SI=Id1 & WY Thipd g1 BI
&I | SrfaRIY 36 &% |

Swiad Ui &1 Tgde A 3T U uy %1 I« foaf@u:
W e 6 3 e difte

1. YRAE P St gy

2. YRAg & Pida

3. JRT 3R YRA=

4. TR 3R YR

Correct Answer :-

Page- 48



22) URAE & AfGad § BFpSU 3R Tt Hi1 g3 A1 3 she uRis spfteie & 9w« iR
BT & RIS 35 TMUTeree & G A1 9 S ¥R W S0 9ol AR W1 & rgardt A1 afg
3rHdg A SiUsh SufAzmarg St Wi S # Yeradr tgard! ft df YRdw A 39 Sufdzmarg
& favg durive sl daR 11§ 3+t BYA-A Rreft o enfieic & sl &1 urafda wwa
T3 | afe TP 3R IH TSI TEhR 4T df gRRY 3R S B ®R SITdl & ATY THipd g4 B
& rfaRIY 30 P8 4|

Iuad uivwde @1 Ug@y i f Y Uy o1 I« farae:
YR & AfwTd DI HIF-A 31 Faoeg a5t aars 78 82
1. MUTerEE S gF Y

2. 3 Hahe SR I ¥ HRgu A

3. 3Hide & 93

4. JuFAETE & favs d9Re SHIA daR @t

Correct Answer :-

. 3HEPHS IR TAWN Y HRETY

23) T8 $Y fFad gRT ®e1 T 7 -9¢ I A o 741 <01 & et &1 were gen 8 3 aafea
ot @f| e St ST R 1Y

1. fosd= |as

2. goIrl g fgddl
3. G Yad

4, 81, A=

Correct Answer ;-

. ORI Y9G fgadt

24) TP 3= MNP U A g A | S fawart s+ wnfge?
1. AT, 7HE 3R i@

2. GIo=T, ggagdn 3R Riyar

3. 3{UTd, TATHSB T 3R JERBT

4, YT, STEHROT 3R BIRMAT

Correct Answer :-

« IodT, ggagar iR fRwdn
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25) TEaTH gaiiery IR HARTATT § 19 BIUS §, 399 9§ A S149-91 781 82
1. [T
2. AHTPIUS

3. XDV
4. AUAYBTIS

Correct Aﬁéwer :-

- J[QUEYDHTUS

26) 12 & TS UfFTaT § HI-91 SEPR 22
AT g fRgeE |
o fag s o faftr A
T fRd T 3 Ut |
3 o=t aar 38 SR 1
1. 4TSI S[ABR

2. fauTaT srcddR

3. U4E SABR

4. IUHT AP

Correct Answer :-

- fayTeT SrdPR

27) Hig® AfieaieT ST ISEIv g & -
1. SiTaRt

2, U3 e

3. 9¢A1 qUH

4. epel G

Correct Answer :-

.« TF-TET

28) 3= W= § ‘Uie fora=r il sifari 22
1. 3TFHY B & g
2. TeEde fe@r & ferg
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3, e & forw
4. 918} Ferge & fau

Correct Anéwer -
. <l 3 g
29) HTYT fITRT BT ZERT AR E -

1. G
2. Ygl
3. SreAT

4, ferg=m

Correct Answer :-

30) HToT &1 § Geuie @t aRaddr sl 8:
1. ORISR aHT

2. Hdd B B AHFTHAA! DI A H

3. Hqd BT DI &1 3R HHNNAI B S &

4. g fRgur ufcha &1 wthel 9 YuTdl o H

Correct Answer :-

. YW gt

31) HTST RI&0T & Sierare & RIgid gIRI -
1, Y71 g § 8 GHg ST g |

2. YT A SRRATgIe 81

3. U1 e | H3TS il 8
4. Y11 e H 2feres THY T B

Correct Answer :-

. 1 e § HH gAY Tar gl

32) ST IRV 2 -
1. TTH Y B T8I
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2. TG-S gt
3. T GIER
4. YT I

Correct Answer :-

33) HYPR VHTE BT o0 399 A 5y g & gam U
1, §ARY

2. 3ARIEIG

3. sl

4, AfHigR

Correct Answer :-

34) JUTe® ) for@ oA a18 WSHRUT UF &1 dl IER9 T el 82
1. Yiferd! o1 ufcare &

2. IR ANHT

3. Sfde™ ST

4, fogmo= &

Correct Aﬁsﬁvér -

. Yifet &1 ufdarg &

35) Ta HTHT BT TURT S Hd 22
1, IWrad g4t

2. Had AP
3. %9 for@ax

4. Had AP

Correct Answer :-

. IWRiad gt
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fFafalaa % 3 f5a o< & Td® TR0 & HHRN: T WIS YIT0T,TH -I01,G1 90T, 3R &t &
B & 7T 98 AT qUT BT 8ldT 8-

1. HETH T B¢
2. AU &g
3. RraRkoft o<
4, \iferHl Ba

Correct Answer :-

. HEIHTI B

37) o dfddl & S o1 ST qUI 2
qg 3TdT,

&l ¢F BaAS F BT uIATal

U TR AT |

e fie 3l Raer ¥ Uw,

T V1 AHfed1 T,

gt WR g @, Y@ flem &,
Hg Wl qRTvft el @1 Sarar 11
1. g 7o

2. 31T 70T

3. TG 7O

4, AT 0T

Correct Answer :-

38) g ufeaal & = Jr U 2

HpA fbforta TR Y | Pod oRa— I Y g&d A+ 1I
A " gg i Ei-et |\t for faera &% ot il

1. GG 10T

2. 3151 70T

3. JTE 1O

4, AIYG Ol

Correq: Answer :-
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39) FH & ¥ HH-I1T WP 07 BT YSR -T81 87
1. RIRFATCRT

2. GRTA

3. oA

4. 19

Correct Answer :-

40) 9 & q ST FEHIPR T8 B SMaIa | 81 FST UT?
1. i@ ant

2. S5 A1

3. 3RBId

4. SRR YIS

Correct Answer :-

. SRR TG

41) fore & @ B AT U BT e TE 82
1. {TST SRATHTSS B 21

2. HT9T e gl 8 |

3. {TST U6 a1 g |

4, YT elep T Bl 2

Correct Answer :-

. TS SIS Bt

42) e o & fory WeTa¥ &1 ordf <TIp =0 A HA1 B AT BT 82
1. Pl G|

2. BRI SdE T

3. Bl HIel

4, Bls SR T BISI
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Correct Answer :-

« HRISAE ST

43) g & A B9 geTvdYy $1 Ve T3 82
1. HEThTA

2. UG TSy

3. RI07
4. 3T

Correct Answer :-

. QU Yy

a4) o 4 @ Wifee sfirafd sie &-
1. IORYed gt

2. $d Jrdfeyg

3. I T

4, BHad HTYU]

Correct Answer :-

. IRIEd gyt

45) A9 o A S 91 919, Iy 19T B1 Ierevur g B2

1. I8 US 371 1T 8 ST JH AT |

2. 311 4 5@ R a1 e $al B oIl

3. B ST § % 98 &gl ge T g1

4. OIF 98 ST ad H =T S|

Correct Answer :-

. FTAHE R I Ge SHa1 T Ul

46) 9 & & B A yldaerei= wid yga | & frg a1 F FARjur = 7702
1. 9Hed

2. Tgedd
3. 3¢9

Page- 55



4. 7% e &d

Correct Answer :-

47) fFa A A oA FdyeR afea vd givpiae Fduer & ©u d @i ura 82
1, 3T YA gad

2. 3T IR UG fead

3. JEgE SR

4. BRTHT WA

Correct Answer -

- 7T B TS fgae

48) frufafaa iR s W o< 32

& WU (TG qTelT, T gH et Iforg | 2s 9R gion &1, g% g0d o1 |
AR g0 =R ¥, 59 e a9 | e urers, dvgd a9 11
1. P B

2, e e

3. i <

4. A BTG

Correct Answer :-

. TifdpI o<

49) W HIY TIH IS} TTATSN & AT W H) UgAIg|
1. FETT — Tleld gmg Sl

2. T — R el

3. BYHTd! - H3H=

4. feTdell - IHHF

Correct Answer :-

. FEOH — Hiceh GewAg St

50) fr=rferfaa fawen & ¥ amevor @ 98 Rrenr 3t=a ga15u 2
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3. I B
4, Had I VAN

Correct Answer :-

. I0gaa gt

51) P # @ #1991 SU=Irg A= &1 T8 82
1. St

2. Ay

3. RE

4. ATG! &1 ¢aar

Correct Answer :-

52) fore TaATall & @ B9 W URa g sRRras 31 A8 82
1. U

2. U oAt

3. UH IR

4. YA AT

Correct Answer :-

. UH T

53) ‘sgﬁmmﬁﬁﬁ%,mwmmwwﬁmﬁﬁwwﬁl”-ww
FYTR?

1. TS
2. AT % Yo
3. UG
4, TG

Correct Answer :-
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54) 19 Sydt gRT 9uidd a9 faanaw & Iarevor qarse-
1. yrif=ita foemmera

2. 5 fa=rmer™d

3, A e

4. Brae ) faEmay

Correct Answer :-

. Tfarivet fomrmera

55) STAHT Yg it & gRT fofed qoie foa At A faa g2
1. TS ey

2. JUiHTHS ey

3. faRTEHS ey

4, dferd ey

Correct Answer :-

56) WeTed! adi & ®Tad # e & & B8 udie aiftres uge gu &2
1. §u% SR aTed

2. 71 3R &1t

3. 719 3IR forar

4, TP 3R 7

Correct Answer :-

. U AR e

57) WIfaaTe ®1od & e # e 8 d Si-a1 HyU W T8 B2

1, TTforaTd} sfadt = <iwor a1 uferle fhan €1

2. TATTaTE! a3 WTHRT TS & TG & oo Sidarst § =M G g
3. JTfaTe a3 Ul & BIAd = &I fomon oot wiaarsit & fear g1
4, yTfoaret wfaat ¥ " gurel @ formor frar B

Correct Answer :-

Page- 58



. WAt Biagl A Ui & B U BT =0T o=t Hidarsh # fear g
58) fdl B URis FeTieR Srafgdr T e 919 i1 412

1, T SRl

2. ISIEETC 1Y

3. g HSRI

4, IyTed! i

Correct Answer ;-

. YSlgETe gy

59) We! fawed g

&t T TE AT Bl 8 T TG T $ TR U I8 WU YT a5 T |
1. Y HTST

2, TG HTST

3. U WIS

4, ITSTHTST

Correct Answer :-

60) Wel facey gary -

__ w9 & R wU A ufafld, W ok O sgyd W™ gl
1. HTg I

2. HeUl T

3. d T

4. §fg e

Correct Answer :-

o Higdd
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PROFESSIONAL
¥ oo EXAMINATION BOARD
@bg%muom Middle School Teacher
Eligibility Test - 2018
9th Mar 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) According to John Dewey, __ must be experienced by the children in school to

make them better citizens. I'GI'FI'?:'&\'% IR, aihaﬁéaa?thﬁaqﬁ%ﬁm
ICEIGPE BT SFHT BT ST AT

1. Rules / FIIH

2. Discipline / 3{RITHT
3. Experimental awareness / YIRS SRREahT

4. Democracy / NIGZGES

Correct Answer :-

« Democracy / SICSE]

2) Find the correct sequence of stages of child development. / oo o srawTsl &1 8t

H Td SIfegl

1. Infancy, Childhood, Adolescence, Adulthood /RIRIATTRT , STIa ], %Qﬁ'{la@ﬂ, EFIET‘“
2. Adulthood, Adolescence, Childhood, Infancy /Higdl, fHRIRTERIT, STATaRT, LETGRIT
3. Infancy, Adolescence, Childhood, Adulthood @Qﬁmﬁ, mﬂ, Sl TdRIT, L?l({:dl
4, Childhood, Adolescence, Infancy, Adulthood /dTcHIdRT, ﬁﬂﬁ?ﬁ?"-ﬂ, Wﬂ, EhET‘IT

Correct Answer :-

. Infancy, Childhood, Adolescence, Adulthood /RTTATTRT, STEITGRIT, fHNRTIRT, Tigar

3) is major environmental risk factor for poor child development / TRId Ckg

Rems Rt yq@ qaaeoig Sifed oRS ¢
1. Diarrhea / ST
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2. HIV / T{1Sal
3. Chickenpox / EECD

4, Diabetes Mellitus / 'Fl‘éfelg

Correct Answer :-

. HIV /TT3Msdt

4) Curative measures of juvenile delinquents are . PR sruRTelht & STERTHS
U™ gl

1. maintaining strict discipline / IR SR FHIT W
2. rehabilitation and correction programmes / Qﬂ’dﬁ 3R JUR HHHH
3. isolated treatments / Jh JUTR

4. rigorous punishments / IR 3

Correct Answer :-

« rehabilitation and correction programmes / ‘-:Fﬁﬁ 3R YR o

5) Which theory encourages private speech, and self-regulation? / aﬁq-mﬁamﬁd’t
UTYOT 3R STH-Fraw= & Piefed var 32

1. Jerome Bruner / SR EGAS

2. Jean Piaget / S oot

3. Hattie / §¢l

4. Lev Vygotsky / NEEIEUIRE]

Correct Answer :-

« Lev Vygotsky / GEEIEUIRIE

6) Which of the following is not an aspect of emotional intelligence? / FrgfIRaa & @ 19
YTTATHS Gl T F1 TP Uge el 82

1. Expression / 3ff¥aafad

2. Assessment / HedlchT
3. Change / gRadH

4, Regulation / =

Correct Answer :-
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+ Change/ aRadd

7) The order in which language is acquired is: / dg sPH foraw v sifsta ﬂﬁ'ﬁ'l?ﬁ%
1. Speaking, Hearing, Reading, Writing / Y=, 4dUl, UoH, GECE|

2. Hearing, Speaking, Writing, Reading / #dUl, ®YH, a'@?, Tod

3. Writing, Reading, Hearing, Speaking / @l@:f, TS, HdUl, hyU

4. Hearing, Speaking, Reading, Writing / %dUl, %Y, Ua+, A&+

Correct Answer :-

. Hearing, Speaking, Reading, Writing / %dUT, %Y, U&, @

8) The type of education wherein students of disadvantaged groups are taught along with the

normal students is called: / ATHT-T BTAI & ATY-TTY dfrd TAHGI & BT DI &t S qTeit
fRrai 1 UpR fre Hgarar 8

1. Inclusive Education / FHTAS fR1ef
2. Exclusive Education / 37 f21&f1

3. Special Education / TRy fRren

4, Integrated Education / Qﬁﬁ fRrem

Correct Answer :-

» Inclusive Education / FHTILT ﬁ'!T&H

9) The state of being left out of the mainstream system of services is called

/ Qa13ff B TSI TOITeH | qTER Ve B awIT B ST ST gl
1. Inclusion / 3{dd<H

2. Universalization / JTdHEHR0T

3. Existentialism / &g

4, Marginalization / iR

Correct Answer :-

« Marginalization / i

10) A sculptor needs intelligence to be successful. / T Eﬁ?ﬁ DIAPATH B
ferg gfe @ smaza@ar gidl ol
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1. Musical / GTiId (RIfSTehen)

2. Spatial / 1w @@'ﬂﬁ)

3. Interpersonal / TRERD (EETW)
4. Linguistic / T Heelt (‘Fﬁﬁé@

Correct Answer :-

« Spatial / RS @'@"‘-WD

11) What skills involve the small muscles of the body and hand-eye co-ordination? /

B I F IRR R FTY-3iFE wH=ag 3 I wiafRat afdfemd g g2
1. Fine motor skills / ST R HILIA

2. Fine movement skills / 3cp¥ Ty B

3. Gross motor skills / J&HE R HIVA

4. Body-kinesthetic skills / TRiRe- Tfadad) gfa

Correct Answer :-

« Fine motor skills / Jp ¥ ﬁlEQ dﬂal-*{lci

12) What is the first sounds of meaningless speech that a baby makes called? / 39 3refga

HTYOT BT UG Caf PT T HEd & o8 T HaT 82
1. Babbling / dS&SIgC

2. Telegraphic speech / coliuTithds HIwur

3. Crying / RG]

4. Syntax / dIeR] — foam

Correct Answer :-

« Babbling / dSdSlec

13) What principle is being used when a negative stimulus is removed from the environment

in order to ensure that a behavior persists? xﬁ?ﬂﬁmmmmwvﬂﬁm%m
afaRor & feft ToRIES SEITH B 8T ST €; U8 GHd o1 ¥ R fr #1s
AER T18?

1. Positive punishment / HPY[HD qUS

2. Positive reinforcement / THRIHD YIaicl

3. Negative punishment / TPRIHP US
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4, Negative reinforcement / TP RIHD Eﬁéﬁ:{

Correct Answer :-

» Negative reinforcement / TR RIHD ‘;_J;'IGTC‘I"I

14) What was the neutral stimulus in Ivan Pavlov’s famous experiment on classical
conditioning? / [TEATT SIS (FATIE T DS I+1T) U S UTTAIG & TR TR &
qew RN ((gd i) o A

1. Salivation / AITHAdU]
2. Food / HISH

3. Bell / ¢l
4. Dog / Pl

Correct Answer :-

« Bell /dcl

15) In reasoning the association begins with a problem and ends with a Vx|

THIRTRM U3 AT A YREEIaT 8 IR TS & |1 HAT gt 5
1. Dream / &dG{
2. Problem / HHYT

3. Solution / JHIETH
4, Image / Bfa

Correct Answer :-

« Solution / JHTYTT

16) In relation to the development of intelligence, the results of twin studies indicate that: /

s & AP F Ty &, Joar sreau=il & uRumd $Rd 34 €

1. Both genetic and environmental factors are important./ Wﬂaﬁfﬁ 3R TRV S} PR
GEEEUE]

2. Neither genetic nor environmental factors are important./ - al Hﬂaﬁﬁ 3R 7 g} ararerviig
HRS HEgaqUl g

3. Environmental factors are more important than genetic factors./ GW BHRD| B dei-l e

qIATERNT RS 31 Heayul §1
4. Genetic factors are more important than environmental factors. / TR DHRDI Pt GIEL )

3ARIE HRE D Teaqu & |
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Correct Answer :-

« Both genetic and environmental factors are important./ GI'IﬂEI'IfQIEF 3R ARV S} PREB
e €|

17) How has Pavlov’s theory on classical conditioning influenced the research on behavior

management in schools today? / IR ST (FATRIB B I TR UIGelld &
Riegia A adur & faearadl ¥ aragR yeus W Y™ &1 oy yer yuifad fear g2

1. Teachers remain composed, keep things in perspective and get back to the main task of teaching.

%ﬁwmaﬂﬁ%ﬁﬂﬁaﬁﬁﬁfﬁawﬁﬁ&uﬁwﬁ%aﬁ?ﬁrw%ﬂ@aﬂﬁwwm

|

2. Teachers notice every little thing going on in the classroom. / fR1&/% B Hel H 81 61 81 BICk-
IS! STl R A &1 1T

3. Teachers have clear lesson goals and make proper use of group work./ fRrefent & UM WY TS
&I Bl © 3R g BT T I SUAIT R &

4, Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / R1&/® GRT 9] B STRED Bl
AT b 3reT TaER T 8 3R ST foT icaTe &1 A1feT | e gRT TSRS TIER
&) galcTied B & forg 48 Hi &1 =il

Correct Answer :-

+ Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / R1&/® GRT 9] B STRE® HRAT

ieU & 3T SUagR T8 3R 59P forw Uicrg= 1 =1feu | & gRT TR IdeR
P! BdldIed B & 1o a8 Ui g1 =eu|

18) Children typically feel emotions related to fear when they have: / T THAR W ST A

HTIT HTaTSH BT T B & ofd S8 [-1+1 Bl o:
1. Bi-polar disorder / ST5-UTeR fSH3fiax

2. ADHD / USITTS!

3. Autism / fifesq

4. Anxiety disorder / feidT (GeTTgeY) fEqaiiar

Correct Answer :-

+ Anxiety disorder / fefam (QGHE_CD[ ) fEqairer

19) Childhood becomes a central factor for the behavior as adults, according to

approach. / _____ T®IUI & IR, 90| & ¥U § IdER & fIU 909 TP HET
PR 9 a1 g
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1. Sociocultural / FHTS Hipich
2. Humanistic / HTgdrarct

3. Psychoanalytic / TAIfdeyor
4. Behavioral / ETIEE'Iﬁ_Cﬁ

Correct Answer :-

+ Psychoanalytic / T ROT

20) Some children are able to process more when information is presented visually. This

refers to their ./ P T 3fte ufthar &3 # W& Bld & o1 e R! #a Fu d
TR B STl 81 98 S, ot deffa prar gl

1. Preferences / HTUfH@ TS

2, Ideas / ToARY

3. Interests / el

4. Learning styles / 3{fTH Qiferal

Correct Answer :-

- Learning styles / 3ffTH QAferal

21) Who is the central focus for an individual to get guidance in school? / fagITerg |

ARTGRH Ut S & fore forslt safea &1 g7 s &ea wiew) g W g afea?
1. Friends/ Il

2. Parents/ HTI-OdT

3. Neighbors/ U@ﬂ%ﬁ:ﬁ

4, Oneself / T4

Correct Answer :-

« Oneself/ W4

22) Who proposed the Bobo doll experiment? / STaT &A1 WA foa yarfaa fowam 42

1. Bandura / ﬁ’U@
2. Erikson / 'Qﬁ?FH:[
3. Pavlov / UIdalld

4. Vygotsky / AT Icd ]
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Correct Answer :-

 Bandura/ E\I{U@

23) Who believed that teachers should teach by appealing to students’ natural instincts to

investigate & create? / Y AT T fp e gR1 S &1 =My A7 =1 § udtor s
& ford 39! wipfas ugfiy SURAT Infee?

1. Jean Piaget/ ST foTet
2. Jean Lave/ S @1

3. John Flarell/ 519 thd
4, John Dewey/ EI| Eﬁ

Correct Answer :-

« John Dewey/ Gfﬁf;"{g

24) In Maslow’s Hierarchy of Needs the top level need is known as: / ARGl &
STaRgHar ey H, 2 Srawut Y saxgddr Y A T U H ST ST 8

1. Efficiency needs / G&IdT HTARIH AT (SR -1gH)
2. Growth needs / fd&T™ a=gesdl (1Y Aigw)

3. Important needs / TEYUl STa=dehd (FHICC A1gY)
4. Deficiency needs / g1 SRRl mﬁ'\‘ﬂ :ﬁ@

Correct Answer :-

. Growth needs / fa® saxgamdr @y -tga)

25) How do parents assist in gender stereotyping? / ATa1-fUdT, ﬁﬂm sk or )
HETIT B &2

1. Childhood peer groups are segregated along gender lines. / ddU- %Wmﬂ?ﬂﬁl aﬁ%ﬂm
& feuma ¥ sram far Sar g1

2. Schools emphasize different academic subjects for male and female students. / ¥R ¢, %Y 3R

wigar sl & forg fAftrer Qaiftres fovai weR2a |1

3. Parents place their children in gender-specific schools. / HTT-fOdT 31U+ =i & fofr-fafdne
Wl § A gl

4, Parents force children to follow traditional gender roles. / Hid1-Oar =231 & URuie foiT
YIPpT3T BT SITERUI PR & RIU a1 PR B

Correct Answer :-
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« Parents force children to follow traditional gender roles. / AH1a1-fUar §=1 &1 URURe foft
YfPepTaf BT SR R P ol F1ed el € |

26) Who proposed the concept of a language acquisition device, found universally in all

children? / T} Tt ¥ A4 U § Uit 9= arelt |t Sri= wfaft (A efefore
f&arsw) ot surn fram wega @2

1. Jean Piaget / ST foarst
2. B.F. Skinner / §.U%. &R

3. E.L. Thorndike / §. Ud1. YT SIS®H
4. Noam Chomsky / A Tt

Correct Answer :-

« Noam Chomsky / AT A

27) What is the term used to describe the gradual stopping of the relationship between a conditioned

stimulus and a conditioned response? l\?rl'ﬂﬁ'f\ﬂ?faﬁ'qa? AR Glﬂﬂﬁﬁ'f Glﬂﬁv_q'la'?"cﬂ?[ﬂa’ﬂ & Hiu®
389 &1 quiH H3A & e frw <1eg o1 3uai fosar s 82

1. Reinforcement schedule KHFFST?FI Gﬂﬂ:tﬁ

2. Punishment / 8
3. Shaping / A UUIRIfU)
4, Extinction / ﬁ?‘ﬁq

Correct Answer :-

« Extinction / ﬁ@'q

28) The most important characteristic in differentiating a child with a special need is: /

P A2 axgedr aTel a=d B 3T HeA arell ad Heayul fa=ivdr 8:

1. Face problem in completing his homework / for8 S-N:IT"]_G'W (EHa®) q\?raﬂfrﬁwrﬂ
SHAT Al Hedl %l

2. Has abilities different from an average child /ﬁlﬂ?ﬁ &HT Gﬁﬂaaﬁﬁ@ﬁﬁﬁal
3. Has poor relationships with peers / ﬁﬁw@ﬁr%wwmﬁl

4. Does not perform well in academics / TheH H 33T TR T8 Bl 2|

Correct Answer :-

« Has abilities different from an average child /%Nﬂ'ﬁ &HT Gﬁﬂﬁat_nﬁ'@ﬁ-ﬁ@?ﬁ%l
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29) The rules of presenting the contents to make them easy are called:

| AT} BT AT F9H & T wRgd ®e & el &) weT e g:
1. Method of teaching / fRreror ot fafer

2. Teaching strategies / fRreror JurRfoRr

3. Maxims of teaching / TRI&0T & Sl

4, Techniques of teaching / fRrero7 B dapiid

Correct Answer :-

« Maxims of teaching / TRI&0T & el

30) The term cerebral Palsy was introduced and popularized by . | e UHiRRTSS SRTET
AU $1 R yaifad iR Sy a9

1. Gardner / MER

2. Piaget / o

3. Dr. William John Little / S1. faferad S fafee
4. Sir William Osler / TR faferad siaer

Correct Answer :-

« Sir William Osler / T faferag 3ngeR

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:
The package is very fragile; so handle it care--.

1. --ful

2. —-fully

3. —-ingly

4, --less

Correct Answer :-

2) Read the following passage carefully and answer the question that follows:

A mask is a covering for the head or face. It was one of the first ways, in which primitive man expressed his
artistic instinct. Primitive tribes used masks to ensure a good harvest, safe hunt and to ward off evil. Masks
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were also worn by merry-makers at festivals. Masks of change are believed to turn the wearer into the spirit,
animal or demon that the mask depicts. Thus, the Shaman (medical man) masks of the Eskimos are supposed
to establish a mystic link with the spirit concerned. They induced a state of trance and possession before
affecting a cure.

Wearing of mask is supposed to do what?

1. Protect the masked person from the elements

2. Differentiate the members of one tribe from another
3. Safeguard the masked person from the evil spirit

4, Ensure regular rainfall

Correct Answer :-

* Safeguard the masked person from the evil spirit

3) Read the following passage carefully and answer the question that follows:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One-day two men came to his court and claimed ownership of an extraordinarily good-looking horse. It
was a black beauty indeed. One of the men was tall, very well dressed and soft-spoken. The other one was just
the opposite. Each of them said that the horse was his. The Wazir heard them patiently and asked them to leave
the horse and come to him next morning. Both the men came the next morning. The Wazir asked his soldiers to
give the horse to the tall man and to arrest the other man. The tall man wanted to know how the Wazir had
learnt the truth. "Very simple"”, said he, "Firstly, a man of your appearance and manners could not have been
the thief. Still, | wanted to be sure, just after you had left the court. | asked one of my soldiers to leave the horse
free and to see whom it followed. It went after you. This hint was enough for me".

Which of the following best explains the other man?
1. Harsh in manners and speech, tall, poorly built

2. Thin, poorly-built, harsh in expression

3. ll-dressed, short-statured, loud-voice

4, Tall, ill-dressed, courteous

Correct Answer :-

* |ll-dressed, short-statured, loud-voice

4) Read the following passage carefully and answer the question that follows:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One-day two men came to his court and claimed ownership of an extraordinarily good-looking horse. It
was a black beauty indeed. One of the men was tall, very well dressed and soft-spoken. The other one was just
the opposite. Each of them said that the horse was his. The Wazir heard them patiently and asked them to leave
the horse and come to him next morning. Both the men came the next morning. The Wazir asked his soldiers to
give the horse to the tall man and to arrest the other man. The tall man wanted to know how the Wazir had
learnt the truth. "Very simple", said he, "Firstly, a man of your appearance and manners could not have been
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the thief. Still, | wanted to be sure, just after you had left the court. | asked one of my soldiers to leave the horse
free and to see whom it followed. It went after you. This hint was enough for me".

How did the Wazir discover the real possessor of the horse?
1. By knowing whom the horse followed

2. By leaving the horse free

3. By patiently listening to the case of theft

4. From the appearance and good manners of the tall man

Correct Answer :-

« By knowing whom the horse followed

5) Which of the given options best combines the given sentences?
It is my dad’s birthday today. | called him this morning.

1. It is my dad’s birthday, so only first I called him this morning .

2. It is my dad’s birthday, so | called him this morning.

3. I called him this morning as it my dad’s birthday.

4. | called him this morning, therefore it is my dad’s birthday.

Correct Answer :-

« Itis my dad’s birthday, so | called him this morning.

6) Rewrite the following changing the active sentence to passive.
Ram was driving the car so fast that it skidded on the snowy road.

1. The car was being driven by Ram so fast that it skidded on the snowy road
2. The car has been driven by Ram so fast that it skidded on the snowy road.
3. The car was driven by Ram so fast that it skidded on the snowy road.

4. The car had been driven by Ram so fast that it skidded on the snowy road.

Correct Answer :-

» The car was being driven by Ram so fast that it skidded on the snowy road

7) Read the sentence carefully and choose the option that has an error in it:

The young couple liked to buy, redecorate and resold older homes for profit.

1. The young couple
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2. redecorate and resold
3. older homes for profit.

4, liked to buy

Correct Answer :-

« redecorate and resold

8) Fill in the blank with the appropriate option in the given sentence:

New mothers insist on --adulterated food for their babies.
1. de--

2.in-

3. a--

4, un--

Correct Answer :-

9) Choose the right tag:

Tom said he wasn't feeling well, ?
1.isn't he

2. didn't he

3. wasn't he

4, was he

Correct Answer :-

e was he

10) Choose the option that substitutes the given phrase appropriately.
The act of a person who habitually delays things

1. Concubine

2. Pleonasm

3. Procrastination

4, Indolent
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Correct Answer :-
s Procrastination

11) Read the following passage carefully and answer the question that follows:

A mask is a covering for the head or face. It was one of the first ways, in which primitive man expressed his
artistic instinct. Primitive tribes used masks to ensure a good harvest, safe hunt and to ward off evil. Masks
were also worn by merry-makers at festivals. Masks of change are believed to turn the wearer into the spirit,
animal or demon that the mask depicts. Thus, the Shaman (medical man) masks of the Eskimos are supposed
to establish a mystic link with the spirit concerned. They induced a state of trance and possession before
affecting a cure.

The mask was an indication of what to the primitive man?
1. The expression of his identity

2. His desire to hide his identity

3. His aesthetic and creative sense

4, His instinct of fear

Correct Answer :-
» His aesthetic and creative sense

12) Read the following passage carefully and answer the question that follows:

A mask is a covering for the head or face. It was one of the first ways, in which primitive man expressed his
artistic instinct. Primitive tribes used masks to ensure a good harvest, safe hunt and to ward off evil. Masks
were also worn by merry-makers at festivals. Masks of change are believed to turn the wearer into the spirit,
animal or demon that the mask depicts. Thus, the Shaman (medical man) masks of the Eskimos are supposed
to establish a mystic link with the spirit concerned. They induced a state of trance and possession before
affecting a cure.

The masks worn by Shamans helped them to:

1. Protect themselves from infection

2. Create a link with the spirits in order to cure the sick

3. Conceal their identity, while attempting to cure a sick person

4. Overcome their shyness

Correct Answer :-

» Create a link with the spirits in order to cure the sick

13) Read the following passage carefully and answer the question that follows:

A mask is a covering for the head or face. It was one of the first ways, in which primitive man expressed his
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artistic instinct. Primitive tribes used masks to ensure a good harvest, safe hunt and to ward off evil. Masks
were also worn by merry-makers at festivals. Masks of change are believed to turn the wearer into the spirit,
animal or demon that the mask depicts. Thus, the Shaman (medical man) masks of the Eskimos are supposed
to establish a mystic link with the spirit concerned. They induced a state of trance and possession before
affecting a cure.

In order to treat a patient, the Shaman tried to
1. scare him of the dangers of sickness

2. hypnotize him

3. subjugate him

4. make him aware of his disease

Correct Answer :-

* hypnotize him

14) Read the following passage carefully and answer the question that follows:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One-day two men came to his court and claimed ownership of an extraordinarily good-looking horse. It
was a black beauty indeed. One of the men was tall, very well dressed and soft-spoken. The other one was just
the opposite. Each of them said that the horse was his. The Wazir heard them patiently and asked them to leave
the horse and come to him next morning. Both the men came the next morning. The Wazir asked his soldiers to
give the horse to the tall man and to arrest the other man. The tall man wanted to know how the Wazir had
learnt the truth. "Very simple", said he, "Firstly, a man of your appearance and manners could not have been
the thief. Still, | wanted to be sure, just after you had left the court. | asked one of my soldiers to leave the horse
free and to see whom it followed. It went after you. This hint was enough for me".

What quality of Wazir caused people to come to him from all places?
1. A very patient listener

2. A wise judge

3. Very famous

4, An old Wazir

Correct Answer :-

* A wise judge

15) Read the following passage carefully and answer the question that follows:

The wise old Wazir was famous for his judgement and people came to him for justice from all parts of the
country. One-day two men came to his court and claimed ownership of an extraordinarily good-looking horse. It
was a black beauty indeed. One of the men was tall, very well dressed and soft-spoken. The other one was just
the opposite. Each of them said that the horse was his. The Wazir heard them patiently and asked them to leave
the horse and come to him next morning. Both the men came the next morning. The Wazir asked his soldiers to
give the horse to the tall man and to arrest the other man. The tall man wanted to know how the Wazir had
learnt the truth. "Very simple", said he, "Firstly, a man of your appearance and manners could not have been
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the thief. Still, | wanted to be sure, just after you had left the court. | asked one of my soldiers to leave the horse
free and to see whom it followed. It went after you. This hint was enough for me".

What does this story prove?

1. The horse was a real beauty

2. The horse was very clever

3. The judge was indeed quite intelligent

4, The judge was quite old

Correct Answer :-

+ The judge was indeed quite intelligent

16) Choose the appropriate antonym for the highlighted word in the given sentence.

My grandfather was a spiritual person and believed in doing esoteric work for others.
1. mystic

2. profound

3. mundane

4. gratitude

Correct Answer :-

e mundane

17) Choose the appropriate prepositions for the given sentence:

We went ___ a nice restaurant celebrate my birthday. The waiter came and was pouring some
juice our glasses.

1. to... to... into
2. to... for... into
3. at... to... in

4, into...to... into

Correct Answer :-

18) Choose the appropriate synonym for the highlighted word in the given sentence.
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We delicately tried our best to spread our business in all the states of our nation.
1. cautiously

2. diplomatically

3. desperately

4, cunningly

Correct Answer :-

« cautiously

19) Choose the appropriate determiner to fill in the blank.

Bonny bought clothes only yesterday.

1. much
2. these
3. a little

4, few

Correct Answer :-

+ these

20) Choose the appropriate conjunction for the given sentence:

He did not want to go to the shop his brother forced him to go with him.
1. despite
2. since

3. but

4, or

Correct Answer :-
« but

21) Choose the appropriate option that rewrites the given sentence in its passive voice.
They offered me a job but I refused it.
1. The job that was offered to me, I refused it

2. Job was refused by me that they offer.
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3. I was offered a job by them but I refused it.

4. A job was offered to me but I refused it.

Correct Answer :-

« A job was offered to me but I refused it.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:

I cricket now as I with an accident last month.

1. am not playing ...met

2. haven'’t been playing... will meet
3. will not be playing... should meet
4, don't playing... meeting

Correct Answer :-

« am not playing ...met

23) Choose the appropriate tense to fill in the blank in the given sentence:

Why are your hands so dirty?
Well, I in the garden.
1. work

2. worked

3. have worked

4. have been working

Correct Answer :-

« have been working

24) Choose the most suitable pronoun for the given sentence:

The police finished investigation.
1. their
2. his

3. its
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4, our

Correct Answer :-

e their

25) Choose appropriate articles for the given sentence:

__ _boysin___ red jerseys are playing ___ good game of football.
1. A... no article required... the

2. A... the... no article required

3. The... the... a

4. The... the... no article required

Correct Answer :-
e The...the...a

26) Choose appropriate article for the given sentence:
Would you like__ apple?

l.a

2. the

3. an

4, no article

Correct Answer :-

27) Choose an appropriate modal for the given sentence:

I don't know why she didn't ask me how todoitas I have helped her.

1. must
2. might
3. could

4, should

Correct Answer :-

« could
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28) Choose the option that best explains the highlighted expression:
In today’s hard times it is very difficult to make ends meet.

1. meet family needs

2. survive

3. make enough money to pay expenses

4, prosper

Correct Answer :-

e survive

29) Report the given statement correctly:

"Would you bring me a cup of coffee, please?"
1. She asked for her cup of coffee.

2. She asked me to bring her a cup of coffee.

3. She asked me to a cup of coffee.

4. She asked me for a cup of coffee.

Correct Answer :-

» She asked me to bring her a cup of coffee.

30) Choose the right tag:

Nothing is ready for the new assignment ?
1. is not
2.isn’tit
3.isit
4. ain’t not
Correct Answer :-

e isit
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. SWRIFd g4
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2. Hacl YEH
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Correct Answer :-
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ey gu e & A

T IR TR

DI =it A A Rarefte
TSI A e di g
e duradt ARt
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ST W, WA &1S

ERCaRI IR Erechnrack: oy

$ W HIAdl T T11S |

ST TR B TSR -1 T o a1d IR $T IR Iarsu|
U= Siigsl A Su= WolH Fol foek fdu g 2

1. IURIG T

2. $Id HEH-PHEH R

3. %dd Jal IR

4, $ad Idl R

Correct Answer :-

o SWRITd gH

14) T AT DI S

3T TR BT URT G2

U9 R, Bl U=, T

fy@y guzaa € amm

TSGR TAET R

Fi9 it # A feameht:
FIIUAI A e &

o raraeh AR

oft giaT 3+ 3 Bl B

IR B R, R A W

@ MY e FRa &%

1 R Hqd1 Th T35 |

SUded U= Bl UgHR IS oM ard URH $T Ik 9arg|
WRH: 99 BT YIiaar |1 A8) 82
1. ST

2. e

3. 3R

4. gl

Correct Answer :-
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15) S+ o=t gigal €1 smew & Srftpisr @ aTe] Td T A1 U 3 g6 GultaR $°& g3 &1 s
R B § o Tef A8y wu § o=iHg a9 e 381 §, SUST FRU U ¢ 6 1o & urw wg wl &
S| AT Y UT9: 8 &8 B GOSN od A o =il § e yRe-gs § A 399 Ut aiven § 91d Sear
<t aega: fE-geTa’) &1 srqare gonm sl A farsdt arew & ffy Y 5w & 9% U & Srar o1 @) war
HAT AT, TP UK AP MR 2R o0 T 91 98 91 & ° forait vafea 8, 3o+t aiven A =16t sufene
Toed WRT G &a A1 91¢ § g3 AT g % A g utor 959 S qraaia § o eed A 39 ani

ﬁﬁmﬁmmwﬁmwaﬁﬁmﬁuﬁam YT At 3 THSR YD ¥ SR A MY 7
SUYE TR H UgdHR 1 U 7T 9y BT IR Ja13CI

UR: ‘Y BT GarIard 1 gHm?

1. g

2.4

3. 389

4. 949

Correct Answer :-

16) S fo=t gfear F) enym & ifeir @b areR 9d T 31 Uw 3 s wuRar 9% g @1 B
= Y § St geT faxiy ®u ¥ gty a1 forg 367 §, 3991 SR 98 § f 1oed & U w9 st &
ST ATt UT: 9 U8 H8 B TABT ¢a A o o=l 8 > o3 & A 399 Ot aiver & ara war
St axga: fEd-geraRt &1 rqare gan dwdl A1 fasft arer F ifafy B 9w & I9F urw & Swar 91 ) Fer
HAT YT, TH HE Ap SAMTIR SR o0 T D11° 98 91 &t & et vafera 8, Sa= e & 7811 sufee
TFed WRT g &a 31 91g § g " g3 i A g8 utar 959 siffie qras iy § o oed A 39 a%i
T3 &Y Ups forar unl i w9 wft & srma W ugd wiran oT A 9 g9 Usa ¥ q=i=rdf dew smu g
m!

I TRIRT B UgdHR A U T UY BT 3R Fa1sTI

uy: =f1df dev 3me g T ufea ¥ ford e R w1 A 82
1. FIYRUT TR

2. THRIHD g

3. USaTa arad

4. TGS AT

Correct Answer :-

- AT IR

17) 34 o gfear F 1 amsw & arftreisr @i are? 9 T ¥ Uw e gwe WuReR 3% o @t 3|
=T Bt & ot gel fadiy w0 | ety sras forg 8T §, SUST $1R0T 9% @ 6 ved & U o woft &
ST T 1 UT: A 98 68 B gAY ¢a A & Gl & e ey # A 399 RN aiven & a1d & o,
St axga: E&-geraRt &1 srqare gen @edl 1 sl aer ¥ sifefy 7Y o9 & S5 e @ Siwer 91 ) @Er
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Bl U1, TP WS A AMUAR GIR o9 B B4 1’ I8 91d 841 # Ria-i! yaiera 8, Ia-1 aivam | A6t g9y
Ted YRT GHSRI &d A1 a16 H g ArerH g3 o 8 a8 uran 9 it gwaeiy § 3R Toed 3 99 i
;ﬁ?ﬁﬂﬁ_ﬁlmwl e g t § Syuy H uge oirar o7 a 3§ EUPR USd ¥ SR d9) oY g
I RIS F UgHR - U T Y HT I7R Fa13C1

W TGS U FHET HIT B T JIaT 412

1. 3TH A HIE T

2. IS T 3AIG

3. SFdI-GgTaR] P 3fdlg

4, T§ - geTaRl &1 3arg

Correct Answer :-

- TEdl-HeTeRl 1 3rgare

18) 3 o=t gigal &1 e & Srftrpizr @ aTeR Td T A1 U o g0 wulkaR S°& g3 # e
R P 7 o) geT fARiy U § exia g9res o 381 §, 39T ®RUr 98 @ % Teed & Uy oid Bl &
ST 4T &1 UT0: 3 98 68 B A &d A % G0 § 12 -3 d A 399 Wit 9ivem § a1 S o,
it avga: fEdl-geTart &1 3rare gen Fwdl At fadt arev & aifafy B S & 3% U & e v T
Hdl YT, TP HE AP SATTR S5 =0 TR D 1° 98 91 Tt # et warfera 8, Sa=h aiver & 1)1 safere
T¥ad TR GO 3a &1 915 H g2 A1 gon 6 A9 g5 HeT 959 oftre Raed 3 ofR Twed A 39 oxf
Yleg ®1 UHS forar uT| safee o et # sRywy B ugd oA o1 ol d §He] Upd ¥ g1l aew g g
T

IUY e TR P Ugdh A1 U T U HT 3w 9a15¢]
T A a1 e T g g2
1. @

2. g
3. ST

4. fa=m

Correct Answer :-

19) 3 o=t gfgar R smemy F Sftremizr @ aTeR 7d T A1 T A g0 WulkaR S9% @i #1 3T
2 o & ot gef fadiw wu @ g3ty aerar fore <eT §, SU@T $1RUT 9% § i 1ved & U o woft &
SATAT AT < UT: 9 98 $e DY GAHT gd 4 for g2l & sy g o A 9= Y qiver § ara ovar ot
it avga: fEE)-geTart &7 erare gen ®edl At el arer & Sfafy B 5w & IF T & wirar o ot wer
Bl U, ‘TP UG AP AR 9% o U8 D I’ T8 a1d &t A a1 v=ferd 8, 3o+t givar A 1811 safe
Ted IR GUH &d A1 a1e H T AT g 3 08 a8 uren 9ga iftre qrasia & ofik Toed 3 39 axf
TTeg Y Us forar 4Tl 9o o o & 3w ® ug" o o7 @) @ g0 UDd ¥ <=t dw o 8
Y

JUY e TR B Ugdh -0 YD T UY $T 30 9a15¢1
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W=H: Tl | i YTNT fhaat T8 YT udid gidl 82
1. Reg &t

2. axIRf

3. YIiSABRI P

4, T5d DI

Correct Answer :-

. THEA DI

20) I foA1 gigar off | snyw & arftreizr @b ameR 7a T A1 Ue 3T 70 ular S9% axi @) a1t
TR B § o g81 ARy U | gxitg a1 forg 3871 §, SUeT $RUI 9% § % 1%ea & Uy o ot &
ST T &1 UT0: 3 8 68 X GHS od A 5 =i & e ey o A 399 Wit aiver & a1 & o,
St aege: fEd-gera’) &1 argare gom wvel oAt forsft aTev & ifafy Y w9 A 9% Uy & wrar 31 o) wer
FAl U, “TH Y AP AR IR o9 U ¥4 1 78 a1d S A Rra-it wafera 8, 3o+ sivar o 81 gwfe
THed IRT HESRT 3d &1 916 # Tt ATqH g9 6 B} 98 UToT 95 offties Taaid § ofiY Toad A 39 &=
Yleq ®1 UHS forar uT| suiee o et # sRywy ® ugd War 41 o 3 §He] UDd ¥ <S>l aeR 3y g
T

IUY e TR P Ugh? -1 U 7T 9 $T IwR 9d13¢1
TRH: SIS Vg | 3] FT 32

1. JRTaRT

2. U

3. 94y

Correct Answer :-

21) 34 fat gfear ff1 smym & sffrei=r @bt arey 7t T A1 U R guA Wular o5 «gxf= ot 3t
T’ B # il 98T foRly v ¥ =ity are? forg 381 §, SUeT $RU 98 § % Toed & U wid Hut &
SITET AT <1 UT: 9 98 $8 ©Y G9b oa & for g mdf € Ty -3 o A 99 O wiver & «rd e o,
St aege: fER-ueTaR) &1 3rgare g3 Heat | st aTev & ifafy Y 5w # 9% Uy & wrar o1 oY Her
B U, ‘T HE AP AR IR o0 U8 ¥4 1’ T8 9 Gt A et vafera 8, 3o+t givar A =811 gafee
Toed ORT GHSI &d A1 a1e H Y AreH g % 0 ag uren 98 3ifie qwaaia ¢ i 7oed A 39 ‘axir
g ®I Uhs forar uT| gafere o ot F oRywg W Uga War o1 Y 9 guHY yBa & <G»ndf aew e g
T

SUYERT TR BT UGSHR A1 IR T UY BT I Fars]

W: YW & AT Geal 1 W el 991 7T A2

1.7fq

2. RS

3, 304 TR
4, digY
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Correct Answer :-

22) 3 et gfeal f1 amsw & sif¥repiyr @it aTeR =w T 41 U 3 79 WuRaR S99 o= 9 o
R B F ot geT fakiy w0 | gxi-ta aras forg <81 §, SUhT $ROT U8 @ 5 Tvee & U o welt 7
ST 4T &1 UT0: A 98 B8 Y GHD &a A 5 =i § ey ge-3re o A 399 Rt given § a1 s o,
it aege: fE-geraR) &1 3rgare g3 Hxal At fadt arev & ifafy Y 5w # 9% U & S o1 o) Fr
P AT, ‘TP HE AP TR S8R o T B4 1 T8 919 FS A vt verfera 8, o=t oiver # =161 safg
TH¢d RT GO od U1 916 § gt ATqd g1 % B g8 yTuT 9ga e qRasiy § iR Toed o 39 -
Teg B TP forar uTl i w9 wt & orama § ugd wiran o °f @ g Usd & =t dwe I gt
W\?Q

IUYa TR B UgHR 1 Y ¢ UY BT IR Fa15CI
U=H: <Y BT UATgar &7 81 82
1. 9449

2. Fel

3.HS

4. fa8R

Correct Answer :-

23) 34 foAt gfearl o1 amsw & aiftreir o aree wal MY A1 g e g9 wuRaR S9& =i @t a1l
G2 B & ot et fasiy wu & gxi-it sre) form et §, SueT $IRT 98 ? 6 e & U o sl &
STET AT < UT: U8 B8 Y ABIT o A i g2 § Ty -3 o A 39 Y aiver § ara e o,
St aega: f§dl-geTart &1 Srqare gom wvet ot | fadt amev & ifafy ot w9 # 9% U o Srar o1 o) &l
Hdl U, “Th HE AP AR IR o U ¥ I° T8 91d &t A et vafera 8, Sa+it givan A 1811 s9fee
TF¢d TRT GUaI od 4| 916 ¥ g5t ATqd g3 % A g8 umar 98a ot qraeia & SR T%ed = 39 =
TTeg HI Uhs forar uT1 3Afere o9 ot F SRyHy W Ugw War o1 oY 9 EUHR USd & <S=ndf dew e g
w1

I TRITRT Pt UGz H1E U 7Y Uy HT 3T Ja13T]
TR <SR F1 9@ o gim?

1. 3HHSH

2. 3T A PIS T3

3. 3{dd

4, 9HY

Correct Answer :-
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3 Tl gfgar Ff 1 smem & 3iftreir @l a1e” 9d 7Y 91 U9 i3 507 HURaR S9& G=i &1 311 ‘=i
@ & St 981 fa2iy U F gxi-ia arex fora 61 §, SueT oRv 9% § [ Toea & ure o Haft & wirar arat
UT: § U8 BT P GUPA & A fp oxi=medf & aur o3 A 7 399 Ut giver A 91a $Rar o1, S g
fRES1-qgTaR] FT 3rgarg g FHRat A | ot aTeR F SAfafy &1 51a | I T & T4 AT A H51 Bl AT, ‘TH
Ug A TR 3R =1 ¥F D1’ g ara &S & fraht vafera 8, Sawit sivar & w8t gule qwea v
AP 3q A1 91 A ¥ WA gan fF A ag v 9gq it ey § ol wed A 39 o W #Y
T forar o1 sufere sra Sl & arewa ® ug ™ SiTar T Y 3 e Ua @ gxiArdf dee ome gt @

ST TR B Ugdh -4 U T Y HT I 93¢
UL ‘Th Yg AP MUK 3R 50 ¥ 3+ ufda forw wror & Sf@a 82

1.3

2. el
3. 3N
4. &t

Correct Answer :-

25) 3 fant gfgar A1 smyw & siftrasir @ aTeR 9@ Y A1 U i gHe WuRar 39% R @t T
= B § Wt gl ARy ®u  gxi-t a9 fora 38T §, 39S R 98 ? {5 Twed & U w9 wuft |
S| AT Y UT9: @ 98 98 B GuaT &a A b =i ef 8 dme 3re-3s o A 399 Ot aiver & ard o
St aega: fEdl-geTart &1 srgare gom vt At fasdt a1gw & ifafy o w9 # I9F U & Sfrar A1 o) &l
Hd1 YT, ‘TP HE AP AR IR o9 U B 1° 78 a1a fF A et yafera 8, Sa+it sivar o =181 gafe
TF¢d TR GO o | 918 ¥ g3t ATqd g % A g8 umar 950 ot Raeiy § ok 1%ed A 39 =
Tes Y Ups forar uni i wig oft & erqma § ugd wian oT A @ gD UDd ¥ a=i=rdf dew o g
>

SUUT TR Bt UgHR 114 U 7T U4 BT IR T3¢
U= <3ffafr ST e =g «am gRm?

1. FEHH

2. AUy

3. ST

4, Sfady

Correct Answer :-

26) 34 fo=t gigar 1 smew & srftrei=r @i aTer T Y 1 U o gu wuRaR 9% axf @t o
R B & Wil gl ARy wu § gy a1 Rrg 31 §, SUPT SR 9% @ ¥ 1%ed & U g Hult &
SITAT AT < UT: U8 $E Y OB ¢ U o g2 & Fune o3 § A 99 O aier § ara @ A,
St aega: fEd-ueTaR! &1 arqare gom wvet A1 fasdt aTew & iffy B g H I9F U & Srar o1 o Fel
HIAT AT, TP HE AP AMMUAR SR o9 0 41’ 98 91 &t # forait vafea 8, S+t aiven A =161 gwfee
THed WRT G & A1 91g § g AT g i A g ytwr 954 Siffie qraw g § ok Twed A 39 a%i
TTeg Pt Ups forar o1 gafee o $ft § oy & uga Sran o1 @ 9 ) Usd A <<=l dww o gt
W?!
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IUY e TR B Ugdh -9 YD 7T Uy $T 3w ad15U]
W=H: STHAT | 7 AU 82

1. Goped T

2. G

3. @A
4, BB

Correct Answer :-

27) 34 o= gfgal 1 smew & Sif¥reisr @ areR 9 T A1 U R gu wuRaR 99% gk @t s
T2 B § St gl ARy wu F g e Rrg Y1 §, SUeT SR 9% ? i 1%dd & U g put &
STAT AT <1 WT: 9 U8 $E Y GUEIT ¢ 4 G2l € 1y Re-3Re § A 999 WY giver § ara @ o,
St avga: fedl-geTart &1 3raT gonm Hedl At it arer & Sifafy Bt 5@ & I T o T o o FET
H1 AT, TP UG AP IR 3R o9 T D41 78 a1a [ & e vl 8, Sa+t aivar # w81 safeg
THad IRT HESRT od U1 916 # ot AT g9 % TR 95 HToT 95 oiftre geaeid 3 9fiY Toad A 89 &=
T Y Ups forar 41 sufee o Huft & sramg ® ugT ofer U A @ g9 yosd 3 o=t dww enw gt

G ks
ITYE RN H UgHR 1 Y T Uy BT IR Fa1sCI
uy: IRaR AT arad g 2

1. §TH A IS T

2. URAR &I BIGHT

3. URER & &1y

4, fdaR

Correct Answer :-

. ORGR & 91y

28) 3 femil gftal M1 smym & iRt e @l a1ex 9 T A1 TS o g WuRaR 399 g% B S
TR BT | Ol TgT fa2IY w0 | R qTaR 9 Y81 §, SHST SR T8 & [ [¥ea & U oa &t &
ST AT &1 UT: A g B8 Y GADY &a A 5 =i & ey ey o A 399 Rt given & ara o o,
St avga: fEdi-geTart &7 3rare gonm Hwdl At ol arer & ufafy B 5w | 3% U & wiar o @ T
Pl UT, “TPF YE AP AR S8R o0 UF ¥ 1 I8 a1d = § Rraeit i 8, Sa=it aiver o =18t safe
Toed WRT IS &d V1 a1e # Y AT g3 % 98 g8 uren 95 iftre a1y ¢ 3 7oed A 39 axf
Teg Bt Uds forar uTl i w9 st & orama # ugd wian o | @ g9 Usa & =il dew oy gt
T

IuYad TR P UG -1 U 7T U $T 36 9q15¢|
TY: D, T¥¢d U YE-& | (g y1ar § ara Hvar 41
1. 3G

2. d1eT
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3. 30Sh
4. &

Correct Answer :-

20) 3 et BiEal M enyw & arfieiyr @it aTew 9 T &1 U o s wuRaR S9% axf Y ot
T P A it ggl fasiy wu | gt s=raw g 5T §, SHST $1RU 9% § & [¥ed & ure o st &
STAT AT < UT: 9 U8 $E Y OB ¢ U o a2 & Funy o3 § A 90 O e § ara o A,
ot ava: fEd-geTaRt &1 srqare gan wedl 1 fasdt aer & Sifefy &) w9 & I9F urH & Srar o1 o Fer
HAT AT, TH U AP MR SR o9 T 41 I8 91 &t ° forasit vafera 8, S+t aiven o =161 gufee
T¥ad TRT HEERT d 191G # ot AT g9 6 TR 95 WToT 95 oiftre geaeid g oY Tead A S a=i
TTeg Bt UPpS forar 1| gafee o $ft § oy & uga Sran o1 @Y 9 gOa) Usd A <<=l dw o gt
W?!

ST TR I UgH -9 U 7T Y HT 30X 9a13¢)
Y : G BT YT B e

1, SARIRE HIHT

2. &t s

3. 9gd 31 Jxda

4. fag=f wrer

Correct Answer :-

» T4 S TR
30) el T 8 i S
ST TR BT URT GOITT?
Tl R, Fl U, WO
faay g€ 3= € =

TR AR TN R

S G A T feared?
CERCCE R RO

e uractt frrefi

it gt g9 31 BN Pl
ST | WR, TR A TS
g DT o e @e
39 R $iadT T S5 |
ITYT UIRI HY UHR -4 IS TH a1 U= BT IR qa13¢|
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TH: AHS! 1T TATHY Tax-Hax Hol feare! 718 o T6 62
1. U H

2. 3BT H

3.%d |

4, RY

Correct Answer :-

. JugH

Topic:- HINDI (HIN)

1) Geaicn+ forell B RT auUT FHIRY, IqDT HRET R SreaTgal BT quur 2|
SR & mar Hue fraeT 3 -

1. AT R fa=m

2. HieT

3. ggad

4, Jigarg

Correct Answer :-
. T R fa=m
2) RIS Wt & Anr fFas gRT IR ey 82
1. TSI HFBR
2. HATER T St
3. Tl it
4, SR Taa
Correct Answer :-
o digATY Arl
3) TS §1 B&1 W BI5 BT Y AW BT 8 3R 1 R[S 4@ Sl & ol U8 RIgia & -
1. TG &1 Rigid
2. 3[UTd Ud ¥ BT Rigid
3. agfade fafaar &1 Risid
4. 3ITHORUT Td 3 1 Rigia
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Correct Answer :-

- Jufdaes faftrear o1 Righa

4) STgay # A aTd uHl Ft gI P g d Rrdt et €38 wea 7
1. T3 IOReR

2. 3qH ISR

3. Sllaeh ISR

4. I IR

Correct Answer :-

5) FRraror &Y yHTIRITeNt g9 are Arh @ -
1. SWRIad g
2. Pad P-AIS

3. $9d UISIYKAP
4. Had AFTA

Correct Answer :-

. IWRiad gt
6) TRreror fafer o1 UaRT Hd aod I= &1 {6+ J1d] &7 f9=Y &= 341 T1feT 2
1. SIRIad gt
2. Fdd Bicls

3. dad Ffedl
4, I B

Correct Answer :-

. JWIe gl

7) aduyH frd fagm A yica o1a &1 £ wfes &1 <ol g w1 912
1, SIIAEEY Igda]

2. AEHARTI AT

3. Si A
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4. Vg Aip A

Correct Answer :-

. SifadH

8) fu wIfaaTdl B T I GUT I 82
1. IAYTR Yo

2. HERATY 3FTATS

3. Ryava Rig

4, A=A

Correct Answer :-

9) G ¥ fr THR # afai e -
1. S FHt

2. Had gal

3. dHad dr ol

4, Bad favm forg

Correct Answer :-

. JWRIEd g

10) e § U9 & Ul &t saawRi1 & e forn a1 U3 {5y YR &1 U JHE1 S
1, Hrafadq o=

2. SHfGRATId U

3. Remd m=

4, AT O

Correct Answer :-

. AT

11) 98 A H9-1 v Y ares 31 22
1. ¥f& e § @i 3R Weg §1 @ WA g B |
2. 3 ATed W U@ I U BT g
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3. ST e | Ty B GRSl T61 giaitl
4. Y& e & Wit srawgs T8 AT 2l

Correct Answer :-

. YA e § o 3R g € g e g B
12) 3=t USRS & UrTE & -

1. HATHBT

2. B H TSR Il B

3. YT &1 9y g

4, U] UTGhH AT &1 & TUEId g

Correct Answer :-

o IV BT TP BT

13) <@t fpw a7 @uuTem) i dieht B2
1. ufg <t

2. ASRATT

3. Ugrel fgdl

4. i fgl

Correct Answer :-

« g fed

14) Higar Axiiaamor R fafad fAdy few aoft F smm
1. aMfiep g, & Tisfia

2. IR fopet & Feifad =Tl

3. AT g, ¥ TEiod

4, Afgan ¥ wwfa

Correct Answer :-

. rETfors G, o Wi

15) % Joit & Ay 1R 7= SR AifSe R A gwaga e
1. GAYUTHS Fa
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2. fozavuers fRay
3. gUHTHS fRay
4. foaRTE® May

Correct Answer :-

S CEINECAEED)

16) “3ATSIVIY WElew ey 9 UPR & v & ugad glar g2
1. ST U

2. TIR@R® U

3. BE &I 0A

4, oo

Correct Answer :-

« DR U

17) 5 o< & ©: fww TRor & yum AR =Ro7 Idr 9T i gt arvr Ieerar & g 8
1. 3P T

2. WY B¢

3. UIaRT B

4. Bl B<

Correct Answer :-
o ST SE<q

18) YRR & Afckicd B Bawpsu 3R A% 4 g3 N1 I sfoera i anfieig & awme ik
TR TiIs: T TMUTereiE F O A1 A S TR 1Y ST T §HR AT & S A1
3rtEg A SISl IUFTARIaTE St RITUa S § Weraar ugard! At df HRd -+ 39 IufazEarg
¥ [9¥s daTe w9 R 311 T -t Bt et 7 orfide & Fowi o1 wrafia s
T3 | Afe TP 3R IAH TG HEPR AT Al gERY 3R SH BH D oi-1dl & 1Y THigd g4 I
&raan | srafdRiy 371 &% )

ST U= DI UgdR A faT T Uy o1 I«r fafEw:
T A 3T Y ug «3rafdier A T e @2
1. fRef qur

2. TR
3. 3MMSTa
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4. IufAAETg

Correct Answer :-

. TRt o

19) URAR P Afddad ¥ Bapgud i At ud g3 <ft1 I sfoera uRrg enfiig & dwra oiv
BT & URTS 75 MUTerd & TF A1 S 9 R U1 I gHN A10° & Srgardt &1 afg
3fidg A Sl Iufazrareg &t Wit S # Ggrdar ugardt i af HRdw A 39 Sufdzmare
¥ faeg Faive o= dar o1 T ot oIl et o srfide & soc &1 wrafia swa
T2 | gfe TP 3R IH SIS TSP R AT df goRT 3R S BHHR STl & 1Y THIpd g1 B
& | srafaRiy 39 &3 A1

Iuad uiede @) yewr A f U uy +1 S*R fafa:
TR & SR 3fHiwE A $H-91 Fopa fhar un?

1, AT IBHR

2. 39 Srafaviy &

3. 31 A H BahgU ol

4, SUARTATE ! VI 814 H Feradl

Correct Answer :-

. JuMAREre & RIfd g9 B ggradn

20) HRdE & Afeaa ¥ Gapeu R Tl ¥ g3 A1 @ gfaerr uRies enfieie & d=re ok
S P URTS T MuTerie & 7 A1 F S °9- SR SAT9T 9 gHIR 1 & Srqardt A1 afe
rfiee 7 iioh IufaRare &1 T B3 A eradr ugard ft af yRdg A 39 Suf~awmarg
¥ favg Farfve o Jar 911 @ 3 BA-A Rreht o enfieic & sl o1 urafda s
T2 | 9fe T 3R W TSI OEh R AT df gRRT 3R S8 Bd @ Si-Tdl & 1Y TPHIgd g4 i
&HAT| SrfaRIY 399 @5 A1

Swiad uRade &1 Ugdv A 3T T uy &1 I« fof@e:

TR & AR URA A [has [vs daie ol R 3t
1. P &

2. HaH ST 3R ALl &

3. MU YR &

4, JUMATEIG &

Correct Answer :-

. JufavEe &
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YRAR & Afddd 8§ Bapsu- 3R Tt W g3 A1 9 sfagr ulieg srfiig & d=er ofik w1=it
& Wi T MuTerde & YF A1 T S R SR STUAT 9 gHR 14 & At 31 afg snfiee 3
Il Yufrazrare @t wiTfte e # Aeraar ugardt <t @t URawE A 39 Sufazmare ¥ v
FuTive wiite daR 911 3 ot SIA-W Rrerht & epftee & sl @1 wmafia #wa @1 ol e
3R ST TSI TBTR AT <t gt MR I Bhdx o-al & A1 THIPpd giH i &l
3y 3749 B3 A1

Sude U3 31 Tedr A1 2w T uy =1 IR ffdw:
TR T 1 3R e G

1. YR BT St 9oy

2. YRdg BT Hida

3. IR T 3R YRA=

4, TR 3R HRAS

Correct Answer :-

« YRdg B Hid@

22) YRAE & Afdad § Bawrsud iR At U3t g3 4t o gfasr wlrs enfte & = ik
FTRft & Ui W MuTeRic & UF A1 q S ¥R SR AT Td §9R 919 F ardt 1 afeg
3t A 3ol IUMARIATE ST R B # HeTadl ugard At af yRdw 3 39 Sufazmarg
¥ [avs daTive w9 TR 3 T SOt Bt et & orfide & Focl o1 wrafia s
T3 | afg TP 3R IAH SATTHATT TWHR AT Al gkl MR S BH®R o dl & 1Y THigd g DI
&It | SrfaIY 316 &% |

Sua TRy &1 Tgde i 3T U uy &1 S« fof@u:
URAT & AT DI HIF-HI g1 fIRAUATE TG qaTs TS 82
1. MURIE $ g 4

2. dhah s AR AW J R LY

3. Sfidg & 9= &

4, JUMARATE & 055 TS STHIA TaR S

Correct Answer :-

. IHaPHS AR AW Y R ETY

23) T By fHud GRI BT T § AT I A R 79 &0 & fde &1 vaa gan € 3 sl
ot T+ femar St ST B 1!

1. o= e

2. ol e fgad)
3. g YA

4, 81, A=
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Correct Answer :-

- BOIRI TG fgadt

24) T 3= TS U3 § A § & o1=-31 fatuart gt anfge?
1. AP, AAT TR B

2. TSI, Teeadr SR fRigar

3. YT, TATAHS AT 3R daTasar

4. HTT, STEHROT 3R IR

Correct Answer :-

. g, Sgeadr 3R Rryar

25) T gerilery Iud SraRanra & °d S1vs g, 390 19 # A S1H-91 781 872
1. frfer=mems

2. APTHITS

3. geR@IUE
4. AUTYDBIUS

Correct Anéwer :-

« X[qUIAYPTUS

26) = & T Ul § -1 SEPR 72
forg o =ret gt ferg e |
o fag Fru o faftramm
T Rd THa ¥ It |
S It aar 378 SR 1
1. 4T 3P R

2. faHTa SrcdpR

3. 44g SAPR

4, IUHT 3ABR

Correct Answer :-

. fIYmET e R
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27) Wif&® fioafed o1 IR T8 § -
1. Sfcnerd

2. U

3. geAT quiH

4. gepd A

Correct Answer :-

. TF-OREA

28) 3METRe W= W o fora it aiferard 82
1, 3THP HA & g

2. Wgayd fawm & forg

3. G & forw

4, FTE<) Forae & forg

Correct Answer :-
. JeiFfom
29) HTYT fIHTRT BT ZERT AR -

1. g
2. Ye-l
3. SreAr

4, ferg=

Correct Answer :-

30) HTYT R1&0T & Teuie $t avaddl usHdl 8:
1. IO gt

2. HId B DI SHIHA Bl A T

3. a0 BT BT & SR HHSINRIT B A F

4, Spare] FRIGT0T UfshaT ) Hbd d YHIE! S H

Correct Answer :-

. ST g
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31) WO &1 & Srerema & fRgid gRI -
1, Y71 g § o H §5 ST 2
2. 49T A 7 SfRRaAT gl 81

3. Y91 e & Si3E g1t 81
4, Y191 Hra H 31 IHT T B

Correct Answer :-

o TS TR B SH I @ B
32) YIS SgERUIR -

1. 378 A P Tel

2. TRY-YF AUl

3. T 9wl

4, Yo It

Correct Answer :-

. oo AUl

33) HYTPR WG BT o+ 390 A {5 7ia & gaim ur?
1. §ARY

2. SATRIENG

3. HR!

4, AfSAIgR

Correct Answer :-

34) JAUTeH P ford o aTa THIHRUT U5 &1 g S£=9 1 gia1 82
1. Yifed! &1 ufaare &=
2. ITR AN

3. SIdg™ §dMT
4. fogmo= &

Correct Answer :-

Page- 46



35) S= YT BT AT Y B 87
1. SWRYad gt
2. Had gD
3. Haq ferge
4, BT TP

Correct Answer :-

o SWRITT gH

36) faferfaa # 9 U o< & Ud® TR & HH: T AIUI,US HITOL,US IUL,ET avToT, 3R &
% 8ld € 94T 98 9= 9Uil &1 g1l 8-

1. GBI BG
2. Aol &g
3. Rrafoft o<
4, Hiferll &

Correct Answer :-

. HEHI .

37) o ufdeant & @i &1 FTo0 qUT B2
qg 3T,

QP AN P BT gIarar

TY TR 37T |

e s G fraa< ¥ U,

TS 8T APIedl e,

g3t R g Y, @ RreA &1,
Ye Wl qRIvi Fiieht @) Sarar 11
1. e IO

2. 3G 70T

3. UG U1

4. AT TOT
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Correct Answer :-

38) oy ufrdi & S w1 QU 22

S fbfe TR Y | Taa e 99 vy ged g
TE Hed ggit E7et1 T fava faera &% et

1. e 0

2. 31 70T

3. TG 7T

4, AT T[T

Correct Answer :-

. T

39) 1 & ¥ -9 WPR} U7 T UPR 8 32
1. AT

2. URY=

3. Ueeidd

4. O

Correct Answer :-

40) A H A DA PEHIPR 73 Do STaIa § 7ol JoT UT?
1. farfer aaf

2. IG5 1ed

3. 3R

4. SRR YIS

Correct Answer :-

. ORISR NG

41) T & A DI AT UIYT BT dd T8l 82

1. ST SRR et 21

Page- 48



2. YTV &g E gl B

3. HTYT U TaRAT 2|
4. 4TV UftpTees BIt 21

Correct Answer :-

. HTST SRR Bl &

42) g A @ g gerar o1 3 Ty TU A 791 H A BT 82
1, P GET|

2. BRI T AT

3. BIS Pl

4, PIs HU T BT

Correct Answer :-

. HRISEE Tl

43) g W A B9 AEYEY $T VG T8 82
1. HQTHTH

2. TUS UY

3. R0
4. 3RS

Correct Answer :-
. QGUS JaY
a4) Frg ¥ & NifE® eftreafar Hige 8-
1. SURYa gt
2. S Frdfeg
3. B T
4. A UTHOT

Correct Answer :-

. IWRiad gt

45) g ? | S A1 9197, Y IR BT IS0 1 82
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1. 98 US 371 311 g Sil gH- ST T
2. P AP R & Fe Sar wm ol
3. H ST § % 98 el 9 T 5
4, 919 98 AT A T I SIS

Correct Answer :-

. AT R I Ge Sal W ol

46) g A A B A widaeTe Hf Uga U A fveg a1¢ A FPrfor s Q2
1. HCd

2. qgeard

3. %GR

4, 7% - <d

Correct Answer :-

47) Fa @ A o3 FdyeR afta vd Ao Rduer & wu § @t ura 82
1. ST TS Yo

2. 3{TaTd IR UG feadt

3. JEgE SR

4, BREFT IR
T G

- e eIt e fgacl

48) Fafrf@a iR s aTe< 32

8 WHI 31T+ gTdT, T 5o Ifore 1 iy |r gijuli &1, g3 gvd Sifore! |
SR g IRV, §H ISR 94 | TR YHRer®, Sivgd a9+ 11
1. $3A B

2. femre o

3. fifdeT &<

4. A B

Correct Answer :-
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49) W1 B TIH IS TA-13M1 & ETTd G DI UgdI-|
1. TR — Afcid Jgria Sl

2. {FAIT — 2@ it

3. HYHT! — e

4, feacit - IFHH

Correct Answer :-

« TR — Hicid GewIg Srad!

50) ferfifad fawen # ¥ ae<ur A 93 Riewr 3gxa 9a130 2
1. Judad g+t

2. HIc I

3. Had YA

4. B JH TN

Correct Answer :-
. Iudad gt
51) el § @ @19 91 ST S BT T8 82
1. et
2. g
3. IR
4, TFTRI T g
Correct Answer :-
. TATRI T Sad
52) T TaATeil # @ B9 W URag sRera= 31 T8 82
1. T R
2. O Uit
3. T IR

4, T TR
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Correct Answer :-

L] aﬂ-qﬁ

53) “%ﬁﬁaﬂnﬁﬁagﬁ?ﬁ%,ﬁﬂwsnwﬁ@uﬁm%wwﬁw-wﬁmw
FYTE?

1. IRMUT
2. 3T S Yo
3. UHE<
4, 9%

Correct Answer :-

54) Wi Sgdl gRT AHIYT A faemer & ITevr aarge-
1. yrTfersiter fasrrera

2. 5 faermera

3. gAY faemerg

4. e faamera

Correct Answer :-

. TTioRia faemera

55) TMAPWI Yg Sl & gRT fafad «adier fow et & w82
1. TS ey

2. qUHIES ey

3. foaRTcA® e

4, dferd ey

Correct Answer :-

. JUHATES FeY

56) WeTqd! ai & ®rod § fore & & B} welle Haifires wged gu &2
1, Ag® AR FIEd

2. e 3R S
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3. Tifq 3R fpam
4. UPHfa 3R 7

Correct Answer :-

. U SR ae

57) WIfaTE 10 & Te ¥ A o @ F-a1 s It T8 |2

1. TGS} ot 3 Swor &1 Rl fsan g |

2. TTTaTST It = W AT b Jus! bl U1 igareh § M faan g
3. WrTfaaTel Sidr 3 Uepfa & S W BT T st siaarsii # fhar 3|
4, WTfaaTt Swfqat 3 e guref @1 feson fama g1

Correct Answer :-

. TTfaT ol 3 Ul & Hiad ¥4 &1 REon oot wfaarsh J fear g
58) fEdt 3t uRiE FerFIeR dHiger ST SRl 718 7 U1?

1, HHAT SRR

2. STl Oy

3. A USRI

4. JuTcd! A

Correct Answer :-

o olEaTAr Oy

59) W&l [a®ed gHT-

& T HE! T TPl & OF oG ST & WY U T8 FUD U1 I S |
1, MY HTHT

2. TG HIST

3. U YT

4. IISTHTST

Correct Answer :-
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_ wEan $ R U § ufafdd, W ok O Sryd WU B
1. Y19 ad

2. HegAT A

3. 3 da

4. 9 dd

Correct Answer :-

« HIddd
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N PROFESSIONAL EXAMINATION BOARD
@bgmmuon Middle School Teacher Eligibility Test - 2018
9th Mar 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) According to John Dewey, must be experienced by the children in school to make them better citizens. / EIEECiko SR, T B
TRTR 71 & ferg feremmera o ST T FHT ST AfRT |

1. Rules/ oA

2. Discipline / SR

3. Experimental awareness / JTAITT® Sl
4. Democracy / GIGTES

Correct Answer :-

« Democracy / AldcH

2) Find the correct sequence of stages of child development. / TP BT SrawaTaH T UG 8 I HHIg |
1. Infancy, Childhood, Adolescence, Adulthood m, IR GE ﬁﬂlﬂﬂﬁ?ﬂ, m

2. Adulthoed, Adolescence, Childhood, Tnfancy /HigdT, TFSIRTRT, STedTawyT, SIREERIT

3. Infancy, Adolescence, Childhood, Adulthood fﬁﬁﬁﬁ@ﬂ, mﬂmﬂ, CIRIGE ‘;?ET'IT

4. Childhood, Adolescence, Infancy, Adulthood /€TeHId¥, F&:‘sﬁmaw, QI'QTEITER%H, F?f@?ﬂ

Correct Answer :-

+ Infancy, Childhood, Adolescence, Adulthood /LRTATET, ATCHTGR, fHRIRERI, WiegdT

3) _ is major environmental risk factor for poor child development mﬂaaﬁ%%m%ﬁm - WW%W%I
1. Diarrhea / ST

2. HIV / Tg3MTE4t

3. Chickenpox / EEED

4. Diabetes Mellitus / HYHE

Correct Answer :-

.« HIV / Tg3Ed

4) Curative measures of juvenile delinquents are ./ freiR el & SwaRTES Su™ _?I
1. maintaining strict discipline / oI SR §91C TG

2. rehabilitation and correction programmes / ‘a:l'afﬂ 3R WW

3. isolated treatments / GHP JUR

4. rigorous punishments [ HER &8

Correct Answer :-

« rehabilitation and correction programmes / gﬂﬁm 3R ﬁiﬂ?m

5) Which theory encourages private speech, and self-regulation? 1 w11 Risgia Foft wror SR sire-Framer &t wicfea wvar g2
1. Jerome Bruner / GRIH CRES

2. Jean Piaget / i1+ ot

3. Hattie / §21
4. Lev Vygotsky / OF digTIedds!
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Correct Answer :-

« Lev Vygotsky / O aTgTicaa]

6) Which of the following is not an aspect of emotional intelligence? / FafafEa & 3 o1 yeTEe ﬁ'@‘ﬁl’l EaRtEa Tﬁ!ﬁqﬁ %‘.’

1. Expression / Hfireafa

2. Assessment / el
3. Change / gRad
4. Regulation / faf=

Correct Answer ;-

« Change/ giadq

7) The order in which language is acquired is: / a5 oy o urar sffa & st %:

1. Speaking, Hearing, Reading, Writing / @Y, %[0T, 9o+, T@T

2, Hearing, Speaking, Writing, Reading / g0, Y, @, Ue

3. Writing, Reading, Hearing, Speaking / a'@:l, U3, Ydu], Y

4. Hearing, Speaking, Reading, Writing / %a0T, T, U3, T
Correct Answer :-

+ Hearing, Speaking, Reading, Writing / aul, &Y, 9+, a@-

8) The type of education wherein students of disadvantaged groups are taught along with the normal students is called: / AT B & Y-

Y 3T THEl & S @Y & 9 areht fRien w1 yeR e srar
1. Inclusive Education / SHIIRN FRr&f

2. Exclusive Education / 31 f2r&1

3. Special Education / 919 R

4, Integrated Education / W forem

Correct Answer :-

+ Inclusive Education / THTGE frafm

9) The state of being left out of the mainstream system of services is called
BTl Y TSI YUITEt & ST8Y Ve B AT B FHEIOar gl
1. Inclusion / S

2. Universalization / STGHITFHROT

3. Existentialism / 3{fd@dre

4. Marginalization / gpffezor

Correct Answer :-

« Marginalization / qreffao

10) A sculptor needs intelligence to be successful. / W"Iﬁ'ﬂ'\' B AE g & fore

1. Musical / Giflq (qﬁlﬂ)_cfj

2. Spatial / RITF® (&P

3. Interpersonal / RS m
4. Linguistic / T g (Fc‘fmfﬁ)
Correct Answer :-

« Spatial / i @ftge)

IS ¥ namaFareri gl
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11) What skills involve the small museles of the body and hand-eye co-ordination? /

D8 D H IR SR §1Y-3iTE TH-a0 T SIE! ATl At sidl o2
1. Fine motor skills / &P ¥ TiieR B

2. Fine movement skills / 3R ¥ TR ®wRE

3. Gross motor skills / Jehel HIcR el

4. Body-kinesthetic skills / SR ot g

Correct Answer :-

« Fine motor skills / WEII X BT

12) What is the first sounds of meaningless speech that a baby makes called? / 39 H‘fﬁ:f TGO qﬁ?ﬁ wﬁﬁwaﬁ%%’ﬁrﬂwm

1. Babbling / I8d3I6C

2. Telegraphic speech / Tt UTooT
3. Crying / I

4. Syntax / aTFT — fa=arg

Correct Answer :-

+ Babbling / 95d3l6C

13) What prmclplc is being used when a negative stimulus is removed from the environment in order to ensure that a behavior persists? JAC 1

Rysiar &1 SuanT v s 381 8tar § o9 yafarur d it ToRTEe IEI0 S 8T ST 8; 98 IR 9 & R 5 918 sgaer @

1. Positive punishment / §PIAHD UG

2. Positive reinforcement / W‘Eﬁiﬁ'ﬁ
3. Negative punishment / THRIAD qUS

4. Negative reinforcement / T RIS ‘EHEEEFI
Correct Answer :-

+ Negative reinforcement / TR RIHD Eﬁ?ﬁ

14) What was the neutral stimulus in Ivan Pavleov’s famous experiment on classical conditioning? / AN GHTSRF{ (ﬂ?l'lﬁ@_d ﬁﬁ'&ﬁﬂ) mw
FaTe UTaata & Wi v # et RN ([yed wwge) @ A

1. Salivation / TIAAGUT
2. Food / ¥

3. Bell /91

4. Dog / Pl

Correct Answer ;-

« Bell /g

15) In reasoning the association begins with a problem and ends with a Nk qﬁﬁwﬁwmﬁw@m% kiied L'co &
HIY T ST 8|

1. Dream / &1

2, Problem / FHE
3. Solution / THIYT
4. Image / B

Correct Answer -

« Solution / FHIE

16)



In relation to the development of intelligence, the results of twin studies indicate that: / s & ™ & Hau #, Gea1 srwrg=| & uhvorm sfia
XA &

1. Both genetic and environmental factors are important./ &ﬂ@m 3R FraraRiia S FRE W@f%l

2. Neither genetic nor environmental factors are important./ = @l \'*ﬂ@ﬁi@ 3R 7 & IR SRE 'H—ﬁ'au;ﬂf?l

3. Environmental factors are more important than genetic factors./ HIAMRIE &R @& ol T arareavollg sRe s tlaawf%
4. Genetic factors arc more important than environmental factors. / STATGRY FHIH] H1 TaT1 T HdfRF HRS 3105 W i

Correct Answer :-

+ Both genetic and environmental factors are important./ HTIAIRIG R TERUNT G SRS He@qUi ¢

17) How has Pavlov’s theory on classical conditioning influenced the research on behavior management in schools today? / R RG]

FErf) W araeita & Riegia A adar  fygradl § sraer yde W e &) 5w wer wifaa fear g2

1. Teachers remain composed, keep things in perspective and get back to the main task of teaching. / R/ T Fva g, disi 7 Tefie ofwe F v
T 3R o & g1 H1 W a9 3 ¢

2. Teachers notice every little thing going on in the classroom. / fRrares o1 Ham H 3.1 TEﬂ 53 @ﬁ—ﬁ?ﬁ ATdl UL &1 &A1 ?:IT%QI
3. Teachers have clear lesson goals and make proper use of group work./ Rt 3 U TWE UTS 9ed §ial § IR Eﬂ{s’ﬂﬁﬁ S ST Hd g1

4. Teachers make children aware of what good behavior is and provide rewards for this. Teachers also use punishments to discourage negative behavior. /
TR1&fep ERI el b1 AReep pRe1l A1feU [ 3] SAaeR 41 8 SR 3P (U I <1 AMfeu| Riefb gR1 RIS SHaeR Pl gaicaliod S
& fag s it TR

Correct Answer :-

« Teachers make children aware of what good behavior is and provide rewards for this. Teachers also use punishments o discourage negative behavior. /
TRrefep R =] 1 SR 11 ST (o 3] TaeR 1 ¢ SR 39 U IeTe- &A1 TRy | RI&P gR PRI SHaeR $I galciied B
& Ry gs i g afRul

18) Children typically feel emotions related to fear when they have: / G& STHAIR UR BY & Tl HTameil o Hegd Fd & O S0 [
gae:

1. Bi-polar disorder / TE-OeR fEHsfiee

2. ADHD / USIT=S!

3. Autism / 3fffeeq

4. Anxiety disorder /fear (QGH?,T:’D fewmaiisy
Correct Answer :-

« Anxiety disorder / FFIaT (T=TTgeh) fEwaiidR

19) Childhood becomes a central factor for the behavior as adults, according to approach. / m% SUR, TR S
U H UagR $ RIY 990 Us $EU dRS o ST 2

1. Sociocultural / THN mﬁiﬁ‘ﬁ?
2. Humanistic / HFEEE}

3. Psychoanalytic / EEIEEGEW
4. Behavioral / SAEBIRG

Correct Answer :-

« Psychoanalytic / TATRETSOT

20) Some children are able to process more when information is presented visually. This refers to their A Wﬁ'ﬁa’ st ufrmr s o

Herm 31 & oig e e A s wga S e Bl agsae_ o Helila wear 21
1. Preferences / TTFecait

2. Ideas / ToEIRT

3. Interests / ST}

4. Leaming styles / o e

Correct Answer :-
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+ Leaming styles / 3{ferT St

21) Who is the central focus for an individual to get guidance in school? / TrEITera & AT wra w= & Ry et wafea &1 g1 wm Sea
BI) b W g afzd?

1. Friends/ GIRa
2. Parents/ HTI-{Uam

3. Neighbors/ TS ITraf

4. Oneself / ¥4

Correct Answer :-

+ Oneself/ &Y

22) Who proposed the Bobo doll experiment? / @ra T waimT fbwy weanfaa fosam um?

1. Bandura / SUGA
2. Erikson / URGHT
3. Pavlov / O1dEIG

4. Vygotsky / AT

Correct Answer -

« Bandura / ST

23) Who believed that teachers should teach by appealing to students’ natural instincts to investigate & create? / I arTan o7 o Rraret &R
B B e 3R T A wdtor A & R 99 wrpfaw wgfy sy iRe

1. Jean Piaget/ ST ot
2. Jean Lave/ S @19

3. John Flarell/ S thd
4. John Dewey/ S §g
Correct Answer :-

+ John Dewey/ \_l'ﬁ':fﬁﬁ

24) In Maslow’s Hierarchy of Needs the top level need is known as: / AT & SaXgdar USrwH #, U srawn & smaxgedr ot
e =9 3 ST ST R

1. Efficiency needs / Q&[T 3TaSIEl (31 H0e] 11g)
2. Growth needs / [9&TY Sflagadl @RI ?ﬁ?ﬁ)

3. Important needs / usaquf HARTH (SHie ﬂm
4. Deficiency needs / < a2 dl (FSTRRIE igw)
Correct Answer :-

« Growth needs / [ATH 3aadsar (Y -igH)

25) How do parents assist in gender stereotyping? / Hrar-fiar, m@ﬁ?ﬂ?ﬁﬁﬂ H S gergar v 82

1. Childhood peer groups are segregated along gender lines, / FFY & YTl WHE! &1 fév1 wrg~a & fewma 9 sremn TS g1

2. Schools emphasize different academic subjects for male and female students. / ¥pd, T2 IR afer wE & foy fafte Qefre i w sk 3d 81
3. Parents place their children in gender-specific schools. / Trer-far e F=i ﬁﬁm-mmﬁm%l

4. Parents force children to follow traditional gender roles. /wﬁma?cﬁﬁumﬁwfm @Wﬂ-ﬁﬁl mmﬁ%%ummmﬁ%l

Correct Answer -

+ Parents force children to follow traditional gender roles. / HIcT-fqr a=d| @ uRufies feim @aﬂ&ﬁ @l &a’wm%mmm CrGEd|

26)
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Who proposed the concept of a language acquisition device, found universally in all children? / W3t a=at # Wrdifie wu & urft & arelt Hmar
3 wfaftr (Saw ufefomm f3ama) Ft eryrRo 5 wega #1?

1. Jean Piaget /i o

2. B.F. Skinner / §1.U% &P

3. EL. Thorndike / 3. U4, YT813%
4. Noam Chomsky / e e

Correct Answer :-

« Noam Chomsky / e T

27) What is the term used to describe the gradual stopping of the relationship between a conditioned stimulus and a conditioned response? / aa’aﬁm JEw 3R

gafia argfirar & dta Way & wive sevma o1 avl w33 & R g wreg @1 g fsar aman @2
1. Reinforcement schedule / TTEEH TG

2. Punishment / 8
3. Shaping J FrequiEitm)
4. Extinction / fadiig

Correct Answer :-

+ Extinetion / fa@ig

28) The most important characteristic in differentiating a child with a special need is: / q’ﬁ‘iﬁ!ﬂﬂ' SATATAHAT aTS T DI ST B ATl Tadd

ﬂﬁ!"fmﬂmé:

1. Face problem in completing his homework / fSR& MEW[W) TRT H | GHE BT AT S Sl 8|
2. Has abilities different from an average child / ﬁ!‘fﬂﬁ'ﬁméhﬂﬁﬂ?ﬁf ﬁﬁﬂéﬁl%l

3. Has poor relationships with peers / o8& Tfgi & Yy T Tele gl

4. Does not perform well in academics / 'Qan_c':'lﬂ # arey1 UgA qﬁaﬂ?ﬂ %I

Correct Answer ;-

« Has abilities different from an average child / STI®! & sire s=t § A gl €1

29) The rules of presenting the contents to make them easy are called:

1 T Y SR A & FT TRga 931 & sl Y ST W 8:
1. Method of teaching / R1&rur 1 fafer

2. Teaching strategies / RI&0T uifort

3. Maxims of teaching / TRraqor &> el

4. Techniques of teaching / g qa-is

Correct Answer ;-

« Maxims of teaching / TRI&I0T & qF

30) The term cerebral Palsy was introduced and popularized by ____. / TTsg WIS SMTHT (F05@ WIGl) B ___ FRT IR 3R S o gy
1. Gardner / MER

2. Piaget / TU0TS!

3. Dr. William John Little / 3. faftras st fifear

4. Sir William Osler / R faferaH SR

Correct Answer :-

+ Sir William Osler / TR faferaq siger

Topic:- General Hindi (LLGH)

1) qHE WA TS,

Page- 6



Mg e,

TF 1A oig o,

Tl W, [T A, W A,

sfErgy sy sy

1 b P,

T Yy Ff,

FAgm N,

Y YY, Y YIY, HT GY,

sfirgy arfiray aiffmy

TEFHIWE,

TAE AT E,

Y W TR Y,

TUGY FYGY TYYY,

gy aifiroy sy

IUGRI T T YGHT A IR T I BT S gagel
U "UF UF Big U 19 va g6 i &1 erww w®m &2
L3 ATE Tl

2. AN GaRA HT UG H

3. ¥1g ¥ % i e 9 e Y

4. ot 9 T R 781 e e

Correct Answer :-

. ot ) U Y WP T8 HLT ARy

2) gl v @y,
gEas,

A sE A,

wf Ha, A T, @AY,
gy sy afdme
Ty Ed,

Ty Had,
FAGIM R,

FN AYY, T [IY, FX 0,
ifirgy ¥y aifime

T HFH TS,
TACIATHE,

313 wg T A,

YUY TUAY TUdY,
sy sy sl
IU Ui B Uy J1 U Y WL ®1 3w qaTstl
UT: B IR-GR U1 61 Feal 2, ‘Y AUY, B WqGY, T UYL’
1. Hehedg g4 & ferg

2. 5T A T8T

3. e B A G 9F

4. T T GeHe = oY

Correct Answer :-

« HaeTds o & e

3) g E WA @S,
fiTEas,
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TF v Big W,

o, Wi v, W e,

¥y oy sy

Ty,

T yAm

FAgSm L,

R Y, B Y, FT Y,

ifira aifiraxr sifirqa

TEAEA TS,

ECEGE RS

Y W T,

TUGY FUTY FYTY,

sifiray aifiraw sifirau

FUYE T B Tedy ATE U T W 1 IR qdsl
U FHEE 5 IR iR o afda o1 S ot R v R aar
1. Jufad @t

2. Haq AT

3. had L YUY

4, Bad aygy

Correct Answer :-

« g it

4) QUE WA TES,
FoEas,

Tl

W 7, /T 6, W99,
gy aifdrry s
Ty,

T ymwe,
TR,

T WU, HY MUY, FHY Y,
3y sy aifiu

T HFH TR,

T ATAE,

31y g T F,
TUYTY YUY TUdY,

siRray sifroy sifima
JUYF Ui @Y Uy H O Y WEH &1 3w adgil
W 3 Bidar § aR-aR T Ueg fuy s gy
L

2. Wi

3.98

4, 3EFR

Correct Answer :-

« udie

5) ge s v @,
suEag,
TH T TiE R,
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Wi A, | 5, AT A,

gy sy affma

T yFm e,

A yAm P,

FAgemFaf,

HYTIY, B AIY, F WY,

ity arfry sy

TEHEHATAE,

T ATAE,

3y S T,

TYTY YTy TTYdY,

ity sy sy

IR TRIT Y U A TR T WL o7 3w qaTgul
U S SIAAT BT YA TT 87

1. Ifa wuit v

2. $aq F6 b BiSAGR A W a5 1 %%, 1LP

3. %o T8 T S R A T ofda s @

4. o ot for ookt TA-R ST IR F ae Wi Te @

Correct Answer :-

« ude 9t g

6) GaEl HA WS,
s,

T BlE A,

i v, Wi e, W,
sifirgy af¥aey siftrgu

A yFmH,

Ty wedt,

A g,

T R, FY ATY, FY TM9Y,
aifiray sy aifirmy

g TEH T,
TAWRAIAE,

Y g T,

YUY YUY FUTY,
aifirau s s
IUYa Ui B Ugem A1t U Y 0 1 Swi aargul
W IO e & uA & fog sifsh St e g R Agw B sl A e w2
1. B YUY, F YUY

2. LAy s

3. A gem et

4. g s @t

Correct Answer ;-
o QAU EL

7) qaEl v @3,
gmgas,

Tw A e W,

ofT e, i v, Wi e,
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SRy SRy sy
Ty,

Ty weh,
FAgm R,

FY WY, T WYY, FT AUY,
afiray arffry arffraa

T HEH T R,

T AT E,

¥y WE T,

TYTY FUUY FUUY,

sy sy sy
IUYF Ui B Uedy 1Y I 7Y UL &1 I qdrst]

WEH: AU HiE B ok dgar §U AgW & Bid A frw T @ auny wEr R

1. Saa @
2. Shad 3y
3, Fad W
4. H9d Wa

Correct Answer :-

« g @

8) g vA TS,
gaeras,

e A ol o,

W |, |, AT,
Hf3ray aiffraz sl

T yrm i,

A T,
FAEIMFR,

H ATY, BT WY, FI WG,
gy sy afim
THEATHE,
TA/IAIAE,

Y T T E,

TYTY TUTY FUTY,

sfiray aiffraw s
IU T B UgwT AR O T W @1 Sw 9argl
T Sita § o Sio W arar § o) feaa whan gt 22
1L FHASE T

2. fredt 1 7T

3. fardt o =t

4. fopedt wfaa @it

Correct Answer ;-
. ot st

9) e E WA WS,
soeas,

Tw A slE

Wi A, | wE, AT A,
Sifdray sy sifdray
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A v,

Ty,

FAIM R,

B TTY, F Y, FT Y,

if3rga g s

TWAEHTEE,

TAEIAIAE,

g ¥ T 9,

YT TUTY TUTY,

aifiray afdray sl

IUYE Uei¥ @I UgmT A1 U T W o1 Sw aaTgul

W e 7a oita & ST ER @ IO oY I8 F1 S aifee?
1. BT a1 A1 =R

2. I &1 avg RR g aifgul

3. et & A 1 TER el B F1MoT SfR S I TR 94 @ dlfeu|
4. GG ) oreftel B Tifgal

Correct Answer :-

10) U @Y,
fmdag,

LELE R

o o, Wi O, W e,
iy arfiray aifdm
Ty,

T i,
FAgEmFh,

HR Y, T NGY, B Y,
gy arfra affrmy
TFAEE TS,
TR,

YA TR,

TUGY FUTY FUTY,

Hfirgy sy sy
Iy T FY UgHT A TS T W 1 Iw) 9a1gul
e et oy Y <fet S S e W ugar Wl 82
1. §S THIl 31 AGg

2. T¢ IO

3. feielt <1 wgTE

4. ST @R

Correct Answer :-

« T Trfd

11) JaIE WA T3,

g gas,

T T Bie i,

o o, Wi ua, Wi e,
w3y aifiay sy
T g,
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TA AT EA,

FAgIMFR,

H UY, I WY, BT Y,

Hf¥ray arfira aifdma

TG HEA T R,

TATEATAL,

3y e T E,

TYGY FUTY FAGY,

Hfirgy aiffray s

ITY Ui B UgHT A O T 7 &1 Sw 9argl
e g8 8 M e, 1 1A, § 9,  ofd &1 dba fhg el
1. 93 3R 99 gege

2. ad & O ST

fmadasds

4. TifGa=ITelt SR W wrT

Correct Answer :-

. ifdere ok wgg A

12) JHEIR TS,

e,

e,

ifirqy sif¥ray aifirge

T wm e,

g ym e,

gAgem P,

T Y, FI Y, FY MY,

gy sy afdme

TE AT 8,

FEEAIAE,

3y v VR H,

TYTY FYTY FYTY,

ifirgy ¥y aifime

IUE TR F U} 1 IR Y WY &1 I qagl
o g A wim e, g A gRm e sy s wear
1. ag S gar g |

2. Yl A e aRfRufd @ @i sxar g

3. Afera @ g SH Tl o

4. T 1Y G &I 81

Correct Answer -

+ UERE T i uRfRufrdt & e g 31

13) JHE WA TS,
fmgag,
s slE

Wi wa, | wa, AT A,
sfiray arfiraw aifdrae
Ay,

A M P,
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qAgem wad,

T AYY, T Y, T 0,

ey aifray sy

TG WG T3,

TAFMATER,

Y T T,

TYTY FYTY FYTY,

fingy arfdray st

ITY U F1 UgHT A IS MY W &1 IR Fagl
o g A b m ey S A frd werdr
1. BI-BIE dTad B

2. 3 o 1

R G o

4. T et 1

Correct Answer :-

. Gt s

14) qUE WA TS,

e,

TE Tl ol

T o, Wi O, W e,

sifiray ey afdmy

T g E,

G R e,

gAgSmER,

TN AYY, T WY, T TG,

¥y aifiray sy

TWAEATER,

T AT R,

Y g T F,

HYTY TYTY TYTY,

3y sy aifiu

I Ui 1 Ue? i O 0 W &1 3w dagy]
TH: TE MEH T ¢ FT N I I fPucm R A sa §?
1. SIS T8l

2. 3% 1 9y Hige A g

3. fl ot i Higd T &

4. B T F S0t Afore B SRR €1 31

Correct Answer :-

o OfSH IR ST AR B SRR € @

15) e =S,
foadas,

pLabe bk

o e, wi wa, Wi e,
aifiry s aifiray |
Ty,

A R,
FAgEmFh,

Page- 13



T RYY, B Y, TR G,

STy sy s

WA TAE,

T AT,

HY WG I E,

TAYTY FUTY TYTY,

sifirgy ¥y sifirme

ITfe TaT By JE O Y W % I gagt]
e e 3 ufi vy frad wdlte e wa e @
1. o IR # e et g1

2. FH AT el

3. Wfigwt & BfdT R &t

4. 3iff & Ty B

Correct Answer :-

. ofigd B afzaen st

16) F €9 @A €, Toa Yud ¥ gH A IR B 9P @R €, g W g g @1 A a1 a1 qenae auamar{a% Ye€ IR A1 G 2 A1 T WR W A
nm*quﬁwma{mﬂml&ﬂ.&fnﬁmﬁnmlmmmﬁ@m%ﬁﬁﬁﬁﬁﬂg&ﬁ SR, Ble-eT, U-vel - T A ge g IR i -
THP! 1T BT PIGET 16 1 U & uST &7 1 Suwiish, A guwmsit, g guomai farT otd on 18 &, anr Iure o v € - g & R YU era - v war § Rrafeai
A veT 1 YR Y amawgsar A A gRiat #1 wE w1 § ST 19 €, 991 v 71 g, T S 9y a1 el @ - AE 9% Uy ofR W # J 3w A 6y
AT FAT1 T A A WG T T o I IRR B AGRgHarsi] 0 AR gt o1 axsite 411 981 T8, 78 Swe! o Bia-aid 9% 7t 6 79 off u of e
gﬁmmﬁzﬁ[mmmﬂﬁﬁﬁnmaﬂaﬁmﬁﬁﬁﬂﬁaﬁmaﬂ?aﬁﬁﬁﬁwwqﬁzﬁrmﬁaﬁm , T B 96 161 gl Iw! WIel ST a
mﬁmqm?g %;@ﬁm%ﬁqmﬁmﬁmﬁwwwmmwwmmmHa:m%smmﬁaﬂﬁamum  IRH TS e d
1

T BT HTET-Y00 UIET g¥ §ar, wwmﬂﬁmgm%ﬁm#élﬁrwﬂzwaﬂmqmﬁﬁwwaﬁmﬁmﬂ afer T g iR gen, 3w #t wrferar |,
I IS B I T Fiarch g el @, yudt o an.an e 9el-as Sl ! HEH T 99 a1d SUS 99 983U $iY BT IR $8 & a8
WHT TE g1 B TF A A THE FA-AN BT A S8 & g arer R, gy 3 9gd geu &) Wt gt 0 A fgan Ame e | e o v AR g, gen
BT FHI IR 7S F1 Had ST | U B 9F SUST U SR AH FHHR van & 81 ¢ R A 98 Wl a7 @1 gen, e 3 39% 12 W fem & v
HE P srraaTar o4 2, b ouet 9w 78 & 7E W R wma w3 o

IUYF TR HT USHR =it T T W BT I 9agy|

T IR B sravadar A e d S wd 4 H T ve g
LIE I

2. HaATUH

3. WY gfet

4. 9g 7y

Correct Answer :-

- ARy gfedl

17) 1 enE@ €, TaE da §l w AR A R i g, mﬂmaﬁmélﬂgaﬁmm B R e § - T I U1 g g 11 O TR W g
IR ST HI et U ST, 9 S | g{em, eqr, o, frarem = @, wan firge w7 % et &1 P, 36 5 gos, Se-ue, uyueh - $o A ge mr g 1 -
IHD| 1@ B BIGET 3ol T U gzqaévﬂ'gmaﬁ g Suemall, 7F Susna: AgF A IR &, maﬁn'gm?%% ﬂﬂ'ﬂfﬁ‘mﬁi‘mm Wit wrar 7 Rrafial
A T1 1 TR Tt S I AR gt 1 Sl 1 3 19 TR |, 26T IR €1 g, R o WY O1 Ut @Y - AE 9% U ok W I F Si? Wiea Bt
TG TN TErE = W A 79 997 59 39 IR 6 sraxgearsil uv " gt 1 aveite 4 ot e, o Suet Y@ Eie-ui ¥ w4 a9 ot guet o
e Wt off | IweT wum wita e, e swet it i o sea ok awet A dia.ge v O upelt ot Aret, | € 98 qw e gen, 3 we @ aam
EIet S 3! Wi Y 7T Rt | Aot urA & g oie a8 Siuet e § UHaR &1 U ST we UR S%1 Wl T8 4T, 99 39 0U-5U & I dTd UH, R SIS taE |
IHA ST €GN 7S, 9%t o FE)
T T HTA-GO TSI g §T, muﬁmﬁmg&nﬁrﬁrﬂﬁqqﬂﬁ?mﬁzwﬁmmqmﬁﬁaﬁﬂgﬁmm afer a8 e faiR gen, 3u 3t anferm |,
mﬁmaﬁmﬁ T Y fed giaTel g Revon @, gult W wH.aw B wel-we AR ¥ AT ¥ O 9Ied IHS a9 9 T B BT oY 5 &t 98
8t g | ST Wigd-aiY 3 3% 7R B AT S B RIT aTaR 5, $RuTe A S g of + gmuadt i A ¥ Ran sreadk d fe st TR R, weg
TS &1 Hed S | U & avE IuET 0e 3R W wamieR et § A €1 R 2 g W a1 w1 gen, ue A 56 e w food #t diaon #
ﬁgaﬂmaﬂémmﬁmw%ﬂﬁwﬁmmmﬁaﬁl

I TRIT BT UGHR 1 T T U BT IR aAsg|
WH: TG e Gt U ST o 91 AT e
1.7

2. 9

3. d@idt

4.4@

Correct Answer :-
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< g

18) T &9 W §, Toma ¥ §1 vw & <R o ufe SR , g @ W g g 81 AE ag7 a1 qara? 56 0 969 § - I IHR 91 9 A 91 IR IR W J9
ummanmqﬁ’rwmwﬁwm;{m e, foraran, e s @, w4 fge A & W= S P, gall w1 geriT, Fe-gd, og-ue - PO TGS MY I 1E -
TED! 1T BT BTG TS T W e g1 8? ﬂgmaﬁggmeﬁﬁﬁmaﬁ 1 BT Wi o ¥R &, a‘mm%mv%%‘ g & forg | SamT e - w& warh A Reafear
@ Y1 81 TR Pt aragmear 3wl ghat o STe T &, ST Yol ¢ by, U o WY 01 Uty @Y - A 9 U] ok Wi # @ afy? Wiea Bt
uﬂamw#'nﬁawawmmmﬁ?aﬁm@ﬂwmmﬁmﬁlwqﬁmmq@@aaﬁﬁmtﬁaﬁmmaﬁ‘@
gawaﬁtﬁ[awmwﬂﬂﬁmm , o7 @ HIHTTAT T B e o Teet § di-ge 18 O | el & aney, et € 98 9o T8 gon, 6! §re 1 g
wﬁmﬂm%@ |Wﬁﬂqﬂﬁ%ﬁmwwm=ﬂ=rﬁﬁwaﬂwwwwemwmmmaﬂ%wwﬁmﬁmw,mﬁ@ﬁ'wﬂ

I T PIAL-GH U] g¥ §T, 79 g Sosdied g Rt gwifery =181 & org Ue-qun #1 wfiv et & 39 wgleraa fEeh, afes a8 amie-fEniv gan, 3ur o anfermr =1,
mﬁmaﬁmﬁ I YEBfed FiaTel e Ao @, gl W an-an S aa-a AS A AR ¥ 9F 99w IAS 99 S AU S $7 iy H 8t 98
a‘%amaq%aﬂzﬁahﬁmmﬂ?ﬁﬂmaﬂﬁmmm | ST A I wed B i g v A T R e sk d e e R R, gew
wiEres o1 Tad S | uel o avg S 9e SR wHE iR v 7 A8 &) R A o 9 a1 gen, we A 96 e w fea Ft deo @
ﬁﬁmwﬁ.mmww%ﬂiwﬁmmmaﬁl

I T B UGS S I 1Y WA B I} aaqigy|
UT: W1E & 7 fa a2

1.8

PRIGICE

3 EA

4. HTa A

Correct Answer :-

T

19) ¥ o0 @A ¥, T U9 81 T A IWR S gy @ g, mﬁmm@m%lﬂgmm snmamﬂ%‘ Y TR 91 9 A O TR IR W §E
T W G Gdt R ST, 4@ S| g1, e, Rrar, fraran @ @, w e 11;:31 TR, Ple-ga, vg-ueh - 7O T ge IR E -
FaP @ mmmﬂﬁwww%ﬂﬂgmﬁﬁmﬁﬁﬁmaﬁ ﬂamaﬁwz%% amawrr%mv%% g & for | e e . 4 warh & Rt
< Tg1 81 TR & a1 A AR ghat 3 T v §, 7 v §1 fibg, TR et X O T @ig - A 9 g SR Aea 3 @ S o o
TG ST @ 3t 7FE 7Y 99 997 99 38 IHN 1 Aamaarel I AHEis it 1 awelie 4 98 18, o9 Sus 1 Tia-Eia $T w1 A 99 ot sue offd
Trema W&t ff | gwet wum wita P, o swest sl 1 @ se ok Tt A daoge v O | uxpell B A, T € o g el g, S e o g
2t 3T I 1 & g Ed | ol v & e o @8 aoet ATa § UdaR $1 UE e wd U ST §ll 18T U, 79 S9% SU-8 Y # I ard Ui, A S aig @
I ATt € et aTE, guit aftamn

I BT FTA-Y0 URET g¥ §aiT, 74 a5 geoaten go Rk ot -t fF o deyon ot aftr e # 58 wgltna freeht, afes a8 smig-fndie gan, o &t enferm 9,
I G B T T FraTelt gl fevoit &, gt ox Ty SR werast SR B AT # W9 aIee 9HS a9 I o0l $Y ST 8 w6 98
W 61 g STF e A I TR BT AT I+ & o1 9T i, seRey A 30 geu &1 Wt gt o A o i mre i | O o wm R g, wen
B HUN 3 AFETes &1 vad HUv | g3l &t avg e U X are WA e 3 T8 81 Rra 27 95 98 e et gen, o 3 3w te w fiea o digon
g ) araxaear o9 ¢, frg Tue! Teer i @ O W fawg e e #

IR T T UgHT A U T WA H1 I FaRY|

U U Aa # Rt U e A1 38T S ¥ET uT?
1. GAaR T

2. AR &I

3, TR P

4. fafggia

Correct Answer =

« UadR @l

20) T &9 W §, Tae Ed §1 ¢ @ TR A 9l @R §, GO D W 9 g 81 E 957 91 TarE? 59 I 96 § - I SRR 91 9 A9 91 I IR W g9
HITRT? W7 A et R ST, 33 W | g1e, g, firaren, frarem @ar @, w1 firg 1 & vl 1 e, gl & egin, Se-udt, ug-uelt - 5 9 ge e 1 -
FHD! YT BT BIGET 316l 1 U gE UsT &7 I gueriad, A guwmsh, g guwma far oty on 1@ &, arr gone wr 2 € - g & forg 1 Sunr ere - v v § Rrafeat
@ Y1 1 TN & nammea A WA gt 1 S F1H 7 19 T €, 761 Y ¢ g, 9 e oY 91 U @I - AF 99 Uy SR W 7 F SfR? WEd
WG FT9T T 7 Ad AT 99 997 99 309 INR ot sragdarsil w8 aafhe gt & vl 3 adt =18l o owet @ Wie-ala $2 T8t 4 ag off st e
gawaﬂzﬂlmumwﬂaﬁmmwaﬁaﬁﬁﬁﬂﬁﬁmeﬁwﬁﬁﬁwwﬁ:ﬂ:wﬁaﬁw | @Y €1 9 G 8] g1, I Wrel &1 g
3 It i Y T qRE) | Ao AR & g o 98 iU H1e H YaaR $1 U eie] s UX 981 78] U1, 79 39S U-0Y § 3§ °1d U], iR ure 1
I ATt & T e, A o )
I 1 HTEA-Y0 ST g3 G, 79 9¢ Seoaiiid g1 Rk FHfeg 161 fob orF te-yen &1 it eq § 3¢ ugfuga fient, afes 9 sme-fandiv gan, 3ur <t arfem 9,
mﬁmaﬁ:ﬁ I, ywpied Fiaret g el @, gult @ a0-an S aa-ael Se @ ST § O 91ed IHS 99 S8 AU P ST iy Her 8t 98
7Y o | I Wil dly A I 7A-AR B A S ¥ Rig e R, gy A sud gea s Ff gueudt i F i fRan ara-adv F 9w v R R, wew
TiEws &1 Had S| USH & avE I i ofk WIAH iR Y 1 8 ¥ e A a8 W9 9wt @t gan, uy 7 39 U w e 3 v it
ﬂgaﬂamaﬁ%,ﬁﬁmﬂm!ﬁ%ﬂﬁwﬁﬂﬂmmﬁaﬁl

IUY T B TGHE = I 7Y WA BT Fe] aaig gl
T g SR AT S WIE & R SSe s B2
LFHAFE T

2.7iiq 3R ER
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3. ¥4 3R forer
4. @9 SR EE

Correct Answer :-

« Gd R EN

21) 7§ o9 @4 §, 19 §ud &1 v & s < o @ 8, g R uew g g 1 Af @gr @ T 1 e § - 7 R 91 W e 91 7% IR W §w
IR W W Gt O ST, @ Qv | gran, git, R, froran war@ne, war e |1 $ we o q&h\ﬁsrassﬂﬂ P, ugg-vaft - qu}zmz—a'ﬂs
THH Y FT S mﬁé’wg‘em%ﬁﬁm&h g e, F suensh: AgF ia s v &, AT SR o TR E - 1 & g1 Fuw1 e - wd s § Rafsat
@ 31 81 TN S e I WHRE gRrdt 1 el 14 7 19 T 8, 76T Y €1 g, 9 e oY 01 ueTe WY - A 99 U ofR Wa # # SR WAd Bt
AT ST @19 ! WG A 7" 991 9" 39 RRIT 91 sasadart u e gt 1 avoits & ¢l =1, o Ut off| Wie-wia ¥ vl 9 a9 o gaet eifd

e W& ff | gaer nun ita e, T swet siftfal 1 o ewa o Teet A feage @ | vgel @ arey, ek 8 7 99 T8 gen, ST | & g
a‘laaﬁ'\'aqaﬂ%ﬁ'naﬂm | Trwelt AR & e o 98 e e o Uaa 61 UG e Wil U) 981 91 38T U, 99 9% 9U-90 # 39 9Td U], RM sIS 1 d
o Wt §t T e, asit aft 7

A BT FTALYU TR gX §3iT, 79 78 Jeoats gan Rk gafee 71dt f¥ o Y-y ot aftrn e # 3§ wgleme frenht, afes 9g sme- i gan, oo 3t enfm 9,
I I B L W m‘sﬁﬁ%mﬂ IR TH-IH B TE-TE SIS A STHAT H ST AT S90S 99 I7H o FiY BT o wd i 9w
WE T8 gt IS A IHE TA-HR BT AT S+ & e e i, g A 39d geu o1 it gt i & i i amaanie | e o e i g, gen
BT FW I 0TS &7 gad S| ugsi & avE SuST Ue S 7w wAHR v § w8 ¥ o 2 g il avee @t gen, urE A 99$ e W e & oot
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3. Jaifeaan ok yRa=

4, TR IR YRS

Correct Answer :-
« YRGG B PBiod

22) mﬁmﬁmmmuﬁgﬁmuammma;mmwa;mmmmam TR
ST e BRI WY & At 31 ol enfteg A sl Sufdrere o wifta w33 A weraar vgart &t wRdE 3 59 Sl & s
ey ol S o A SRt B Rl  anfieie & podl w1 wrafie $a @1 afd e iR I ST TR ot /Y gt ol 3 e
ST & AT UHIpd §14 B &dT | sffaRiy 399 &% g

Iudad ufde & ugse R fou e uy o1 I fafam
e e 9 8 Rt e g TE
1. T & g

2. 3%d5g AR FRA G R gy

3. SiHidE & 99 &

4. JUHAYETR & (%5 FONE S dOR B

Correct Answer :-

. dpars AR TR A U gL Y

23) g HY [Hud GRT BT & - g A 1 =117 & & iy &1 wrarer gan € 3 safdy &t wandi= R # suw 21
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1. fowd= waw

2. §OIN) WE (el
3. HER Gord

4. 3L A%

Correct Answer ;-

. TOINI TS fgad

24) T ared WA U A P § @ St et €0 ke
1. TS, TS IR Fad

2. ey, Tgeaar iR R

3, (0T, Tl R FFRar

4. TS, SR 7] gIfRran

Correct Answer :-

« o, Tgaadr 2R Ry

25) Tearf geitegra YR amaivaara # e #s €, s e § & sl ad @
1. g

2. AHPIVS

3. YHIUS

4, VAUGYHITS

Correct Answer :-

« Y[@UQyHIvg

26) =2 & 17E U F S IEFR B2
fawaag g e

= R e o Al A

ST Tga e T |t |

g et asarag ikt 1|

1. dieHT afeipR

2. faymE PR

3. 428 SR

4. GUAT SR

Correct Answer ;-

« QumaT oieR

27) W@ sifireafdr o1 g e € -
1. 3fcmerd

2. WS

3. e ol

4. eI

Correct Answer :-

« TAEEA

28) 3froafyes T i R w arffart &2
1. 3THE F & fau

2. gy feam ¥ fee

3. "l & forg
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4. a1gd Tonae & fo
Correct Answer :-

« " ¥ fag

29) T AT ST EERITRTE -
1 G

2. el

3. dier

4, fergn

Correct Answer :-

. dig

30) a1 fR1gror & Tedie B Sra%aHal ISdl ¢
1. IuRia Tt

2. $ad FHI B G B G §

3. Had ST B & SR SHERE! ) T H

4. Had em Ufhar =1 9% d gUiE g1 5

Correct Answer :-

« I gt

31) HTa1 Rraor & derara & Rrgia grr -
L. WTHT HRe 7 & H g T |

2. T HE R g 81

3. YTeT HRE B Hiems g g |

4, 4T FE B f W T 2|

Correct Answer :-
- 11 AR T W 9y @ 8

32) WA IERUB -
LA B T

2. T W

3. TR Okt

4. oo gt

Correct Answer ;-
« gy I

33) HUIGN UHg &1 o+ H g8 & fow 7ifa & gam ur
1. FIRE

2, Tellerdrg

3. G

4, AfGAgR

Correct Answer :-

. ﬂ-q—ﬁﬂ[

24) TYUTEE ) ford I a7l TiR0T U 1 e SRy T gT 87
1. wifedl &1 ufarg Fwr
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2. JAR G
3. glagra sarm
4. TS

Correct Answer :-
« yiferdi &1 wfdarg S

35) T HTAT ST Wi 9 TR &2
1. Sura it
2. e GAHL
3. ad ferga
4, Fad IS

Correct Answer :-
« I Gl

36) Prafifea @ fFra o & ydie 990 § BH: UH 7018 HITUL,ES T0L,E) auror, 3R gt 1% 814 € aU1 98 WA 901l &I g1aT 8-

1. HETPI &5
2. Hpiftyoft @
3. rafl B
4. TR B

Correct Answer ;-

« HEHTB<

37) frm ufGml & B W Srog ur e
qg 1T,

3 gF FO & Hat godr

T IR 7T |

e dts gt e E Uw,

9 V1 AF el 2B,

g W A B, @ e @,
g Wt qoft Fieht it Semar 11
1. & 7o

2. S{ie 70

3. 9 TG T

4. g T

Correct Answer :-

+ IGO0

38) P ufRmi A A o d?

Fo ffett TR yft 9f | Fea e T g ged
ATE weA gt S8t wera forea ferera o8 @it

1. EIRI Y
2. IST 707
3. T e o
4. YG O
Correct Answer ;-
o e
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39) FE# A -9 TWER U3 1 ISR T61 87
1. TR

2. U=

3. geerad

4. [0

Correct Answer :-

« Heeldd

40) g ¥ @ S Feriter 7€ serl ar<ia § T gerUn
1. fopfer g

2. I e

3. RS

4. SRR THS

Correct Answer ;-

« STORTR TEE

41) Fore & & @) |1 71 BT e TET 82
1. 47T SrEToTe et g1

2, M7 GRS Bl B 1

3. 191 U5 oIa ¢ |

4. 19T dlaTeEd Bidl g1

Correct Answer :-

« HTHT SEHTD Bt B 1

42) T & 5w geray 1 o T TU A AT B AT FlaTe?
L. Folf @

2. BRI 9T &A1l

3. BIS BIel

4. B PR ABIEN

Correct Answer :-

« PRI &1

43) P d A oF AemEY 5T 9 L 82
1. FETHIH

2. GUS WeY

3. QR

4, AMSAA

Correct Answer :-

. GUS Uy

44) g ¥ @ difew sfireafd sz &
1. IRTe gait

2. Had grfar

3. Pad T

4. Sae HTIo

Correct Answer :-
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« e @it

45) P i@ o1 urarey, iy ared $1 IR T €2
1. 9 U T T4 8 i T T 0T

2. g AT e pe Garwmi ol

3. Hoar g i a8 sl gen mar g1

4, V6 8 AT a9 F g |

Correct Answer :-

. iU T g da Fe S wmi A

46) Fa & & S} ufFaerd $f vga o & g ag A frfur s e
1. \H&E

2. GearE

3. &N

4. TF TS &9

Correct Answer :-

. AmgE

47) FEH A PR Feuer aRi w@ v Feuer S w0 i @i mwa g
L. 3Ty THEE a

2. 3T geiid] e fEad)

3. G4 SIS

4. BRI TS

Correct Answer ;-

« 3mEr go WHE fgde

48) Ffafaa iR d v wa< e

& Wl a1 2T, T gHe! g 1 it R gl @), gr el o1
Hifrd gwe! o #, g WeER a9 | T e, daa aidt a1
1. $5A9<

2.l B

3. Mfe@r =

4. M E<

Correct Answer :-

. iy a<

49) YW Hd Gaw ITP! Y11 & ST T B UgAIIg |
1. JaTa — Aicrd Hewg It

2. FE — ¥ el

3. WeTer - gg

4. fepaeh - IuAE

Correct Answer :-

« GO - HidTD Gere Sadl

50) FreafafEy el § @ wmeww ¥ 93 e stxg gagu 2

1. Iogaa wit
2. Paq 917
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3. Pad A
4. Sad 3 uEn

Correct Answer :-

« 0wl

51) Prefifed # J 21 1 Su=r S w1 T 82
1. et

2. SEes

3.4

4. AT &1 &aal

Correct Answer :-

« TN T daal

52) Fr el # S i o g s A A
L HE AT

2. T ot

3. T IR

4. Tl

Correct Answer :-

- ol

53) “HaY WA B ag Bt &, et snem st w=idmie a@ w gl - 9 fhee A B2
L. gITe

2. 3T TS gE

3. T

4.99%

Correct Answer :-

« UHER

54) Wi Syl grRTEwlfd e e % IeRIu sl
1. riferefier faemera

2. A faemed

3. 9 {9

4. et famaa

Correct Answer ;-

« wrifoeha faemaa

55) ST YT S & gRT e awte frw Iot # R &
1. TS FrEy

2. FufreTes sy

3, famres fawy

4. aferd faey

Correct Answer :-

. AT ey

56) WeTed! aai & Brey # Frg 7 A B9 ydfte waifie yga gu e?

Page- 49



1. €iues SR ared
2. 714} SR o

3. 7iiq 3R e

4. UFpla iR T
Correct Answer -
« & AR AET

57) wifears @rer & dedf # g § A B sy adt ad &2

L. Urifeiarel efat = wiror & ufadisr fear g1

2. W S < T T 3 SO & Sl il # v fgm
3. wiifoaTel Sfadt 3 ueia & Siae w9 &1 901 oo Siaareli & fFa g
4. TrTferardt ot = wrferd gy 1 fomor S g

Correct Answer :-

« Uiqard St - Ul & ST TU B 0 o0 Sidarsd # fFa g

58) f&dt ot nftis eriieRr dmiter o1 sl T ur
1. o St

2. TSTaTel |y

3. 7 et

4. 3ured! formn

Correct Answer :-

+ YSiGETer By

59) We! fawen gfag.

& T9 Pl ST APl & W 5 ST P ¢ IR 9€ WY HTAT a7 S|

1. YTE Hm&T

2. T HTET

3. O U

4. YTeTHET
Correct Answer :-
. TI'E'I-IT!STI

60) Te! e aaTy -
TR & WP EY A wfofdd, ¥a ofR O ogyd |eu gl
1. 419 T
2. ST A
3. af 9w
4. g
Correct Answer ;-
. YETE
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PROFESSIONAL
¥ oo EXAMINATION BOARD
@bg%muom Middle School Teacher
Eligibility Test - 2018
9th Mar 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) According to John Dewey, __ must be experienced by the children in school to

make them better citizens. I'GI'FI'?:'&\'% IR, aihaﬁéaa?thﬁaqﬁ%ﬁm
ICEIGPE BT SFHT BT ST AT

1. Rules / FIIH

2. Discipline / 3{RITHT
3. Experimental awareness / YIRS SRREahT

4. Democracy / NIGZGE

Correct Answer :-

« Democracy / SICSE]

2) Find the correct sequence of stages of child development. / oo o srawTsl &1 8t

H Td SIfegl

1. Infancy, Childhood, Adolescence, Adulthood /RIRATTRT , STIa ], %Qﬁ'{la@ﬂ, EFIET‘“
2. Adulthood, Adolescence, Childhood, Infancy /Higdl, fHRIRTERIT, STaTaRT, LETGRIT
3. Infancy, Adolescence, Childhood, Adulthood @Qﬁmﬁ, mﬂ, Sl TdRIT, L?l({:dl
4, Childhood, Adolescence, Infancy, Adulthood /dTcHIdRT, ﬁﬂﬁ?ﬁ?"-ﬂ, Wﬂ, EhET‘IT

Correct Answer :-

. Infancy, Childhood, Adolescence, Adulthood /RTTATTRT, STEITGRIT, fHNRTIRT, Tigar

3) is major environmental risk factor for poor child development / TRId Ckg

Rems Rt yq@ qaaeoig Sifed oRS ¢
1. Diarrhea / ST
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2. HIV / T{1Sal
3. Chickenpox / EECD

4, Diabetes Mellitus / 'Fl‘éfelg

Correct Answer :-

. HIV /TT3Msdt

4) Curative measures of juvenile delinquents are . PR sruRTelht & STERTHS
U™ gl

1. maintaining strict discipline / IR SR FHIT W
2. rehabilitation and correction programmes / Qﬂ’dﬁ 3R JUR HHHH
3. isolated treatments / Jh JUTR

4. rigorous punishments / IR 3

Correct Answer :-

« rehabilitation and correction programmes / ‘-:Fﬁﬁ 3R YR o

5) Which theory encourages private speech, and self-regulation? / aﬁq-mﬁamﬁd’t
UTYOT 3R STH-Fraw= & Piefed var 32

1. Jerome Bruner / SR EGAS

2. Jean Piaget / S oot

3. Hattie / §¢l

4. Lev Vygotsky / NEEIEUIRE]

Correct Answer :-

« Lev Vygotsky / GEEIEUIRIE

6) Which of the following is not an aspect of emotional intelligence? / FrgfIRaa & @ 19
YTTATHS Gl T F1 TP Uge el 82

1. Expression / 3ff¥aafad

2. Assessment / HedlchT
3. Change / gRadH

4, Regulation / =

Correct Answer :-
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+ Change/ aRadd

7) The order in which language is acquired is: / dg sPH foraw v sifsta ﬂﬁ'ﬁ'l?ﬁ%
1. Speaking, Hearing, Reading, Writing / Y=, 4dUl, UoH, GECE|

2. Hearing, Speaking, Writing, Reading / #dUl, ®YH, a'@?, Tod

3. Writing, Reading, Hearing, Speaking / @l@:f, TS, HdUl, hyU

4. Hearing, Speaking, Reading, Writing / %dUl, %Y, Ua+, A&+

Correct Answer :-

. Hearing, Speaking, Reading, Writing / %dUT, %Y, U&, @

8) The type of education wherein students of disadvantaged groups are taught along with the

normal students is called: / ATHT-T BTAI & ATY-TTY dfrd TAHGI & BT DI &t S qTeit
fRrai 1 UpR fre Hgarar 8

1. Inclusive Education / FHTAS fR1ef
2. Exclusive Education / 37 f21&f1

3. Special Education / TRy fRren

4, Integrated Education / Qﬁﬁ fRrem

Correct Answer :-

» Inclusive Education / FHTILT ﬁ'!T&H

9) The state of being left out of the mainstream system of services is called

/ Qa13ff B TSI TOITeH | qTER Ve B awIT B ST ST gl
1. Inclusion / 3{dd<H

2. Universalization / JTdHEHR0T

3. Existentialism / &g

4, Marginalization / iR

Correct Answer :-

« Marginalization / i

10) A sculptor needs intelligence to be successful. / T Eﬁ?ﬁ DIAPATH B
ferg gfe @ smaza@ar gidl ol
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1. Musical / GTiId (RIfSTehen)

2. Spatial / 1w @@'ﬂﬁ)

3. Interpersonal / TRERD (EETW)
4. Linguistic / T Heelt (‘Fﬁﬁé@

Correct Answer :-

« Spatial / RS @'@"‘-WD

11) What skills involve the small muscles of the body and hand-eye co-ordination? /

B I F IRR R FTY-3iFE wH=ag 3 I wiafRat afdfemd g g2
1. Fine motor skills / ST R HILIA

2. Fine movement skills / 3cp¥ Ty B

3. Gross motor skills / J&HE R HIVA

4. Body-kinesthetic skills / TRiRe- Tfadad) gfa

Correct Answer :-

« Fine motor skills / Jp ¥ ﬁlEQ dﬂal-*{lci

12) What is the first sounds of meaningless speech that a baby makes called? / 39 3refga

HTYOT BT UG Caf PT T HEd & o8 T HaT 82
1. Babbling / dS&SIgC

2. Telegraphic speech / coliuTithds HIwur

3. Crying / RG]

4. Syntax / dIeR] — foam

Correct Answer :-

« Babbling / dSdSlec

13) What principle is being used when a negative stimulus is removed from the environment

in order to ensure that a behavior persists? xﬁ?ﬂﬁmmmmwvﬂﬁm%m
afaRor & feft ToRIES SEITH B 8T ST €; U8 GHd o1 ¥ R fr #1s
AER T18?

1. Positive punishment / HPY[HD qUS

2. Positive reinforcement / THRIHD YIaicl

3. Negative punishment / TPRIHP US
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4, Negative reinforcement / TP RIHD Eﬁéﬁ:{

Correct Answer :-

» Negative reinforcement / TR RIHD ‘;_J;'IGTC‘I"I

14) What was the neutral stimulus in Ivan Pavlov’s famous experiment on classical
conditioning? / [TEATT SIS (FATIE T DS I+1T) U S UTTAIG & TR TR &
qew RN ((gd i) o A

1. Salivation / AITHAdU]
2. Food / HISH

3. Bell / ¢l
4. Dog / Pl

Correct Answer :-

« Bell /dcl

15) In reasoning the association begins with a problem and ends with a Vx|

THIRTRM U3 AT A YREEIaT 8 IR TS & |1 HAT gt 5
1. Dream / &dG{
2. Problem / HHYT

3. Solution / JHIETH
4, Image / Bfa

Correct Answer :-

« Solution / JHTYTT

16) In relation to the development of intelligence, the results of twin studies indicate that: /

s & AP F Ty &, Joar sreau=il & uRumd $Rd 34 €

1. Both genetic and environmental factors are important./ Wﬂaﬁfﬁ 3R TRV S} PR
GEEEUE]

2. Neither genetic nor environmental factors are important./ - al Hﬂaﬁﬁ 3R 7 g} ararerviig
HRS HEgaqUl g

3. Environmental factors are more important than genetic factors./ GW BHRD| B dei-l e

qIATERNT RS 31 Heayul §1
4. Genetic factors are more important than environmental factors. / TR DHRDI Pt GIEL )

3ARIE HRE D Teaqu & |
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Correct Answer :-

« Both genetic and environmental factors are important./ GI'IﬂEI'IfQIEF 3R ARV S} PREB
e €|

17) How has Pavlov’s theory on classical conditioning influenced the research on behavior

management in schools today? / IR ST (FATRIB B I TR UIGelld &
Riegia A adur & faearadl ¥ aragR yeus W Y™ &1 oy yer yuifad fear g2

1. Teachers remain composed, keep things in perspective and get back to the main task of teaching.

%ﬁwmaﬂﬁ%ﬁﬂﬁaﬁﬁﬁfﬁawﬁﬁ&uﬁwﬁ%aﬁ?ﬁrw%ﬂ@aﬂﬁwwm

|

2. Teachers notice every little thing going on in the classroom. / fR1&/% B Hel H 81 61 81 BICk-
IS! STl R A &1 1T

3. Teachers have clear lesson goals and make proper use of group work./ fRrefent & UM WY TS
&I Bl © 3R g BT T I SUAIT R &

4, Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / R1&/® GRT 9] B STRED Bl
AT b 3reT TaER T 8 3R ST foT icaTe &1 A1feT | e gRT TSRS TIER
&) galcTied B & forg 48 Hi &1 =il

Correct Answer :-

+ Teachers make children aware of what good behavior is and provide rewards for this. Teachers
also use punishments to discourage negative behavior. / R1&/® GRT 9] B STRE® HRAT

ieU & 3T SUagR T8 3R 59P forw Uicrg= 1 =1feu | & gRT TR IdeR
P! BdldIed B & 1o a8 Ui g1 =eu|

18) Children typically feel emotions related to fear when they have: / T THAR W ST A

HTIT HTaTSH BT T B & ofd S8 [-1+1 Bl o:
1. Bi-polar disorder / ST5-UTeR fSH3fiax

2. ADHD / USITTS!

3. Autism / fifesq

4. Anxiety disorder / feidT (GeTTgeY) fEqaiiar

Correct Answer :-

+ Anxiety disorder / fefam (QGHE_CD[ ) fEqairer

19) Childhood becomes a central factor for the behavior as adults, according to

approach. / _____ T®IUI & IR, 90| & ¥U § IdER & fIU 909 TP HET
PR 9 a1 g
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1. Sociocultural / FHTS Hipich
2. Humanistic / HTgdrarct

3. Psychoanalytic / TAIfdeyor
4. Behavioral / ETIEE'Iﬁ_Cﬁ

Correct Answer :-

+ Psychoanalytic / T ROT

20) Some children are able to process more when information is presented visually. This

refers to their ./ P T 3fte ufthar &3 # W& Bld & o1 e R! #a Fu d
TR B STl 81 98 S, ot deffa prar gl

1. Preferences / HTUfH@ TS

2, Ideas / ToARY

3. Interests / el

4. Learning styles / 3{fTH Qiferal

Correct Answer :-

- Learning styles / 3ffTH QAferal

21) Who is the central focus for an individual to get guidance in school? / fagITerg |

ARTGRH Ut S & fore forslt safea &1 g7 s &ea wiew) g W g afea?
1. Friends/ Il

2. Parents/ HTI-OdT

3. Neighbors/ U@ﬂ%ﬁ:ﬁ

4, Oneself / T4

Correct Answer :-

« Oneself/ W4

22) Who proposed the Bobo doll experiment? / STaT &A1 WA foa yarfaa fowam 42

1. Bandura / ﬁ’U@
2. Erikson / 'Qﬁ?FH:[
3. Pavlov / UIdalld

4. Vygotsky / AT Icd ]
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Correct Answer :-

 Bandura/ E\I{U@

23) Who believed that teachers should teach by appealing to students’ natural instincts to

investigate & create? / Y AT T fp e gR1 S &1 =My A7 =1 § udtor s
& ford 39! wipfas ugfiy SURAT Infee?

1. Jean Piaget/ ST foTet
2. Jean Lave/ S @1

3. John Flarell/ 519 thd
4, John Dewey/ EI| Eﬁ

Correct Answer :-

« John Dewey/ Gfﬁf;"{g

24) In Maslow’s Hierarchy of Needs the top level need is known as: / ARGl &
STaRgHar ey H, 2 Srawut Y saxgddr Y A T U H ST ST 8

1. Efficiency needs / G&dT STaRTHdl (3B RIAY! 1gH)
2. Growth needs / fd&T™ a=gesdl (1Y Aigw)

3. Important needs / TEYUl STa=dehd (FHICC A1gY)
4. Deficiency needs / g1 SRRl mﬁ'\‘ﬂ :ﬁ@

Correct Answer :-

. Growth needs / fa® saxgamdr @y -tga)

25) How do parents assist in gender stereotyping? / ATa1-fUdT, ﬁﬂm sk or )
HETIT B &2

1. Childhood peer groups are segregated along gender lines. / ddU- %Wmﬂ?ﬂﬁl aﬁ%ﬂm
& feuma ¥ sram far Sar g1

2. Schools emphasize different academic subjects for male and female students. / ¥R ¢, Y 3R

wigar sl & forg fAfter Qaiftres fovai kR 2a |1

3. Parents place their children in gender-specific schools. / HTT-fOdT 31U+ =i & fofr-fafdne
Wl § A gl

4, Parents force children to follow traditional gender roles. / Hid1-Oar =231 & URuie foiT
YIPRT3N BT SITHRUI PR & RIU T PR B

Correct Answer :-
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« Parents force children to follow traditional gender roles. / AH1a1-fUar §=1 &1 URURe foft
YfPepTaf BT SR R P ol F1ed el € |

26) Who proposed the concept of a language acquisition device, found universally in all

children? / T} Tt ¥ A4 U § Uit 9= arelt |t Sri= wfaft (A efefore
f&arsw) ot surn fram wega @2

1. Jean Piaget / ST foarst
2. B.F. Skinner / §.Ut.R&pR

3. E.L. Thorndike / §. Ud1. YT SIS®H
4. Noam Chomsky / A Tt

Correct Answer :-

« Noam Chomsky / AT A

27) What is the term used to describe the gradual stopping of the relationship between a conditioned

stimulus and a conditioned response? l\?rl'ﬂﬁ'f\ﬂ?faﬁ'qa? AR Glﬂﬂﬁﬁ'f Glﬂﬁv_q'la'?"cﬂ?[ﬂa’ﬂ & Hiu®
389 &1 quiH H3A & e frw <1eg o1 3uai fosar s 82

1. Reinforcement schedule KHFFST?FI Gﬂﬂ:tﬁ

2. Punishment / 8
3. Shaping / FHSUUIRIfU)
4, Extinction / ﬁ?‘ﬁq

Correct Answer :-

« Extinction / ﬁ@'q

28) The most important characteristic in differentiating a child with a special need is: /

P A2 axgedr aTel a=d B 3T HeA arell ad Heayul fa=ivdr 8:

1. Face problem in completing his homework / fS/8 S-N:IT"]_G'W (EHa®) q\?raﬂfrﬁwrﬂ
SHAT Al Hedl %l

2. Has abilities different from an average child / foraept &HT Gﬁﬂaaﬁﬁ@ﬁﬁﬁal
3. Has poor relationships with peers / maswfﬁtﬁammwma%l

4. Does not perform well in academics / TheH H 33T TR T8 Bl 2|

Correct Answer :-

« Has abilities different from an average child /%Nﬂ'ﬁ &HT Gﬁﬂﬁat_nﬁ'@ﬁ-ﬁ@?ﬁ%l
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29) The rules of presenting the contents to make them easy are called:

| AT B RIS & forg v -+ & Fral &t gt oman &:
1. Method of teaching / fRreror ot fafer

2. Teaching strategies / fRreror JurRfoRr

3. Maxims of teaching / TRI&0T & Sl

4, Techniques of teaching / fRreror B depiidh

Correct Answer :-

« Maxims of teaching / TRI&0T & el

30) The term cerebral Palsy was introduced and popularized by . | e UHiRRTSS SRTET
EauRh) Y gR1 uRIfad SR S g i

1. Gardner / MeR

2. Piaget / o

3. Dr. William John Little / 31, fafergd oI fefea
4. Sir William Osler / TR faferas afiger

Correct Answer :-

« Sir William Osler / T faferag 3ngeR

Topic:- General Sanskrit(L1GS)

1)

FEITET: ST faargarey fohe 2

el o |
1.

_ HE IV

Heled o 'j'b“i T |

3

AgTeATal qEIeT |
4,

Correct Answer :-
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Correct Answer :-

. GCAT |

? FUfIsafd 3ca¥T dC R TG fone ?
_ Frafd |

_ HURICT |

N

, AU |

Correct Answer :-

. AT |
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L e,

oG areFd ad |
e R

Saecd: SJUR HHIGH, 39Te6d |

Gdced: JIET FHIUH I<ad |

2.

ddced: oJUEd FHIY 3TeSd |

3.

Caced: FUET HHIUH TS |

4

Correct Answer :-

1’ S
BICE N
2. B

3TTH |
Sy
Correct Answer :-

31 |

6) N\ ¢
oYl ral: Fedl Uedd ® e ?

4,

Page- 12



. aiercar |

2 ccgfdcdr |

3. I
, AR |

Correct Answer :-

_ i |

? 37EATR e HAwd fRA 2
3G, |
dg |
2 =
AqHAC |
3. 2 -
 Tde, |

Correct Answer :-

Y SIId 5caed 4T ® 2
™

ST |

, T |

Page- 13



el |
4. <
Correct Answer :-

STe] |
. C

9)

I 5T AioUfaTade Hvc |

3t + I |

| 3E + 3T |

3T+ 3T |

3E + 3TH |
4, e
Correct Answer :-

3rE + 3T |

Y ormared sfa ase eerId |

TRl |

1

| R |

EERILRE |

, AR |
Correct Answer :-

q>aeld |
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W fJen A o ?
, For |
, R |
| eI |
st

Correct Answer :-

eI |

d9GhH |
f B p~

4

Correct Answer :-
AT H |
. S

”’agmma:gﬁﬁﬁraéﬁEﬂETaT?
. ATEd |
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ST |
| Uhadel 3Ted |
, 3TEd |

Correct Answer :-

3T |

14)

UTUEdT: de BEERICHREIG 9T |

PSa |

1.

3ITGe] |
2- )

dITsld: |

3.
S |
4.,

Correct Answer :-
FHITSe] |
- —

1.

) grg: |
3. . I
d10T: |

4, =
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Correct Answer :-

) g wfd ?
1. agéar |
) TATGer |
_ EaTe |

, oRl |

Correct Answer :-

TG |

7 et ACTAENhade foha ?

| TqgTEg |
T |
T |
, Faed |

Correct Answer :-
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qAOT 3fd ycEg uifeuicen fehe ?
, T
G |
, T |
, T

Correct Answer :-

19)

TS S HiTAT oY 3 ?

, TaA|

_ HEIHICAH |
| AegH |

, 3cad |

Correct Answer :-

A

20)

sg3¢ sfa gwar eueg: foad |

lJOI’J%IC":JDCd{“iQﬂal reIohy >UHaedH |

a5
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[ ety IR aae g, |

2

U AR dh = adedH, |

3

TR AT CRTAT TR e . |

4

Correct Answer :-

T A g c TR Ih o aHe o, |

* we uran A9 9 A 2

£

) TR |
I

y Sed

| T |

, T |

Correct Answer :-

. Tegd |

Page- 19



ShIeTH |
4, -~
Correct Answer :-

hIcTH |

23)

FeT Teetd ageAl T R 2

 3ETeTS |
| 3878 |
3T _ |

| 3678 |

Correct Answer :-

* egraegd 3fd Ue g HEd |
e
, ¥4 ded |
| & T |
, id < |

Correct Answer :-

& TdcF |
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” divArifE we wd Redd 2
el

, &5 |

| d8ed |

L AT |

Correct Answer :-

* 2.ys i3 guem e oraa |

S RIMACEICCE
1.

_gure Harees |

BICCIECICOE

S B CCEIEE

4

Correct Answer :-

SIMEIECICEE

7 T 5T U Hr ?
37 |
1

, 3T |

Page- 21



Y |
3T |

Correct Answer :-

) qEa TF 5cgEg 3 & ?
37T |
318N |
 3TEI |
, STeTEd |

Correct Answer :-
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30)
IS 5cUTT U, Joreh gerdh forad |
L g3TgII3:

g5 |
Mo SIS |

2

g33Y 31 3|
3, @ 0

T3 I3 I3 |
4,

Correct Answer :-

g3{°g3{3 |

Topic:- General Hindi(L2GH)

1) G118 B St

SO TR BT HRT G2

T R, Bl U=, T

R gu e & Arm

TS WA TR B

DI gt A A fearefte

9 3ua A s &1 8

fopu Siaraet AR

it §¥al 51 37 BNl B

ST A WR, WA TS

S AT PR PR a5

§9 IR FadT T TS |

ITHT TR B TgHT -4 YD 9H ardt U= BT Ik aa1st|
UY: B B R TV E?

1. STH AP el

2. 3N HUT & Gl BT (Ut g & A Tl o oy
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3. 3G HUN & Aed &I 3T g H dp TR Wl
4. I AT

Correct Answer :-

o 3 HUN & Tiad BT SOt §AAT H AR TR O
2) eI a1 g SIF s

3T TR BT HRT G2

Tl W, Fal W, T

ey gu e € A

EEREREE IR E

DI g A A Rarefle

T IUGT A e &1}

fram raraeit ARt

oft gta1 37 it Holk B

AT H WR, TR A WS

! =T P PR a5

9 R HIIdl Th I115 |

ST TR Bl UgHT -4 YD 7 aret U= BT Ik aa1zt|
W ¥ B Uaigar! &1 82

1. JURTeRT T

2. HAd SIalg
3. ®ad fRar

4. ad Hivr

Correct Answer :-

. IWiad gt
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CERCECER: Eo ki kS

o uraedt fARTedt?

it §IeT 7 31 BN B

eI H HY, R A s

Tl 3T PR Pra av

1 IR FIAd1 TP TG |

ST U BT UgHR A1 U O a1 WA $T IR aTsu|
U gt &7 fiaw | g2

1. g@r

2. U

3,999
4. 499

Correct Answer :-

4) TET AT § B SHEs!

3T TR BT HRT GA1?

T IR, Bl UR, T

oy guva & A

TR AR AR

S g | A Rareiz

TSI S &

e raraeht ARl

N gYe 5 37 il B

ST § WR, W A S

gt SHT PR Pra av

§ R $IAd1 T T |

ST U Bl UgHR A1 U o1 Il U $T I« IaTsl|
UR: 3T B daf B IuAT fHFad 1 78 82
1. e ¥

2. ST A HIE T

3.5 9

4.7 Y
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Correct Answer :-

- FTHYBIE TET

§ W HIAd1 T T1S |

SUYE U Pl UGHR - I 9 I U BT Sk gars|
U= QUTad] @ g?

1. IR gt

2. Fad iUl Pi Yal

3. 39 TP AR

4. $Id I BT I

Correct Answer :-

. SWRITT g
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ST W, WA &1S

! 2T e g e

$ W HIAdl T T11S |

ST TR B TSR -1 T o a1d IR $T IR Iarsu|
URH: <3 ﬁ‘ﬂfﬂﬁﬁﬁﬂ%‘?

1. ifefa

2. I G

3. %9d dfed

4. &1 3R &A1

Correct Answer :-

. g iR Ie I\ g1

7) T AT 8 B WA d

3T TR BT URT GAH1?

9 R, Bl U=, T

fyay guaa € amm

TSGR TAET R

Fiv it ° 3 fRareht:

AU A e &

o raraeh AR

it giaT 31 3 HUll Bi

I B R, WA W,

@ My R PR &%

1 R Hqd1 T T3 |

SUded TR Bl Ugd] IS oM ard U= $T Ik 9ars|
WSH: TR i # B fp w wfdar forgen =@ g2
1. e

2. UG |

3. S BT IR

4. pdl R

Correct Answer :-
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8) YT TS B witgdl
ST TR BT URT G2

U9 R, Bl U=, T

fra gua € A

IS TR AAEIR

DI g ° 3 feareft?

A SUET A e &l @

fraa raraeht ARt

off gia1 591 309 HUN Hi
ST H R, WA TS
gt THT PR PR &
3 R $dT T TS |
IUded Ui B Ugd? A YR @H arel U¥H BT Ik 9dTsu|
U IUGH § [T FIR?
1, U

2, fefm

3. PRSP

4. U4y

Correct Answer :-
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T R Hfad1 T 9913 |

IUda U= HI UgHR - D T aTdl W= HT Ik qa1zv|
W: TR T YAiaaT T 82

1. SURYe gt

2. %9d UTd

3. %dd Uedld

4. daq quf

Correct Answer :-

. IWRiad gt

10) TeT T8 S wiigd

3T TR BT WRT G2

Tl IR, Bl W, T

ey gu e & A

TS R TG ?

$i= =it A A Rarefle
TSI A e &l ¢

o druraet ARl

it graT 3+ 31 Bl B

IR H WR, WA TS

g AT e PR @

39 IR Hfad1 T a1 |
ST YRR B UgdR A U o AT URH ST IR IaTsu|
W= <ol | T aread 82
1. 3Tt

2. ol

3. 3Tl

4, 39

Correct Answer :-

. &3l

11) el T ¢ HI Siigst
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SR R BT HRT W12

T R, Bl UR, T

ey guTas € A

TS A AAIRET R

B g # A Rareh
UG A e & g

e raraeh fARed?

i g¥aT 5 3 FUit i

ST B HR, R A S,

3! Myt R PR &
1 IR HAd1 T T3 |
ST TR $i UG 19 U o+ ardt IR $T IR Jarsu|
W= PRl & T arerd 82
1. Y

2, et SR igda™

3. W SR |t ¥ a1

4. Ut

Correct Answer :-

. TR SR IR T 3re

12) eI 741 3 DI Sitgl
3T TR FT HRT T
Tl UR, Gl UR, T
foay gu e € A
TSN AN

oI gt § A fReareti-
TSI e & g
fraa draraeht ARt

off g1a1 31 3NH HUN HI
S d WX, WA TS
st Rt PR PR av
3 R HAdT Th TS |
STad TR B Ughe A1 IS 9 9T W= BT Ik 15|
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WRH: SHfddT T AT Weg 71 32
1. SO T

2. $IA DG

3. Hdd Ug

4. HIA HIA

Correct Answer :-

. IWRIad gt

13) T 4T 3 i Sitgal

3T TR BT URT G2

I IR, Bl 0=, T

faay guas € A

TS AR AAEE

B g § A fearet

FIIUA A e &

e Sraraeh PR

<ft gia1 31 3N HUl Hi

S H R, TR & W

9! 2T R PR e

1 R HIqa1 T T |

SUYad UL B UgHR Hd Y o I U= BT Sk 9aTsu|
WH: el 3 U oA wEl e fRu E 2
1. IRV i

2. dd HEH-HaH IR

3. &dd el IR

4, Had Tl IR

Correct Answer :-

. JWRIEd g

14) T 41 3 DI gl
3T B BT HRT G2
T R, Bl UR, T
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fora guvaA g A

IS AR AT R

oI =it A A Rarefte
ST A W &l g

foam druraeht fARTedl?

<ft gtaT 37 it ol HY
T H WR, WA TS

! Ryt o PR e

39 R Hiad1 TP a1 |

SUE U= $i Ug@R A U o T URH $T IR 9arsu|
W=H: I $T yatgarh 7 g 82
1. STl

2. e

3. 3R

4. Uell

Correct Answer :-

15) 34 o=t gfgar &1 smew & iftrei=r @ aTex 7d T A1 U o g9+ Tufkar 391 ‘gxf= &t Tt
TR I H Sl gg1 A%y =0 § Gy 1SR (o7 TG §, SHPT PRY Tg ¢ [ [vad & Uy o/g St 7
STl 4T Y UTG: 9 98 8 B AP ¢ & 6 g2i=1df & T2 Ie-3= § A 39 Ot aiven § a1 Swar o,
St avga: fEd-geTaRt &1 3rqare gan wwdl A1 Al aer & Sifefy @) w9 & I7F Ut & war o1 O wEr
Fl U, “TH HE AP AR R o9 U B4 1 T8 a1d &t A et vafea 8, Sa+it givar A 1811 safeu
T TRT HAST a0 A1 18 | Y ATH T 3 TR Ig U1 95 Sifers Ras iy § 3R Toed A 39 a=i
s &t Ups forar uni i 99 Fuft & sy W ugd wian o | @ g Usa ¥ =il dwe ey g
>

ST TR Bt Ugdh Ai1d I TE UY $T I 913t
WRH: “US BT UIRaardl o1 grm?
1. g0

2. $FY
3. 3

4. 99

Correct Answer :-

« qY
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16) 3 &A1 gigar A1 smem & TSI GR1 916x 9d ¢ ¥ TS G4 507 HuRGR 39 q=i=° &1 3|
T B & Wt ggf faxy ¥ & oxiiu amew R Te1 §, SO FRU 9F B % Tved & o o woft &
7T 4T Y UT: d U8 e BT AP ¢ & fF 2l & T2 I3 A A 39 Ot giver F v wwar o,
St avga: fEd-geTart &1 Srgag gonm Fedl &t | fredt aTer & oty &Y 979 & 39 U & S U1 A HaT
FHAT AT, TH HE AP IR 3R o0 T D41 78 a1 [ & Rraeh vl 8, sa+t aiver # a8t gafee

TFed SRT HEERT d 31 916 # Fot AT g % TR} 95 uTon 959 oif¥e qwaeid g oY %4 A 89 &=
g $1 Uhs forar uT) gafere o Hft & srgwa # uga orar U7 o) @ §9HY UBd & <<=indf dew e g
T

I TR H UgHR A YD T UY BT IR Fa@13¢I

wy: =Tt Av 3 7Y e Ui  forw wepTR T areRy 82
1. TR

2. THRIHS qTe

3. TGS AIa

4, AP IR
Correct Answer :-

o UHdIHED Ay

17) 3 f gfEar ) smsm & siftresisr o are¥ 7d 7T ) Ue e g0 wuReR S9& axf &t s
=T B & ot et fadiy w0 & gxi-ta ares orE Y81 §, SUeT $1ROT 0% § 6 ved & U we woft
ST 4T @ T Q@ 98 $E DY ADT ¢d & {5 gl § e 33 o 3 oo ot aiven F ara wwar an,
it avga: fEd-gerast &1 Srgare gan et | et arer & ol &) 5 & I9F ura @ wrar U1 Y Har
Pl U, ‘TP UG AP TR g% o0 U8 ¥ I° T8 a1d St A et vafera 8, Sa+t givar o 1811 s9fee
Ted WRT JHS &d A1 a1E H T3 ATH g3 % T I8 UTaT 984 3ifee ae1d ¢ 3R Toed 3 39 =i
TTeg, DI UHS forar uT| gHfee og Hoft # oRTwg o Ugd o o7 °f 9 g9H? ysd d S=ndf ae) e gt
w1

IUUT TR P UgHT 14 YR T WY BT IR IA18T|
UYH: ARG MU= T HTHT BT T AT AT?

1. 370 Q BIS 61

2. IG-Teicll &1 SHarG

3. FCI-HETaR] T 3arg

4, fedl-geTaRl ®1 3/are

Correct Answer :-

- &gl o1 orgare

18) S fo=t gfgar off| smam & arf¥rei=r T aT6R et Y A1 U {37 g0 WulvaR S5 axi 31 3T
g% B & ot ggf faxly +u ¥ =ity are? fore 361 §, SUeT $RU 98 © % 19dd & Uy wid Hft &
WTAT AT df UT: d 98 B8 DY GABT ¢d 4 o g=idf & Ty -3 d @ 99 Y e § ara wvar A,
St gega: fEd-ueTaR) &1 3rgare g3 Hat At | =it aTev & Sifafy Y wg # 39 U & Wrar A1 of Fer
Hl U, ‘TPH UG AP AR IR I U D4 T8 91 &t # e vafera 8, 3o+t givar A =181 gafeu
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FGd ORT JHADII od &1 d1g H Yot AIGH 3T 6 A Tg U9 95 iR i § 3R [Fad A 39 ="
TTeg; DI Uhs forar uT| safere oig Hft # aRywa # Ugw Sirar U7 ) § 99T yod ¥ g ndf dew e gt
T

IU e TR B Ug A9 U ¢ Uy HT I0¥ 9q13¢1
U=: 2= &1 3 T Fiar 8
1, ¢@HT

2. A
3. ST

4, fe=m

Correct Answer :-

19) S A gfEat 1 smyw & airpizr @b aTew 9 MY A1 U@ R 59 WuRaR 9% g B 3
R B F ot 981 faxiv U & gxitg g fora 381 §, Sua1 $Rur 98 g % 1o & o st &
7T 4T Y UT: A U8 PE BT GAGI ¢ & o 2= medf & Fn2 I3 A 7 39 Ot aiver F ara wwar o,
it avge: fEdi-gerest &1 Srgare gom et o | frelt arer & ety #Y 5w & S9% urT & W ur A Fav
HAT AT, TH WG Ap AMUAR SR o0 T /91> 78 91 & & e vafera 2, Sa+t aivar # a8t gafeg
THed TR YU 4d A1 915 H gt wrepd gon i A g wren agd ot qradia § ofiR e 3 99 e
Teg &1 Uhs forar uT) gufere o9 Hft & argwa ® uga Simar o7 o) 9 99T Usd & <<=l dew e @
T

I RIS B USHR A1 YD MY IY BT IR qa13¢1
WA T & Fivar Yo fHaet gt Wi ydid gidt 82
1. R &1

2. TRIATRT @t

3. QIfeADBRI Bl

4. Tqd B

Correct Answer :-

o A DI

20) 3 =i gieal 1 s & aiftreier o areT wa T A1 U e g9 WuRkeR S% g2 B ST
R B & St geT fakiy w0 F axita s g <@t §, SueT $1RVT 98 § f5 ved & ur we st &
ST AT 1 WT: A 9 B8 X A ga A 5 =i § 3oy & A 39 TRt afver & ara v o,
St qega: fEd-gerart &1 srgare gom vl oA fodt arev & aifafy ot 59 # 379 Uy o Sirar o1 o o
ST YT, TP HE AP AT 29RO TR B 1° T8 o1 Tt & e vafera 8, Sa=ht aiver & =781 | saferg
T¥¢d TRT USRI od | 91g | gt AreH g3 fr 7Y g urn aga i qeas iy § 3R 7oca A 39 ‘i
TTec F! TS forar 11 3o o9 F & g & ugw Srar o7 ) 9 R U9d ¥ g=indf a9 amu g
T’

IUYad TRIRT B UgHR 1 Y ¢ UY BT IR Fa13CI
W 3FATE WG | ‘3R] FTR?
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1. GETaRI
2. IUI

3.9

Correct Answer :-

21) 3 et giEal M snyw & aifireiyr @ivT aTew =@ Y 41 U@ R 7 wuRaR S99 ax 9 or
T2 B & ot gef fasiy wu @ gxf-ty aares orE 6T §, SueT $1RUT 98 § 6 1vad & U o woft &
STl 4T Y UT: A 98 8 B AP ¢ & [ 2 1df & 72 3o A 7 39 0=t given § v wwar o,
i aega: fE-geTaRt @1 srgare g3 Heat ot frwl arer & Sifafy & wig & 7 U & Srar o7 o BT
Bl U, ‘TP HE AP AR GIR o U8 ¥4 I’ T8 a1d &t A et vaferd 8, S+t aivar § 1811 g9feg
T¢d TR QORI & A1 918 ¥ gt ATqd g % At a8 umar 9gq it Raeiy € SR T%ed A 39 =
TTeg HI UHS forar oT| 3Afere o ot & SRywy ® Ugw W o1 oY 9 EuHR ysa ¥ <=l dew o g
w1

ST TRIRT Bt UgHR 14 IS 7T UY 6T IR qa18T]
WH: 3MYW P A Rl e W Tl ad 7T A2
1.7a

2. TRANI

3. 30 W

4. 9Te}

Correct Answer :-

22) I feAt gigar | ey & et @b amee =@ T A1 Ue e gH Wultar S5 g% @1 3t
TR P H o gg1 faSiv FU ¥ g2 9w R 61 §, SU@T SRl 9% § % da & o o9 st
ST T <1 UT0: & U8 B8 X aD oa & 7 g2l § ey gy & & 379 O @iven & a1 & o,
ot axga: fEd-geraRt &1 srqare gan wwdt A1 fasdt arer F Sifefy &) e & I urw & Srar 91 o) Fer
FHAT YT, TH HR AP IAMUAR SR o9 T 41 9 91 &t & forasit vafea 8, o+t aiven A 161 gufog
TFed WRT G od 3| 91¢ A Y AT gor i 26 g8 utwr 954 sl qraaiy 8 ok 1oed A 39 oxi
Teg FI Uhs forar Ul gafee e Hft & erywg A ugw wirar o7 @ ¥ g Usd A ‘q2idf dev e @
m!

I TR B UgdH A U T Uy T 3R qa13TI
W 3Ty BT UATaaTE! 471 81 82
1. 49

2. %l

3.1%
4. fagr

Correct Answer :-
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23) I 3 gigat of| snsm ¥ sfepier @i @16l 7@ T A1 TP R 9 WIRAR 9% G BT o
R B § o g81 Oy ®u § =i a9 ford 381 §, SUeT $Ru1 98 ¢ & 19 &ty o sl &
ST T 1 UT0: & 9% 68 $% A od A % AR § 12 -3 d A 399 T 91T § a1 o AT,
it avga: fEdl-geraxt &1 3rarg genm dwdl i el arer & Sifafy &) s & I urw & iar ur @ Far
HYAT AT, TP U AP MR SR o0 0 91 98 91 gt # forasht vafem 8, Sa+it aiven =161 gafere
THed RT HEPRT d 31 916 § Tt AT g9 5 2 75 uTon 95 oiftre qeaetd § iR Tead A 89 awi
Tee D1 Ubs forar uT| ufere o w3t # sRywg # uga oirar o1 ) @ §9HR ysd ¥ <a=i-ndf dew e g
aq‘l‘?s

I TR Bt Ugdh? A1 U T Uy $T 3T 9a13¢1
WH: 39T BT fIara Far gim?

1. SHOH

2. 3T A IS T

3. 3{dd

4. 9HT

Correct Answer :-

24) 3+ et gfgar f1 enym & stz @t arer ot T A1 U R g wultar oo g=f= #t ot
= ®) § St el fay wu A exit a1 R 381 §, 39 R 98 @ i 1eed & U o9 st &
SITET AT 1 UT: d 98 $8 ©Y G od 4 fob o=l § T -3 § A 9= O} aiver # a1 v o,
St gega: fEd-ueras) &1 Srgare gem wxat A1 st aTev & Sifafy Y W # 39 U & WA A1 o) Bl
HAT YT, TP UK Al SATTIR G9R o0 T B+11° 9% 91 {1 # foraeit vafera 8, Sa-it aivar & =781 | gufe
Ted TRT HAST a0 A1 a1g | T AIH g3 3 A g5 uTwn 95 Siftre Rasiy @ 3R 7oed 3 39 g3
TTeg B Uhs forar uT| gwfere s Hft # eRywy # ugw oar o1 o) 9 EOHY Usa ¥ <S=indf dew e g
m!

ST TR $i UgdHR A1 Y TT UY T IR qa13CI
UH: ‘TP HE TP TR g3k 5= TR D+ Ui fva yron # Swifaa 2
1.3G

2. ST
3. 3feh
4. f&dt

Correct Answer :-

25) 3 foAt gfgar M1 smsw & siftreier o areR wat MY A1 T 3T g9 wuRar S9& =i @t a1
G B & ot et fadiy v / gxfity sras orE et §, SueT $1RT 08 ® % ved & U o woft &
ST AT < UTG: T8 B B2 GaAH od A fp gz § wr o33 & & 39 Ot aiven & 91a wwar o,
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St a¥qa: fRdt-HeTa’ &1 Srgarg g3 dxat A1 fadt arey & ifafy &) wa A I Ut o Sfrar o1 af Se1
Tl AT, TP UK AP SMUAR 3R o T B4 I° T8 91 8t A orait wefera 8, Sa-it aiver # 1811 safag
TF¢d TRT GO & | 918 § g3t AT g % A a8 umar 989 e qRasiy § o I%ed A 39 %
XIS $I Uhs foram U1l gafee 9id it & Srywa # ugd wiian o7 @Y F SHHR UDd ¥ =il dev ey @
T

U TRIIRT Bt UgHR 14 U T UY 6T IR T3¢
wE: «3ifaf &1 faeiw 2reg & g2

1. HeHH

2. 3Ly

3. MR

4, g

Correct Answer :-

26) 3 =t gRRal M1 amew & siftreier ahT areR w@ T 41 TP oA e9A WuikaR S9& ‘%= @ 3T
T B & St geT fakiw w0 & axita sera g <81 §, SUST $1RVT U8 @ i ved & U o sl &
ST AT &1 WT: % 68 BY A ¢d A 5 =i & e ey o A 39 TRt aiven & a1 v o,
St aega: fE-ueTaR! &1 Srgare gon wvat ot | fadt amew & iffy Y w9 # 9% Uy & Wrar o1 oY Fr
Sl YT, TP U Al TR SR o0 TR B91° T8 91 fedt & e vafera 8, Sa=i aiver & 7811 gufer

T¥¢d TRT OHI od 1 91¢ § gt AreH g3 fos 7Y g wren aga 3R qras g § o Toca 7 39 ‘gz
TTec F UPS forar T FHfeE o FH § gy & ugw Sier U7 @ 9 9] UDd ¥ = de omu g
2>

IU T TR B Ugd A1 U 7T Y $T 3w 9q13¢1
WA: ST A a1 SIfUma 82

1. "eped Al

2. GBI

3. G
4, BB

Correct Answer :-

27) 34 fa=t gfgar 1 smew & srftrasixr @ TR 9@ T A1 U A gH WuRaR 9% i @t T
2 Y § it 981 faiy wu ¥ gty g g 391 §, 391 R 98 § 5 1eed & U o9 it #
SITET AT &Y UT9: A I8 $g B gD &a A fF g=fef § wme o3 # A 399 Ot aiven & ara wwar o,
St axga: fEd-geraRt &1 rgare gen wwdl | fasdt aer & sifafy &) wie & I Ut @ Sirar 91 A wEr
Fdl YT, ‘TH UG AP AR 9R o0 U ¥ 1° 98 91 S d Rraeit vafea 8, Ia=it sivar § 81 o
& TR GO o 1 916 ¥ gt AT g % A 98 ymar 950 oI Raeiy § o T%ed A 39 a3+
Tleg $1 UHS forar uT| sufee o9 Hft & sRywg & uge wiar o1 o) 9 §uH? ysd ¥ <<=ndf aew e g
Y

IUYa TEIIRT B Uy -4 UD 7T U4 &1 IR qa13¢]
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Y: URAR AR AT § 2
1. TTH A HE T

2. URAR B BISH

3. URGR & 91y

4, AdaR

Correct Answer :-

. URAR & 1Y

28) I feA1 gigar off | snyw & ufirwizr @b ameR wa T A1 Ue 3T 70 ular S9% axi &1 a1t
TR B § o1 g81 ORIy U | gxi-tg a1 forg 381 §, SUeT $RUI 98 § % 1%ed & Uy o it &
ST T &1 UT0: 3 8 68 X GHS od A 5 =i & e ey o A 399 Wit aiver & a1 & o,
St aege: fEd-gera’) &1 argare gom wvel oAt forsft aTev & ifafy Y w9 A 9% Uy & wrar 31 o) wer
FAl U, “TH Y AP AR IR o9 U ¥4 1 78 a1d S A Rra-it wafera 8, 3o+ sivar o 81 gwfe
THed IRT HESRT 3d &1 916 # Tt ATqH g9 6 B} 98 UToT 95 offties Taaid § ofiY Toad A 39 &=
Yleq ®1 UHS forar uT| suiee o et # sRywy ® ugd War 41 o 3 §He] UDd ¥ <S>l aeR 3y g
T

IUY e TR P Ugh? -1 U 7T 9 $T IwR 9d13¢1

TY: OGP, [oed I -3 A f5 yTar & 91 Han 412
1.3¢

2. g @l

3. 3Tl

4. &

Correct Answer :-

29) 3 fo=t gfgat M1 smym & it ah arer 9@ T A1 TS o gH WuaR 399 axf &t ST
3 @t & St g8t fadiy v & gxita arar RorE <ET §, SU@T $1RUT 9% § i 1ved & ur ww woft &
STET AT 1 U 98 $8 Y GBI ¢d A fr g2 € Fny se-3e o A 39 R aiver § ara wwar o,
it avga: fEE-geTart &1 Srgare gen Hedt ot Rt aTer & sifefy @Y 5w A I9F U @ W ur Y HEr
Bl U, ‘TP HE AP TR g% o0 U8 B I’ T8 91d &t A et v=ferd 8, Sa+t givan o 1811 gaieg
TH¢d IR1 GO o | 916 § g3t A1qd g % A g8 ymar 9gq e qraeiy § ok Toed o 39 &
TTeg Y Us forar 4Tl 39 o Hf # ergva W ug" WA o7 @Y @ g9 yDd ¥ <=t d@v e
w0’

IUYE TR P UgHR 1 YR T WY BT I ga15¢]
Y : AP DI UTHT Bt Af?

1. BTN HIWI

2. &=t i

3. 9gd 3 Rae
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4, fo=R yrm

Correct Answer :-

- 54 I g

30) T T ¢ B wigd

T TR HT WRT GATHT?

T W, TEl U%, W

fra gu ¥ € A

a8 Ha HATET 8

B Q2 A F etz

91 SUaH ¥ wer 1 @

o rurach fFrreh?

Sit gYar 39 off e wull Bt

I | MR, TR A 1S

T Tyt PR o &

g9 W PiIdr T 1 |

IUYd T P UgH Y IR WM 9T U P IR Gargel
vy: AHe! dU TaTHe WaR-a¥ el faaredt 7 o ¥t B2
1. 39 H

2. 3BT H

3.ud g

4. RY

Correct Answer :-

« 3UGIH

Topic:- HINDI (HIN)

1) YT foil B R qUT HHSIRY, IADT BT R DTS4l BT GUUT g
SR e mar sy fraet 8 -

1. AT iz fa=it

2, AfeERt

3.gsad
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4. UigaTg

Correct Answer :-

. T 3z =

2) yRifora didt & Am forad g YRE Fey g2
1. TS B

2. HATRR T St

3. Tl At

4. R Taq

Correct Answer &

- XdigTY @t

3) TS B D&l § B BT Tt G BT ¢ 3R P Y5 A BT ¢ ot T8 Rigia 2 -
1. 794 &1 Rrgid

2. 3(UTd Ud shH T RHigid

3. Jafdae faftrear &1 Rigia

4, YT Ud B &1 Rigid

Correct Answer :-

. Jufdaes faftear o1 Rigia

4) SrTAy ¥ 1A a1d T Bt g1 B g A R et €39 wea dl
1. U3 SRR

2. 3T IR

3. SIa e

4. I IR

Correct Answer :-

. AP ITER

5) fRgor St yuTaRITH ST 9T AT § -
1. SWiad g4t
2. Fad DTS
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3. $dd UIEIYdD

4. Had AR

Correct Answer :-

. IWRiad gt
6) TRraror fAfer &1y $39 g9 o= Bt f5= arat &1 faghy e a1 Tfee 2
1. SQRIad gt
2. Had Bl

3. Haq Ffeat
4, P B

Correct Answer :-

o SWRIEd g

7) duyd frs fagm A uiss o1a o1 £ wrfds &1 <ot g wg1 912
1. $1 IAEEY Igad)

2. AEHHRIAU ST

3. S A

4. gd YipArg—

Correct Answer :-
. SRR
8) fora wiferardt »fa &1 U= ~gu= Ium B2
1, THYTR Yo
2. PERATY SFTATA
3. Rraea Ris
4. A=A

Correct Answer :-
9) @@ # g wR Ft ergfRai aid & -
1. SWRIad g
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2. Fad gt
3. Sad a1

4, Faq fov fog

Correct Answer :-

. SWRIEd g

10) faererg A N7 & ur- &1 suawn F fore forar mar vz {69 ueR &1 Uz | see
1, PR U

2. G UF

3. Rermaua

4, I U

Correct Answer :-

. UTTA

11) 99 A - RRwar I Ares F 22
1. ¥f& res § i 3R 2eg; 1 e WA g1 B
2. X A1ew B U S UA B B

3. & Aes © v Y siraxgasar el gl

4. Xf&T e # Tt a<ae e i ol
" |

« e e & el 3R eg & TG WA B B
12) 3 UGTYRRIP b OT TR ¢ -

1, HATHDl

2. BT H TR S 1

3. Y91 &1 3y g1

4. AUl UG H AR 71§ UG gl
Correct Answer :-

. YTV T Y B

13) 3raefy fore o (@UuTT) F Fich B2
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1. ufgr gt
2. TSR
3. UgTSt fedt
4, g fgdl

Correct Answer :-

» et il

14) Hfgen ARfeasor R faRea ey e goft & emame
1. 3nfifep 7, § wwaifire

2. TR febaft & Twifirer et

3. AT e, W Fraifird

4, Afgan ¥ Fwifda

Correct Answer :-
. TS e, ¥ S
15) a4t & Py ik w4 iR difgs R A gwa g g
1. e ey
2. fozamonerss ey
3. qUATEHSD fAay
4. TR fAdy
Correct Answer :-
S EEINCEARCE]
16) «3mexofty AElgw Hety e U ¥ 0 & Uged ST 27
1. P o=
2. UIRaTRe o
3. BE BIUA
4. faqmo=

Correct Answer :-

. FEfTdH U
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17) {59 o< & ©: f9ud TR0 & YA IR IR0T AT 9UT SifaH Sl IR SeaTar & gid B
1. 48P B<
2. BT T,

3. UHIER] B¢
4. HfAAB<

Correct Answer :-

e WIS

18) HRAE & AfRid H BIwpsUH 3T A W 535 o1 I sfoery uftrs enfiic & 4= 3iR
ST & URTS T$ MuTerde & TF A1 S 9% IR U1 T AN A1Y° & Srgardt &1 afq
3tfiEg A Sl Iufrazrare &t wfid w37 # Jgradr ugard! At af HRdw A 39 Iufdzmarg
& favg aoive s duR &1 3 vt B3t el o enfeie & sol &1 urafia sva
TR | afe T 3R W ST HEhR 4T df geRY 3R S/ ®R SI-Tdl &A1Y TPHigd g4 i
&HaT | rfaRIY ITH P38 A1

Iudad ufde @) ygay A for U uy #1 I« fafeu:
eI A 3 Y Ug srafdRiy | wm M 82

1. foRie o

2. UG

3. SIS

4. IUARIETG

Correct Answer :-

. TR

19) YRR & Afdda § Bapsy 3R At 4t g3 N1 I sfoera i snfleig & awe oik
S0 & URrE 3T Murerde F gF A1 I SN O SR SATUAT I gHR I & gardt A1 afe
3rfiic 3 STl Sufazmare & RiIfta s § Weraar ugard! At @t YRdwm A 39 SufaRmae
& foeg daive o= dar o1 T oot Bl freh o srfide & Foc &1 wrafia wwa
T2 1 afe Tw AR ITH AU TXHR AT A1 g1 3R W BHHR STl & 1Y THigpd g4 &I
&MHT | SfaRIY 34 &3 U1

Iudaa ufvede @) yewy A fou U uy o1 S« fafee:
TR & SR 3iHieg A $H-91 Fpe fhar ur?

1. ST HEPR

2. 378 SrafaRy A

3. 39 Afddd H Babhsud Ul

4. IJUMAETE B RId 84 | Tgradr
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Correct Answer :-

. JuHazEie & wIfid 8F A Fgradn

20) YRAR & AfHI@ § BIpsU R Tt 4 g8 At 3 3fasm yiies enfide & o= ok
F12f & Ui WO Murerde F g7 A1 I SN €R WR AU Id gAR I & gardt A1 afe
3rfti 3 3Tl Sufazmare & Rifta s § Feraar ugardt At @t YRdm A 39 SufaRmae
¥ fovg daive o= darR o911 T -t Bl reh o snfide & Focl &1 wrafia wwa
T2 | afe UF 3R ITH ST TXHR AT A1 g1 3% I BHHR STl & 1Y THigd g1 BI
&N SrafaRIY 34 @35 A1

Iudaa ufivde @) yewy A fou U uy o1 S« fafeu:

TR & AR YRAR A fas faeg daie sifiq TaR 3
1. TP B

2. HaBHSU 3R Ai &

3. ST WRBHR &

4, IUFINETE F

Correct Answer :-

. JUFaERE &

21) YRaE P Afid & Bapsu 3 A& 43 g3 0t 3 sfoer virg erfie & 93w 3k
F1eft & Ul W MuTere & 73 A1 S TR SR U1 97 g9R 91 3 rgardt A afg
3rfiic A 3l Sufazmare & wiIfia &3+ # Teraar ugart At @t YRdm A 39 SufaReae
¥ favg darfve o= GarR 11 3 3t Bd-A freht o enfieie & sl 1 urafya s
T2 | Afe TP 3R IAH ST HEPR AT Al GERT 3R SH oD SoI-1d] & ATY THipd 511 I
&ITT | SIfaRIY 316 &g A |

Sudad TR &) Ugde AT 3T T uy &1 I faf@u:
g T &1 Sfa il difvre

1. YR &1 Sitae gee

2. IRdg PTPRIT

3. IR T 3R YRA=

4. TR 3R YRA=

Correct Answer :-

« YRdg B Pidd

22) YRAE P AHRIE@ H GIpgUA X 7t 4t 58 A1 3 ghoe ulie: srfide & 9= 3k
B0 & URTg W MuTerde $ U A1 T S OR AR SATIAT Td HR TP & Srgardt &1 afg
3rfiig A 3l Sufazrare & Rifia #3A # Weraar ugar! ot @t YRaw A 39 IufaREe
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& favs duive sHi= R &1 T a1 S ot 7 orftde & Focl &1 wrafid @vd
5| Afe T 3R 37 SIS HEPR AT A1 gERT 3R SH B ® SI-7dl & AT THipd 514 i
&ITT | SIfaRIY 376 &% A |

Sudad U= @) Tgde AT fRT 7T uy %1 S« faf@e:
YRAR & Afdad oI HI-41 g1 faRiaad gt aaTg 75 82
1. MUTeEE $gF Y

2. 3 Haphs SR AT T R U

3. 3fHidig o a3

4. JUIATETE & [Iog TaRS STHIN TaR S

Correct Answer :-

. 3PS AR AN I WY

23) Ug $YA fHTP gRI Fe1 74T § -¢ g | o 7= &0 & gt &1 yae- gan € 3 afaa
o W R S Iuw g 1

1. e wrde

2. BRI v fgadt
3. MG Jad

4. 31 A=

Correct Answer :-

. B9 e fgadh

24) TP 3= AHAD UF | 9 A T H-1 fagivars g+t anfge?
1. AIPTIAT, 7 3R Hida

2. TS0, geegdr 3R fRwdr

3. U, TATHB AT 3R SRl

4. UV, STHROT 3R BT

Correct Answer :-

. QST ST 3R Rivar

25) Tiwar gadtery IRE rraRaarTe § 99 $ve €, 390 P A @ s g @
1. ThTem=TepTUS
2. ABTHIUS
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3. GRBIUS
4. AAUAYHTUS
Correct Answer :-
. JTUEYPHIUS
26) 2 & 7S ufeRaal § P91 PR B2
gy ad g g & |
o fag sw = faftr
T Ifed Hhel I/ HI |
S 9=t aar 98 ST
1. dIGHT S{ABR
2. faUTaT SR
3. HAE SAPR
4. IUHAT AP

Correct Answer :-

. faymaT sl R

27) AifE® sifireafad ST eI g ¢ -
1. 3fcerst

2. UF-RGH

3. YT gu

4, gepd YA

Cofrect Answer t=

. TF-AET

28) 3fu=nie vl ¥ <uAie fora it sifrand g2
1. 3TPHY PR & fog

2. TR fawm & forg

3. e & fog

4. ST8<) Tomae & faw

Correct Answer :-
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29) YT fATRT BT GERT TR E -

1. A
2. Ye-l
3. e

4, fergmm

Correct Answer :-

30) HTST fR1&0T A HeuihT B ATaRaehdl Usdl 8
1. IWRIad FHT

2. $ad STl B B I T J

3. Had BEI B &l AR FAANRE! Bl A T

4. et FRIGTUT UfshaT 1 Wb e d UHTE! - H

Correct Answer :-

. SWRITd g

31) Yo7 fRreror & SYereme & Ricia gRT -
1, {71 Wi & S8 THY T 3

2. YT WiRe H SRR Bl 21

3. HTST HRaA & SIS gl

4, YT TR H I FHY I B |

Correct Answer :-

o U R A HH I 18|
32) IS IGERUT3 -

1. S0 Y HIs e

2. TY-YF AUl

3. T gl

4, %o gt
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Correct Answer :-

o o Gl

33) HYTHR NHE T o0 378 A fre iia & g um
1, §ARY

PAENIEIC

3. QeI

4, AR

Correct Answer :-

34) WUTGH P! ford ST aTel TPIHRUT U 61 o S5 T gidl 82
1. Yifcrdi 1 gfcrarg 31

2. IR AN

3. 38T ST

4, fasmo &

Correct Answer :-

- Yifadl &1 gfcrarg Bl

35) T YO $T TN e Hed 32
1. SURY ot

2. Had GAHR

3. dad fergax

4, A STADY

Correct Answer :-

. SWRIEd g

36) fwferiRad # 9 59 o< & Udi® TR0 # HHTT: T AIUI,US HITUL,US UL @901, 3R &I
% B4 & 94T 98 9= aUil &1 giaT 8-

1, HEIHI B¢
2. ATl B¢
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3. RRrafolt g
4. AIfer &5

Correct Anéwer -

. HEIPI B

37) frg dfSRedl & 1= |1 PTed qUr 82
qg 3TdT,

3 g Faol & Hedl gSara
Y TR T |

e Wis gl frae & U,

U VE1 APpiedl 3,

5 WR T Y, 3@ frem &,
He Wt YRR giel @t e |
1.3°FBC‘IUT

2. 31T 7[UT

3. U91G 01

4. TTEEd o1

Correct Answer :-

38) o ufekadi & @19 |1 0T 22

Hp bt TR 4= 9| Faa aa= 9= w1y ged 71
AT He gg ot T W o faera A

1. eI ur

2. 3T 70T

3. TG 1T

4. AT o7

Correct Answer :-

39) fH § A B-I7T WHR) U7 ST UPR T8 22
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1. RIRATCHI
2. GRTA

3. Uceia-
4, O

Correct Answer :-

40) 18 & A -1 FEFIHR 75 B SMara & T8I ST UT?
1. e aHt

2. IG5 A1

3. SHRBId

4. SIRIAR YAIG

Correct Answer :-

. SRR UHIG

41) g A Q B A1 U BT T 781 82
1. ST SRR et 31

2. Y91 e gt 8|

3. TV U AR5 |

4. UTST UclieTeaTes Bl B

Correct Answer :-

. YIS SRTHINTD Bt &

42) @ & forg ey o1 orf Ty TU A AT R AT BT 82
1, $3HT GG

2. BRI A ST

3. IS Bl

4, B3 B T SIS

Correct Answer :-

« HRISAE AT
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43) fFg & A S AgUEY BT NS T8I 22
1. HglhTd
2. GUS Y§Y

3. RI07
4. 3B

Correct Answer :-

. GUS Yy

44) fom @ & WifG® sfteafad Hie 8-
1. IR gt

2. qd grdiaryg

3. HId T

4, B HTHOT

Correct Answer :-

. JWRIad gt

45) e & & S a1 1R, Ty 919 &7 ISTeRVT AT B2
1. I8 US 37 311 @ S g AT T

2. 11 U $® QR & Pe a1 W Ul

3. # oFaT § % a8 wgl 9ar T gl

4, 5I9 T ST d H T S|

Correct Answer :-

. FTAGE R I G a1 T ol

46) A A A B A ufdadTei= Hfa ygd Tor A frg arg A FARjor =7 7702
1. AT

2. IgeaTd
3. 3¢9

4, 1% 1% od

Correct Answer :-

. AFea
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47) fg @ A P13 FdveR afed td Tieiae Rduer & wu & @fa e &2
1. SRR IS IR

2, 37T geid UG feadt

3. I S

4. TRRTR WRATS

Correct Answer :-

. 3= gOIRT AT fgadt

48) FPeffRT iREI TP W o< 82

® U 3T STaT, T 9! ST <y AR 7ol &Y, gr gHd Sl |
R gHP! IRV H, 50 TR a1 | TEER) grver®, dRad et a1 1|
1. A B

2. feTuTd o=a

3. TiifdeT &<

4. AT BTG

Correct Answer :-

. i o<

49) Wi B TIH IADG! TAAI3M & ETd T HI U]
1. IGII — Hicidh Ggre SIast

2. Y — BRE il

3. FYHATCI! — HE

4, et - S9HH

Correct Answer :-

. TR — gicie gewig Sl

50) =i feen & & arevor @ oS R S ga18e 2
1. I9dad waft

2. Hdd I

3. Had DINA
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4. Had I YN

Correct Answer :-
. Sugad
51) frAfafad & & S | SU=TH W= BT 781 82
1. HeToft
2. g
3. IRE
4. TSI &1 &aar
Correct Answer :-
. TSl &1 &g
52) fe Taeell @ w19 W uRasg sherams S A @2
1. UH R
2. U Uit
3. A IR

4, O AT

Correct Answer :-

. UH g

53) =~§aﬁmmwaﬁﬁ,mmmﬁwﬁﬂﬁaﬁﬁwwﬁw-wﬁmﬁr
FUT?

1. YTl
2. ST A, o
3. UHE<
4. 9=

Correct Answer :-

54) S SUdt gRT wwRia @9 Remaw F IeTex 9argt-
1. yeTfafiet faemera
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2. 5 fagmem
3. 9= fagrag
4, s} Aoy

Correct Answer :-

. TTfaRite faemea

55) STAPWI YE S & gRT il e feu At g fa g
1. TS ey

2, g fRdy

3. fdaRTE® Fewy

4, aferd ey

Correct Answer :-

56) HeTad! 9 & ®1ed A Ay § A B9 udie waiiie uge gu e?
1. §1ue SR aTed

2. T} 3R T

3. 79 3R forar

4. UPfa 3R 7

Correct Answer :-

. §uP SR e

57) Wfiarg d1ad & e # e & & S9-a wue 98 T8 32

1, TTforaTd} sfadt = =ieor 1 ufeRle fa |

2. TTRIaTel a3 W TS & ST ) oo dfaareil # =i G g
3. Wi} Hfadt A U fa & SHiaa U 1 fmror sroeh sfaarst & fFan g
4. yrifaare} sfadt 3 araores gurdf &1 famor fear 2|

Correct Answer :-

. Tt SaEt 3 Ut & Hime T BT fEor ot wiaarst F fear g

58) f&dl 1 YRS FeFIPR SHIEHT BT AT ATH FT 412
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1. HHAT S
2. TSt aTel Oy
3. g USSRt

4. 3ured! P

Correct Answer :-

o SIS 9y

59) W&l fadey gie-

& T HE! AT Bl & TG TG T $ TR W 9 WU YT a5 J |
1. MY TS

2. T U

3. AU HTHT

4, ATSTHTET

Correct Answer :-
. Q'lg'l—ﬂﬁﬂ
60) Tg! fawey game -
T & WHR U § glafld, W ok g g yg Wu g1
1. Y19 I
2. HeuAT ad
3. 3da@

4, §fg dd

Correct Answer :-

« HiIgdd
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